HOOG
1509001

HOOG Catalogue
(2014)



FluidConnectors
rFmEZR
Index

FEeiEARi%EE  Technical information

SAE =i R %] SAE flange split halves & clamp

BT HE VR FHUVI ] VI VL f = o i o oo i i i i 5 P1~P5
SAE »=1EE4E &% SAE flange welding couplings

SFJ /SFJN/WFJ / ASF / ASFN / AWF / BSF / CSF / DSF/ESF /FSF/ == -==m=cm=mmmmmemmmcmmcemmann P8—P10

SAE #2305 SAE flange adapters
AflAraRE24” AEE  with male metric thread & 24° inner cone
SR -LIR SO | v e e N S S SN T P11-P14
s=hAhRL37° SM4Es.  with male UN thread & 37° outer cone
BEEIIE I BWELIG) srumss s A S S S s A R N S R e A R e Rk ramay. DA DA

TLHAEBE60° i  with male BSPP thread & 60° inner cons

GSF—G /GWF=G/ ~=c=c-cccacamccnncmcmccca s mccacama s mm e mnammamna P17~P18
FESREUREEH . with male UN thread & ORFS
BEF—OR/GWF—OR J - - - - - - -m e e oo e P18~P20

SAE /8820952~ SAE male thread flange
Abligaraa” f¢ER,  with metric thread & 24° inner cone

RE N TRERIN T 5o i w0 s s 9 w5 s S o 6 o 0 I B AR o ok B P21-P24
EMHISELT AHES,  with UN thread & 37" outer cone

g P25—P28
EHERLe0" A  with BSPP thread & 80° Inner cone

P BB i O P27~ P28
EHEELORE ST, with UN thread & ORFS

RITRLABIHIAL L+ voes wwarernisiwmsi e S A K R e W T S R P28--P30

SAE (4 ¥#g2r7% > SAE female thread flange
FREELET  with BSPP thread

AFS-G /|GFS—G /DF8—G /AFW--G/ -==cccmcccucccaccncccscccccasacccacamcanmm—a P31-P33
FHEEELE  with NPT thread

AFS—N/GFS—N/DFS—N/AFW—N/ ------- oo e - P34~P36
=Ll with UN thread

AFS—UN/GFS—UN/DFS—UN/ -~-----ccmccrccmcccccccaccmcccccmmmececcmee—eena- pP37-P38

SAE i 12#%2 SAE socket welding flange
ROBD T AP BT DB B T NPWA facancsaiasinniosiamin s ain s ocn i N R S A TR A P38~ P41

SAE xR #% = SAE butt welding flange
AFS—T | GFS—T /DFS=T/AFW=T/ =v=n=ncsnman=== e et et e e e - P42-P44



 FluidConnectors

Bz
Index

SAE % E[ bR = SAE suction hose flange
L P45
SAE {TEITE 2182 SAE socket welding flange 500 psl
AFC-8/GFC-8/ --------mrmrmmrrmrcrr e cm s m e m e P48 P47
SAE %25 SAE closed flange
AFC/GFC/ ====n=ccmmamececcmcccecc;ecsscscec—esscesssesscsssessssssssassss-aes P48~ P49
SAE il 552 SAE flange with testing-point
AFC—G1/4 | AGL—G1/4 | AFC—M10x1 | AGL—M10X1 / === === === mm=mmmmmmmemcmmmm e c e mmm s P50~P51
SAE ##i:2 SAE transforming flange
GAF/LGD/ cme=cccccccmcmsscsnmcncssnasnanssassemseessamaemsssessamsesssanaannnne P52-P53
SAE #%=5# ¥ SAE Locking fiange shest
F L T R P54

#FMDE= Pump flange connection
Z#ilsrangreat et with male metric thread & 24° inner cone

L T I 1 e P56—P57
STLAEIAMRLr24 RHER(90° B)  3-holes connection 80° with male metric thread & 24° Inner cone

IWF—-LK/ =-=mcmmmmcm e cmc e e cm e e s e s eeeee e e e eme e e e e — e P58
WS EBL60T WEER (90" B)  connection 90° with male BSPP thread & 60° inner cone

£ - T P59
FEH P Ra (90° )  connection 80° with female BSPP thread

T i S S S S O — P60
37LEH et (90° 2)  3-holes connection 80° with female BSPP thread

e I B D PE1

ISOB1684 /R 2% %] 1SO 6164 square flange
FAIFK/FAG/FKG/WFA/ ==sss=mmmssssnsanmssnssanmmsssssmmmnssnmannsnsammnnsmnnnn P62—P88

CETOP #J%i: % %5) CETOP square flange
GABE TOBEE L ORI TIOBEE | wsmsmmssonseoscssmausoosas s s s s s ot s S g 478 P89~ P70

JIS B 2291 FRILEDAEEE L RT] JIS B 2291 socket welding square flange
SHAT BHE FLHATBBE T BEE FLBA i s s o6 i S A S S 0 S S S G PT1~PT2

#H==jf A5 Flange T-block
TN TP ot oo o sl P73-P74



FluidConnectors

FEmP 7R i Bf
Technical information

1Ef#n/k standard used: SAE J518C, JB/ZQ4187-97, IS06162, 1SO6164

IEERD: @RIAT (LAERE-20CT~80C) , 2T RAFERNRALERSD DA RUARPFIL, BINN%H
HEE.
Working pressure: The maximum recommended working prassura Is Indicated In sach singla article. All pressuera

indications are based on a working temperature from -20°C to +90°C.

SERHN. BAEGHER, BTGB EA RTHAE Y, —BERT, EREBRLE RN HA5H
Wi, BEATMREZIERAIQ345BER20#AH, REML=7"RKHAISI321/304 (= RE S MER-X) L&
AISI316L (SRS M/EZ-XX) .

Material: Material of the flange parts is indicated in each single article, normally C45 is used for non-welding flange
parts and fittings, and Q3458 or C20 |s used for welding flange parts, For stainless steel flange parts, we
have two series, one s made from AISI304/321 (with the suffix -X) ,ancther one Is made from AISI316L

( with the suffix -XX) .

REBP: FARBREZRELTRFHEREF AR, 1 RERMEH (Blankolled) ; 2. RMEFHH (AC) ;
3. RMPCH+3THE (CFX) ; 4 REFHRAE (ZN) « PHEFMAMEEALE . 7 5ol B2 5N KR
Bt A EE AW, O RRRERTERE AR SR R A .

Surface protection: Normally we have four kinds of surface protection for flange parts and fittings, these are ysllow
zinked (A3C) ,Cr+3 white zinked (CFX), Ni-Zn zinked (ZN) and blank ciled. The surface protection
of parts normally delivered is indicated in each single article for choice.

R RAFRISE RN T RERESHRA S 1298 AAARGRARE (REMILER) URE 8%
B (CRESERER) » WTHAPS LA N R T R —ARRT, WM,
MAREMSRE, TRANERA, UERERR KERE. RAFARRKEANAATARE, DHAFRN
SRR K, ITRAHAR.

Bolts used: As far as requied flange parts connection can be supplied with bolts, normally bolts used are high tension
grade 12.9 (DIN912-12.9) with the black surface from Taiwan suppliers, and also bolts with zink surface
of DIN 912-8.8 can be supplied if need.

EHEAR: £AREZMH2RACKE (O-Ring) Y, HRHI TOREMAIRR TS ENBRIO, MAFHARBA

(FPM) (HOFEM, TR EHEVLH.
Sealing: All flange parts in our catalogue are ssaling with O-ring, normally in material buna 80 shore, viton 80 shore
is optional.



SAE 3}7F5% 2 AR HOOG
SAE split flange halves
@K |
AN\
A ANERSHIE)
%/
) N
E H # % (Material)
1. Bi4A145#, carbon steel C45
F G RIEHEHH Yellowzinked  :FH-AIC
FHCr+3EI8 Cr3 white zinked:FH-CFX
HiW@AS Niznzinked  FH-ZN
[ =4 275 AISI 321/304 FH-X
379 AISI 316L FH-XX
pormd! s R$%  dimension EREAR | AR Bt
il A B C T e g S O | € I [MAX WP
nch | :1. M | unc [ kg | koiem?
12" | FH301 | 31.00 | 2430 | 3810 | 54 | 874 | 23 | 19 | 13 (620 | 85 | m8 | 518 | 007 | 3s0
4" | FH302 | 3880 | 3210 | 4763 | 65 [ 1141 26 | 22 |143| 620 [ 105 | Mo | 38 | 010 | 380
1 | FH30s | 4525 | 38.80 | 5237 | 70 [13.00 | 205 | 24 | 18 | 750 [ 105 | Mo | a8 | 012 | 315
1114 | FH304" | 5160 | 4370 | 5872 | 79 | 1500 | %65 | 22 | 14 [ 750 [ 105 | mo | — | 016 | 280
1114 | FH304U" | 5180 | 43.70 | 5872 | 79 | 1500 | %65 | 22 | 14 (750 | 12 | — | 76 | 016 | 280
114" |FH304-12*| 5160 | 4370 | 5872 | 79 | 1500 | %65 | 22 | 14 [ 750 [ 125 | mi2 | — | 016 | 280
117" | FH305* | 6110 | 5080 | Bo.85 | 94 |17.88 | 415 | 25 | 18 [ 750 135 | me2 | 12 | 025 | 200
2 | FH3oe™ | 7225 | 6275 | 77.77 | 102 | 2144 | 485 | 26 | 18 [ 200 135 | M2 | 12 | 027 | 200
2 |FH306-14| 7225 | 6275 | 77.77 | 102 | 2144 | 485 | 28 | 18 [ 900 | 145 | M4 | — | 027 | 200
212 | FH307 | 8485 | 7495 | 8890 | 114 | 2540 | 54 | 38 | 19 | 000 [ 135 | M2 | 12 | 042 | 160
3 | FH308 | 10240 | 0095 | 10838 | 135 | 3096 | 855 | 41 | 22 |e00 | 17 | me | 5@ | 062 | 138
312 | FH309 | 115.10 | 10240 | 12085 | 152 | 3493 | 70 | 28 | 22 |1070| 17 [ M8 | 58 | 071 | 35
4 | FH310 |127.80 | 115.10 [ 13018 | 162 | 3880 | 78 | 35 | 25 [1070| 17 [ M8 | &8 | 081 | 35
& | FH311 | 15320 | 14050 | 15240 | 184 | 48.04 | 905 | 41 | 28 [1070| 17 | m1e | 5@ | 145 | 35
2571
8000 psi
12 | FHBot | 3255 | 2485 | 4040 | 56 | 042 | 24 | 22 | 18 | 720 | 85 | M8 | sme | oo | 400
3 | FHeo2 | 4210 | 3250 [ 5080 | 71 | 1190 | 30 [ 28 [ 19 [ 825 | 105 | M0 | 38 | 047 | 400
1 FHBO3U | 48.40 | 38.80 | 57.15 81 13.88 35 33 24 9.00 12 —_ 716 0.27 400
1+ | FHeos | 4840 | 3890 | 5715 | 81 |1388 | 35 | 33 | 24 [mo0 | 13 | M2 | — | 027 | 400
114" |FHB04-12| 54.80 | 44.50 | B6.68 95 15.88 a9 38 27 9.80 | 135 | M2 172 0.40 400
114" | FHe04 | 5480 | 44.50 | 8668 | 95 | 1588 | 39 | 38 | 27 o980 | 145 | M4 | — | o040 | 400
172" | FHB05 | 84.30 | 5160 | 7038 | 113 | 1825 | 475 | 43 | 30 [1200| 17 | m16 | 58 | oes | 400
z | FHeo6 | 80.20 | 67.60 | 9682 | 133 | 2223 | 57 | 82 | 97 [1200| 21 | m20 | 34 | 105 | 400
212" | FHeor | 108.90 | 9050 | 12383 | 180 | 2036 | 76 | 45 | 45 |2050| 25 | m24 | — | 210 | 400
3 | FHeos | 13250 | 1150 | 15240 | 215 | 3571 | 99 | 55 | 55 2580 32 | ma0 | — | 400 | 400
* P LT HtH=16M#%. Forthese parts H=186 also can be supplied.

s 327 B HtH=194i#;, For theas parts H=19 also can be supplied.

=, 1



SAE 37F 3% 2 F AR (SEAR =) HOOG

SAE split flange halves-flat FluidConnectors
PK |
\\ (T[]
/ o = 8 s
A
1 A TT
E H
F
# ¥l (Material)
B4960#. carbon steel CE0
HMF HEWEHR Yellow Zinked  :HF-ASC
FTCr+3198E Cr+3 white zinked:HF-CFX
M A4 Ni-Zn zinked ‘HF=ZN
pormal | g R+S®  dimension sgewy | wm B K
flanga THEER
o Il e B G ) E E Fi | K| s W | WP
inch ﬁﬂl M | unc | kg | kolen?

10" HF301 31.00 24,30 38.10 8.74 23 13 6.20 ) ma 516 | 0.08 350

34" HF302 38.80 32.18 47.683 11.11 26 14 8.20 11 M10 s 0.09 350
K| 0.1 315
114" HF304 51.60 43.70 58.72 1509 | 385 18 7.50 11 M10 - 0.16 280

54
85
1 HF303 45.25 38.80 5237 70 1308 | 285 18 7.50 11 M10
79
94

11/2' | HF305 | 61.10 | 50.80 | 68.85 17.86 4 16 7.50 13 M12 172 0.22 200
2 HF306 | 7225 | 6275 | 77.77 | 102 | 2144 | 485 16 8.00 13 M12 172 0.25 200

2RA

12" HF801 3255 | 2485 | 4049 56 9.12 24 16 7.20 9 M8 | 518 | 0.08 400
/4" HF802 | 4210 | 3250 | 50.80 g 11.80 30 19 8.25 1 MiC | 38 0.16 400
1" HFB03 | 4840 | 3890 | 57.15 81 13.88 35 24 | 9.00 13 M12 | 7186 | 0.25 400
114" | HFB04 | 54.80 | 44.50 | 66.68 85 15.88 38 27 8.80 16 M14 - 0.38 400
112" | HFB0S | 6430 | 5160 | 79.38 | 113 | 18.25 30 | 12.00 17 M1E | 58 0.65 400
2‘ HFE06 | 8020 | 6760 | 9682 | 133 | 22.23 57 a7 | 12.00 21 M20 | 34 1.00 400

s
o
o




SAE %32 i HOOG

SAE ﬂange c.lamp FluidConnectors

'

~$% %

}/ i

H 1% (Material)

1. 34l45#. carbon steel C45
REWESIE Yellowzinked VF-A3C
FMCr+3HE Cr+3 white zinked:VF-CFX
RifEE4$& Ni-Zn zinked VF=ZN

/f'\

M (m
)

VF 275 AISI 321/304 VF-X
SR AlSI 316L VF-XX
normal | g 5 RH#%  dimension momean | ex (%X
|t T T FTETT STHT T TR " W |acwp
nch | :1. M | unc | kg | koiom?
12* | vFso1 | 31.00 | 2430 | 3810 | 54 |17.48 | 48 | 19 | 13 [e20| 85 | me | 516 | 014 | 350
a4 | vFaoz | 380 | 3210 | 4763 | 65 [2223| 62 | 22 |143| 620 [ 105 | Mo | 38 | 019 | 3s0
1 | vFaos | 4525 | 3880 [ 5237 | 70 | 2619 | 59 | 24 | 18 [ 750 | 105 [ mi0 | a8 | 022 | 35
114 | VFaos* | 5180 | 4370 | 5872 | 79 [3048 | 73 | 22 | 14 | 750 [ 105 | mio | — | 031 | 250
114" | VF304U* | 5180 | 43.70 | 5872 | 79 |3048 | 73 | 2 | 14 [7s0 | 12 | — | 7 | 031 | 260
1114 |VF304-12* 6160 | 43.70 | 5872 | 79 | 3018 | 73 | 22 | 14 [ 750 | 125 | M2 | — | 031 | 280
1172 | vF30s™ | 6110 | 50.80 | 6085 | 94 [3571| 83 | 25 | 16 | 750 [ 135 | m12 | 12 | o049 | 200
2 | vF3oe™ | 7225 | 6275 | 77.77 | 102 | 4288 | o7 | 26 | 16 [ 900 135 | M2 | 12 | os3 | 200
2 |VFa0e-14| 72.25 | 6275 | 77.77 | 102 | 4288 | o7 | 28 | 18 [ 900 | 145 | M4 | — | os3 | 200
212 | VF307 | 8485 | 7495 | 8890 | 114 | 5080 | 100 | 38 | 19 | 000 [ 135 | M2 | 12 | 081 | 180
3 | vr3os |10240 | 9095 10638 [ 135 | 6103 | 131 | 41 | 22 (00| 17 | M8 | 58 | 122 | 138
312 | VF300 | 11510 | 10240 | 12085 | 152 | 8085 | 140 | 28 | 22 |1070| 17 [ mie | s | 141 | 35
4 | VF310 | 12780 | 11540 |130.18 | 182 | 77.77 | 152 | 35 | 25 |1070| 17 | mte | 5@ | 162 | 35
5 | VF311 | 15320 | 14050 | 15240 | 184 | 8208 | 181 | 41 | 28 |1070| 17 | me | 55 | 230 | 35
257]
8000 psi
12" | vreo1 | 3255 | 2485 | 4049 | 58 |1824 | 48 | 22 | 18 [720 | 85 | m8 | sM6 | 048 | 400
34" | vFeo2 | 4210 | 3250 | 5080 | 71 [2380| 60 | 28 | 19 | 825 [ 105 | Mio | a8 | 034 | 400
1" VFB03U | 48.40 | 3880 | 57.15 81 2776 | 70 33 24 | 8.00 12 _— 7116 0.58 400
1 | vreos | 4840 | 3890 | 6715 | 81 | 2776 [ 70 | 33 [ 24 |e00 | 13 | M2 [ — | 088 | 400
11/4" |VFB04-12| 54.8C | 44.50 | B6.68 95 M5 | 78 38 27 | 980 | 135 | M12 172 0.77 400
114" | VFe04 | 5480 | 4450 | Ba68 | 95 (3175 | 78 | 38 | 27 | e80 | 145 | M4 | — | 077 | 400
1172° | VrFeos | 84.30 | 5160 | 7838 | 113 [ 3650 | o5 | 43 | 30 |1200| 17 | M6 | 58 | 135 | 400
2 | vreo6 | 80.20 | 67.60 | 96.82 | 133 | 4445 | 114 | 52 | 97 [1200| 21 | m20 | 34 | 211 | 400
212 | vreo7 |108.90 | 9050 | 12383 | 180 | 5873 | 152 | 45 | 45 [2080| 25 | M24 | — | 420 | 400
3 | vreos | 13260 | 1150 | 15240 | 215 | 71.43 | 198 | 55 | 85 |2580| 32 | ms0o [ — [ 800 | 400

* %2& i fH=165# . Forthese parts H=16 also cen be supplied.
s 327 B HtH=194i#;, For theas parts H=19 also can be supplied.

o— 3 —



SAE %32 AR (TR =) HOOG

SAE flange clamp-flat FluidTonnectors

o
L’
)

7 1T
A
ﬁ = N

AP
E H
F
#E (Material)
40604, carbon steel C60
HVF EEWEHH Yollowzinked  HVF-ASC
FMCr+35# Cr+3 white zinked:HVF-CFX
RS A4S Ni-Zn zinked HVF-2ZN
normal B X
flange l:‘i%f ~ R+5¥ dimension __ Eﬂiﬁﬂlﬁ ﬁ THES
il A B G D E F H ] K IMAX.W.P
inch ﬁﬂl M | une | kg | kelen?
12" | HvF301 | 3100 | 2430 | 3810 | 54 | 1748 | 48 13 | 620 g9 me | 616 | 012 | 350
34" | HvF30z | 3880 | 3215 | 4763 | 85 | 2223 | 52 4 | 820 | 11 | mo| 38 | 018 | 350
" | HvF303 | 4525 | 3880 | 5237 | 70 | 2818 | 59 6 | 780 | 11 | mio | am | 02z | 315
114" | HvF304 | 5180 | 4370 | 5872 | 79 | 3018 | 73 % | 750 | 11 [ mio| — | 032 | 250
94 82

11/2" | HVF305 | 61.10 | 50.80 | 68.85 16 7.50 13 M12 172 0.44 200
2 HVF306 | 7225 | 6275 | 77.77 | 102 | 4288 7 16 8.00 13 M12 172 0.50 200

35.71

2RA

12" | HVFB01 | 3255 2485 | 4049 56 1824
3/4" | HVFE02 | 4210 | 3250 | 50.80 g 23.80
1" HVFED3 | 4840 | 3890 | 57.15 81 27.76
114" | HVFB04 | 54.80 | 44.50 | 66.68 85 31.75
1172 | HVFE0S | 64.30 51.60 | 79.38 113 | 36.50
2 HVFB08 | 80.20 67.60 | ©6.82 133 | 4445 | 114 37 | 12.00 21 Mz20 34 2.00 400

18 7.20 9 M8 | 518 | 0.18 400
19 8.25 1 MiC | 38 0.32 400
8.00 13 M12 | 7186 | 0.50 400
27 8.80 16 M14 - 0.76 400
30 | 12.00 17 M1E | 58 1.30 400

& d 8 8 &
¥




SAE 7.4 %2 AR HOOG

SAE flange clamp with thread FluidConnectors
M |
@ MANN 77
B ™
olo| 32
™ /‘{’ A
N/ <
E H
|
F G
#4 % (Material)
1. #1468, carbon stesl C45
VFM/VFU REELHH Yolowzinked  VFM-A3C
FHECr+30% Cr+3 white zinked:VFM--CFX
i ; FREEHS S NEZn zinked VFM=ZN
When thread is unc, part No. will be VFU AR AISI 3161 VEM=XX
normal . B X
fh’&;gs E;ﬁ%f R+®%  dimension H_rhgj. ﬁ THER
- A B T ) E E L6 [ H | [MAX.W.P
; BRA
inch 3000 psi M unc kg kg/om?
12" VFM301 31.00 24.30 38.10 54 17.48 45 18 13 6.20 Ma 5118 0.19 350
34" VFM302 38.80 32.10 47.63 65 2223 52 22 14.3 | 6.20 | M10 ams 0.24 ash
; fad VFM303 4525 38.80 52.37 70 26.19 58 24 16 750 | Mi0 ans 0.27 35
114" | VFM304* 51.60 43.70 58.72 79 30.18 73 22 14 7.50 | M10 | TMé 0.36 250
11/4" |VFM304-12*| 51.60 43.70 58.72 78 30.18 73 22 14 750 | M1z - 0.36 250
11/2" | VFM305** | 61.10 50.80 60.85 94 BN 83 25 16 750 | M12 172 0.54 200
ral VFM306™ | 72.25 62.75 T7.77 102 4288 26 16 2.00 | M12 172 0.58 200
212" VFM307 8495 7485 88.80 114 50.80 | 108 aa 18 2.00 | M12 172 0.86 160
3 VFM308 10240 | 80.95 106.38 | 135 6183 | 1 4 22 8.00 | Mi16 5/8 1.27 138
32 VFM309 11510 | 10240 | 12065 | 152 69.85 | 140 28 22 |10.70 | M16 58 1.486 a5
4" VFM310 12780 | 11510 | 13018 | 162 7707 | 152 a5 25 |10.70 | M16 58 1.67 as
5 VEM311 15320 | 14050 | 15240 | 184 9208 | 181 41 28 |10.70 | M16 5/a 235 a5
BEF
6000 psl
12" VFME01 32.55 24.65 40.49 56 18.24 48 22 16 7.20 ma 516 0.23 400
3/4" VFMB02 42.10 32.50 50.80 71 23.80 80 28 19 825 | M10 s 0.39 400
1" VFMB03 4840 38.890 57.15 81 27.76 70 33 24 9.00 | M12 718 0.58 400
11/4" | VFMB04-12 | 54.80 44.50 686.68 a5 31.75 78 38 27 980 | M12 - 0.83 400
114" VFMB04 54.80 44 50 B86.68 a5 3nTs 78 aa 27 980 | M14 172 0.83 400
172" VFMB0S5 684.30 51.60 79.38 113 36.50 a5 43 30 |12.00| M18 5/8 1.40 400
.l VFMB06 80.20 67.60 96.82 133 44.45 114 52 37 |12.00| M20 34 2186 400
21/2" VFMBOT 108.90 | 80.50 123.83 180 5873 | 152 45 45 | 2050 | M24 - 4.25 400
3" VFMB08 132.50 115.0 1562.40 218 7143 198 55 55 |25.50| M30 — 8.05 400

* %2 i fH=165#. Forthese parts H=16 also cen be supplied.
s 327 BT HtH=194i#;, For theas parts H=19 also can be supplied.

o— 5 —



SAE i X REHEEH

SAE flange welding couplings

¥ ¥} 9 Material specification:

SAER: E4 A A TREAI DB B ERE, FRSMESRE S

Material used for flange welding couplings s indicated with suffix as follow:
L ARG AiES.
Flange and welding adapter are all carbon steel: without suffix.
2. BRI, B ABYIALIST 321/3040F: fnEH-ST/X
Carbon stesl flange and stainless steel AlSI 321/304 welding adapter: with the suffix-ST/X

P RGRENAIST 316LET: M) &-ST/XX

FluidConnectors

Carbon stesl flange and stainless steel AlSI 316L welding adapter: with the suffic-ST/XX
3.3E2. BEWMNABNET: FIAIST 321/304, Mi%E-X: FIAISI 316L, jE&E-XX

Flange and welding adapter are all stainless steel:

AISI 321/304 with the suffix -X, AlSI 316L with the suffix -XX

8FJ-

HOMBYE

welding adapter

with O-ring groove

Bl: SFJ304-42.4x4
SFJ304-42 4x4-X

WFJ-

#Otlig0” BE
welding adapter 80
with O-ring groove
#l: WFJ304-42.4x4

MG-
HrOMi i
plug with O-ring groove
#: MG304
MG304-X

~
=
:

SFJN-

RERE

welding adapter

without groove

f6): SFJIN304-42.4x4-XX

WFJN-

K90 B

welding adapter 90
without groove

#7: WFJIN304-42.4x4

MGN-

e TH] ]

plug withcut groove

. MGN304
MGN304-X

Yiavi®




SAE 3 BH AN HOOG

SAE flange welding couplings
ASF— (%1 JB4187-97 ALY BSF— ( %} /i.JB4187-97 BE)
MIFEE 2 ER (FH) — R N L W22 AR (FH) — R
OB (SFJ-)—H R 2= Feti (VF) — H
O T2 —H = AT EAF (SFJ+SFJIN) & —H
g4 O & B R
7~#l: ASF 306-80.3x5.6 Be—4

ASF 306-80.3x5.6-ST/X 7~fl: BSF 308-76.1x4/89x4-X

(PSRBT R R T U A—F0D
"IN RRSLETE VIR, TR E L.

CSF— (MRLJBAIET-07 C1)  [<— DSF— (1 JB4187-67 D)
HAFEZER(FH) =R %—h XFFEZER (FH) —R

232 i (VF) — R I F Sk S (VPR 0k
QEEE(SHN_PH W AR (SFIN)— 5 N |
T#l: CSF 305-48.3x3.6-X gﬁﬁﬁggﬂ N

‘T RS AL E VIR, TREERYE.  RE. DSF 606-60.3x10
*MTEIRGTL A VI ERER, WRNERSA.

ESF— ( *f\¥JB4187-97 EZL) FSF-- ( X} .JB4187-97 FZ)

X} Tk 2 HeAR (FH) —R |E = MIEZ R (FH) R lE

#HOM i (MG) —R ] 74 B — 1 g =

OFp B — R 7 w4

ige—al ’ 7#i: FSF 805 kﬂ

7Pl ESF 303U-X FSF 605U NN
(R M S iR i) (U7 e 5% el i)

AWF— (ASF—(f190° FE=) ASFN 5

XFFER 22 AR (FH) — R (‘_F'—' MR (FH) =R [ =)

90° WHOMEE WFI-) R {1 ﬁgﬂg{smu—) —R =

Off s B —R = ,

R —al 7+pl: ASFN 308-60.3x5.8 A

~: AWF 604-42x5 ASFN 306-60.3x5.6-ST/X

*p| B¥#:2: (ASF, BSF, CSF, DSF, ESF, FSF, ASFN) , MTBECKENJFH:2Fuseiaia22VERT, TR .



SAE Z=BREAAH
SAE flange welding couplings

AL

IS ISISS,
i

LR

Wy

4 A A AL

FluidConnectors

/ \ o
8| w| < \ / 3
B Y
= S
&
Z AP
P L=
/:'///// E
ASF BSF
) da x s N E OB RT GMExBE) , EEEEN TR0 faE
Series - 3000psi 4R WO, BERFINRATRERE, HaHEE s ERIERITE.
dimension B X
normal ﬁﬁf Rr8¥ - ﬁﬁl’f‘#oﬁ’ ﬁ\r‘\% mﬁj%
Inch daxs C|D|E |F|L]K bolt g Ko Kglem?
ASF301 (122 152, 162, 1625, 160 MBX25 0.28
v 183, : 3810 | 54 |1748 | 48 | 30 | 85 18.66x3.53 350
21.23.2, 21.3x3.6, 21.6x2.6
BSF301_|21.6x4.3, 223, 2254, 22545 MBX40 0.52
ASF302 |18x3, 20x3, 22x2.5, 223, 22x3.5 M10X30 0.44
aan Ly Ay e Ly 4763 | 65 | 2223 | 52 | 35 | 105 25.00%3.53 350
BSF302 |303, 30x4,30x5 M10Xx45 0.85
serunn [BEbTa maT e 10D =
1 ot diras s e | 5237 | 70 | 2610 | 58 | 40 | 105 32.92x3.53 315
BSF303 [33.7x7.1, 3xd 3dud 5, M10X50 1.10
ASF304 |22, 20x3, 202.5, 20x0, 264 M10X30 0.72
14 323:4"1 a?s‘hifﬂn’?é @as iz |sa72| 79 3048 | 73 | 45 | 105 37.70x3.53 250
BSF304 | g A2Ax5 M10X45 1.40
ASF305 | 303, 38, 42.4x3.2, 4240k M12X35 0.92
172 jg:ﬁ-ﬁa‘?_‘g%ﬁm*‘ 69.85 | 84 |3571| 83 | 50 | 135 472243.53 200
BSF305 , 50x5, 506 M12X55 1.80
ASFI06 15338, 48.9%4.5, 48.3x5, 50x4 M12X35 130
> 80304, B0 5, 60 a8 0. ma6. | 7777 | 102 | 4288 | 97 | 60 [ 135 56.75x3.53 200
BSF308 |B1XS: 61655, 61x0, 6275, 63:G3.8 M12X55 2.50
ASF307 |80-3%d, 63x4, BB, 86xE, TOXT M12X40 1.80
2112 Bs:;o? TN Mt Tein 8800 | 114 | 5080 | 108 | 70 | 135 S 60.45x3.53 i 160
ASF308 | 76,174, 75.1%55, 76.1%7.1 M16X50 260
E St B mh s oy [10n3e| 138 | evea | 191 | Bo | W7 85.32x3.53 138
BSF308 s : M16X70 5.10
ASF309 |75.1x4, 6xd, B6w0, 101.6x7.1 M16X50 3.00
312 102 120.65| 152 | 69.85 [ 140 | 80 | 17 96.02x3.53 35
BSF309 M16X70 5.80
ASF310 |B88x4, 88x5, 89x8, 108x4 M16X50 3.50
4 ::ggﬁ:; 1&3?5&;31_‘,*;%‘8 130.18( 162 | 77.77 | 152 | 80 | 17 110.72x3.53 35
BSF310 |11a3x18.2 M16X76 6.70
ASF311 133x4, 1404, 140x5, 140x6 5 M1BX55 4.50
5 iz e 162.40| 184 | 9208 | 181 | 80 | 17 136.12x3.63 35
BSF311 M18X85 860

**ASF307/BSF307/~ AW R A EANTE. AN, KHAEAHTLE, MBHTE.AR, WHFHRER, TRIEHHA.



BEREAEN

SAE flange welding couplings

AP

IS ISISS,
i

LR

Wy

o
7 LS

FluidConnectors

g / \ 9
B e
-
=
NP
s= L
77 E
ASF BSF
da x 8 HHEEMIHEBERT ShExRER) |, ERBEER TR0 K
Series - 6000psl A% WO, BAFTFARAFFENR, haRHEH S BRI
normal Fi#% dimension Al efudE pE | ® X
il r daxs c|p|E|F|L|K]| %= ovm | | i
bolt o-ring Kglem®
ASFB01 |12%2, 16x2, 18x2.5, 168x3, 17.2x3.2 M8X30 0.35
112" e en 0 200 | s0uo | o |1a2s | 48 | 20 | @B 18.86x3.53 400
BSF801 MBX45 0.67
ASFG02 |20x3, 21.3x4, 22x2.5, 223, 22x4 M10X35 0.68
s i G ate B 5080 | 71 [23.80 | €0 | 45 | 105 25.00x3.53 400
BSFB02 |28x5, 265, 30x, 30x5 M10X55 1.30
ASFE0S |30 20h 0 0et J0 MO0 M12X45 1.06
= 2008, 33708 D s 5715 | 81 | 2776 | 70 | 50 | 13 32.9233.53 400
Bsrova |SAEL AL S Mi2xss 200
ASFE04 |39, 0 I 33102 ais M14X50 1.58
114" U gy iy Py 6688 | 95 | 3175 | 78 | 55 | 145 37.70x3.53 400
BSFE04 (1300 4 a5 M14X75 3.00
ASF805 ﬁﬁ%ﬂf‘ﬁ%&m M16X55 2.50
12 45x7, 48.3:5, 48.3x6.3, 48971 | 7038 | 113 | 3650 | 95 | 60 | 17 4722353 400
asreos |BSdARRES Eudk o0 wexas 450
ASFBOB |48.3x8.3, 48.3x0.8, B0.3x5.8 M20X70 4.30
r a1 GBAE B, Bixd 96.82 [ 133 | 4445 | 114 | 70 | 21 56.76x3.53 400
BSF606 |aaxs, edx8, B3x10, B3x12 5, B5x11 M20X100 8.20
ASFB07 |76.1x10, 78.1x12.5, 76.1x14 M24X80 8.50
21/2* B faan s 12383| 180 [ 5873 | 152 | 80 | 25 75.57x5.33 400
BSF607 M24X130 16.50
ASFG08 |B9x11, B8x14.2, 95x10, 10Bx12.5 M30X80 16.80
3" 114.3x14.2, 114.3x17.5, 1143320 1524 | 215 | 71.43 | 198 | 100 32 :g.M?v 400
BSF608 M30X150 9533 | 3580




SAE 3% % BEAAH00° B) HOOG

SAE flange welding couplings-90°

L1

3|
130
S
gda
AWF--
da X 8 AR RIRHRIBALN Y OMEXRED) | 7R TR FRUR0T M
BN, FEAPTFINGRA TSRS, ST kAT,
ml ] g 2 dimension T A %\f %ﬂz EE?’J{
mh | PN | dem | |D|E|FlU||k] B O] B | x| e
BEI| 3000 psi
20025, 21.3x2.9

12° AWF301 |21.664.3, 223 3810 | 54 |1748 | 46 | 29 | 38 | 85 Maxas 18.66x3.53 | 0.40 350

22x3, 26x3
3/4* AWF302 |269x3.6.28045 | 4763 | 65 | 2223 | 52 | 42 | 45 | 105 | M10X30 25.00x3.53 | 0.80 350

30x4, 33.7:3.8
1" AWF303 [34x4,34x5,34x8 | 5237 | 70 | 26.19 | 59 45 48 | 105 M10X30 32.92x3.53 0.80 315

353, A
11/4" | AWF304 gm-ﬂﬁﬁ 6872 | 79 | 3018 | 73 | 50 | 69 | 105 | MI0X30 J7.70x3.63 | 1.20 250

4
2, A2
112° | AWF305 |i9aics bong. | 6985 | 94 | 3571 | 83 | 55 | 64 | 135 | mi2xas | 4722xas3 | 180 | 200
50x6
EH%| 6000 psi
18x3, 203

172" AWFB01 |21.6%4.3, 223 4049 | 56 | 1824 | 48 | 39 | 38 | 85 MaX30 18.86x3.53 | 0.47 400

34" AWFE02 |27.2x4, 285 60.80 | 71 | 2380 | 60 | 48 | 48 | 10.5 | M10X35 25.00x3.53 | 0.80 400

1" AWFEB03 3;.:5’&7-1-35"5 5715 | 81 | 2776 | 70 | 80 | 55 | 13 M12X45 32.92x3.53 | 1.50 5

11/4" | AWF604 |4240x8.8 6668 | 95 | 31.75| 78 | 68 | 61 | 145 | M14X50 37.70x3.53 | 220 315

11/2* | AWFB05 Eﬁ%&;m 79.38 | 113 | 3650 | 85 | 76 | T2 17 M16X55 47.22x3.53 | 3.30 315




SAE %2 R L —AFIMRL24° W
SAE flange adapter with male mefric thread & 24° inner cone

2D

g

i

FluidConnectors
{0k —— =
Q|| = —- = -]
=5 —=- =
GSF--L/S # ¥l (Material)

1. R4146#. carbon steel C45
FEEEHNE Yellowzinked GSF-L/S-A3C
RMCr+3EE Cr+3 white zinked:GSF--LIS—CFX
RIS E NLZn zinked ‘GSF-L/S—ZN

2774541 AIS| 321/304 :GSF-L/8-X
Series - 3000psi %R %) 3FGM AISI 316L :GSF—-L/8—XX

el A e T __ Wk Rt

inch S @Dl | D M t | 3w | Bl | he s
A2 GSF301-15L 16L sk M22X1.5 48 " FH301 1680884 315
GSF301-168 168 M24X1.5 50 350
GSF302-18L 1BL M26X1.5 53 315
GSF302-22L 221 M30x2 53 160
an’ GSF302-208 208 38.3 M30X2 57 30 FH302 25.00x3.53 350
GSF302-258 255 M36X2 57 350
GSF302-28L 28L M36X2 53 160
GSF303-28L 28L M38X2 54 160
1" GSF303-258 258 447 M36x2 59 36 FH303 32.92x3.53 315
GSF303-305 30S MA2X2 63 s
GSF304-28L 28L M3BXx2 58 38 180
GSF304-35L 35L M45X2 58 160
11/4" GSF304-255 255 51 M3BX2 80 41 FH304 37.70x3.53 250
GSF304-30S 30s M42X2 62 250
GSFa04-38S ans M52X2 67 46 250
11/2" pHrHeA- i 80.5 M52X2 " 46 FH305 47.22x3.53 199
GSF305-38S 385 70 200
GSF306-421 42L 69 160

i 71.8 ME2X2 55 FH306 56.75x3.53

GSF3068-385 3858 75 200

iTHH4) Specification:
1. {¥3T#:L ¥k Flange adapter only: GSF301-16L, GSF301-15L-X
2. B k. AWEREROER, NE%M: GSF301-15LM, GSF301-15LM-X (AR Hligi:: GSF301-15LU)
Adapter with flanges, boits and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
i B E, AREREVEE, RNEFERRRE, FiNESR KM: GSF301-15LMKM
Adapter with flanges, boits, O-ring, cutting ring and nut: with additional suffix KM

=



SAE 3 AN A—ABSMEZ4 KR HOOG
SAE flange adapter with male mefric thread & 24° inner cone

A\
W : ,_ e

2D

D1
24
|
i
#D1

GSF--L/S
# ¥l (Material)
1. 4145#%, carbon steel C45
PN Yellowzinked :GSF-L/S-A3C
HEMCr+3E4E Cr+3 white Znked:GSF--L/IS—CFX
FEREE4E NLZn zinked ‘GSF-LIS—ZN
27881 AIS| 321/304 {GSF=LIS-X
Series - 6000psi E#7%) 3T AISI 316L :B8F=L/S=—XX
i B X
ml ERme &% dimension AW THED
Inch part No. ZD1 D M L SW hE OFEM MAX.W.
Flange o-ing Kgi
[ra GSFB01-16S 185 318 | M24X15 53 24 FHB01 18.66:3.53 400
GSFB02-168 168 M24X1.5 59
GSFB02-208 208 M30X2 61
GSFB02-255 255 M36X2 63
GSFB02-30S 308 M42X2 65
GSFB03-20S 208 M30X2 70
1" GSFB03-258 258 478 M36X2 72 36 FHG03 32.92x3.53 400
GSFB03-305 308 M42x2 74
GSF604-30S 30S M42x2 79 41 400
114" 54.2 FHB04 37.70x3.53
GSFB04-388 38s M52X2 83 48 315
GSF605-30S 308 MA2X2 a7
1142 63.7 48 FHB05 47.22x3.53 315
GSFB05-38S 385 M522 8g
GSFB06-30S 30S M42X2
o 79.6 55 FHB0S 56.75x3.53 315
GSFB06-388 38s M52X2 94

TR Specification:

1. 0Tk 5 Flange adapter only: GSF601-16S, GSF601-16S-X

2. HL RS . bR ROTEE, /54 M: GSF601-168M, GSFB01-16SM-X (RS /IMike: GSF601-168U)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. BRI . ATRREEE, FNR-FEAKRE, FiNE% KM: GSF601-16SMKM
Adapter with flanges, boits, O-ring, cutting ring and nut: with additional suffix KM



SAE 32 Huf L — A FIMES24° RRK(90° &)
SAE flange adapter-90° with male mefric thread & 24° inner cone

FluidConnectors

L2
F
L_I A
it e [
b
#D "
# ¥l (Material)
GWF_US 1. B41Q3458, carbon stasl Q3458
RERRHE Yellowzinked GWF-L/B-AIC
HECrH+IEEE Cr+3 white Znked:GWF—L/S—CFX
HEHEAS NZnzinked  :GWF-L/S—ZN
27881 AIS| 321/304 GWF=L/S-X
Series - 3000psi ¥ %% 3B AISI 316L :GWF—L/S—XX
i TS
rnlomnl ERme &% dimension AW THED
inch port No. ep1| D | M | L1 | L2 [sw]| 222 ] v
Flange o-ing Kgi
GWF301-15L 15L M22X1.5 36 315
1z 305 3g 24 FH301 18.66x3.53
GWF301-165 168 M24X1.5 38 350
GWF302-18L 18L M26X1.5 39 315
GWF302-22L 22L M30x2 41 160
an" 38.3 42 a0 FH302 25.00x3.53
GWF302-208 208 M30X2 43 350
GWF302-258 258 M36X2 45 350
GWF303-28L 28L Ma6X2 44 160
1 GWF303-255 255 | 447 | ma3ex2 45 50 38 FH303 3292353 315
GWF303-30S 308 M42X2 50 315
GWF304-35L asL M45X2 57 160
GWF304-255 255 M38X2 55 250
114" 51 50 41 FH304 37.70x3.53
GWF304-305 308 M42x2 5T 250
GWF304-38S 388 M52X2 59 250
GWF30542L 420 58 180
12" 605 | Ms52x2 55 50 FH305 47.22x3.53
GWF305-38S 388 84 200

T4 Specification:

1. {0 iT#%:L 44 Flange adapter only: GWF301-15L, GWF301-15L-X

2, Bl MRS, AP OB, NS4 M: GWF301-15LM, GWF301-15LM-X (R 35 FIik: GWF301-15LU)
Adapter with flangses, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. EeliAmOEE . AdIERERAOTEE, RINKFELRE, B8 KM: GWF301-15LMKM
Adapter with flanges, boits, O-ring, cutting ring and nut: with additional suffix KM

- 13



SAE 32 U ik — A RISMRL24° IR (90" B) HOOG

SAE flange adapter-80° with male metric thread & 24° inner cone
L2
SW
] 5| [7am| —H—
(N
0 e [ i

N

) I~

GWF--L/S
# %} (Material)

1. B4MQ345B, ocarbon steel Q3458
#EEPHHE Yellowzinked :GWF-L/S-A3C
FECr+3K%E Cr+3 white zinked:GWF-L/S-CFX
BMBEAE S NiZn zinkad ‘GWF-L/S—ZN

] ) 27554 AIS| 321/304 BGWF-L/S—X
Series - 8000psi ER 7| SR AISI 316L :GWF-L/S—-XX
I |
normal P R48% dimension A TS
oo ptho.  gpi| D [ M | U1 [ L2 |sw]| 2 o o
Flanga o-ing Kai
s GWF601-16S 168 | 31.8 | M24x15| 39 38 | 24 FHE01 18.66x3.53 400
GWF602-16S 168 M24X1.5 45
34 GWF602-20S 208 | 415 | M3ox2 48 48 | a2 FHE02 | 25.00x353 400
GWF802-25S 258 M38X2 48
GWF803-255 258 M36X2 53
1 478 60 41 FHB03 32.92x3.53 400
GWF603-30S 308 M42X2 55
GWFB604-30S 30s M42Xx2 58 400
11/4* 542 68 46 FHB04 | 37.70x353
GWF604-385 38S M52X2 B1 315
GWF805-308 308 M42X2
11/2* 83.7 76 72 | 50 FHB05 | 47.22x353 35
GWFB05-38S 38s M52X2
R Specification:

1. fUIT# Ltk Flange adapter only: GWF601-16S, GWF601-165-X
2. 8L, AHlEeE ROER, S %M: GWFE01-185M, GWFB01-185M-X (A< #iiE#:: GWF601-185U)
Adapter with flanges, boits and O-ring: for Metric bolts with the suffix M and UNC bolits with the suffix U
3Bl REE R, AMIMEREROERE, FFEREZEREE. B8 KM: GWFB01-16SMKM
Adapter with flanges, boits, O-ring, cutting ring and nut: with additional suffix KM



SAE 5% sUt B L — R HISMRES7° SMER

SAE flange adapter with male UN thread & 37° outer cone FluidConnectors
L
E | <
y T 7y
/
¥l (Material)
GSF--JIC 1. B 458, carbon steel C45
REWEHM Yellow zinked :GEF-JIC-A3IC
FMMCr+3HEE Cr+3 while zinked: GSF=JIC=CFX
EHEHFR 54 Ni-Zn zinked GSF=JIC-ZN
2. 758 AISI 321/304 GSFJIC—X
3. 748 AISI 316L 1GBF-JIC—XX
| ® A
nomal P‘ﬂ%ﬂ Fofs# dimension - EEIH&#W. %&%%
Inch partbie: A D L sw e e :
BEF 3000 psl
es "
1" b it 305 48 FH301 | 18.86x3.53 350
GSF301-JICT/8 T4"-14UN
34" GSF302-JIC1}s 1¥g"-12UN 38.3 55 FH302 25.00x3.53 350
GSF303-JI .
1" clii a0 ] Dvaum a7 55 FH303 | 3292x3.53 315
GSF303-JIC1%s 1%¢™12UN
GSF04-JIC1%, 1%¢"12UN
114" 51 58 41 FH304 | 37.70x3.53 250
GSF304-JIC13% 1%"12UN
12" | GsF305-IICT 1%"12UN 60.5 62 26 FH305 | 47.22x3.53 200
ERF 6000 psl
GSFB01-JIC34 %™18UNF
1z 318 50 FHEO1 | 18.86x3.53 350
GSF601-JICT/8 4"-14UN
a4 GSF602-JIC1Ks 1Ha"-12UN 415 64 FHB02 25.00x3.53 350
GSFB03-JIC1Hs s-12UN
1" 47.8 72 FHE03 32.92x3.53 350
GSFm-ch‘I%s 1%3"—12Uh|
GSF604-JIC15s 15¢™12UN 350
11/4* 54.2 81 41 FHE04 37.70x3.53
GSFB04-1IC15 1%"-12UN 275
11/2* GSFB05-JICTH 1%"-12UN 63.7 86 a6 FHEB05 47 22x3.53 210

iT#24 4 Specification:
1. {¥3T#::L4% Flange adapter only: GSF301-JIC3/4, GSF301-JIC3/4-X

2. Bl AR ROTERE, MS%M: GSF301-JIC3/4M, GSF301-JIC3/M4M-X (FLRHlag#: GSF301-JIC3/4U)
Adapter with flanges, boits and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE 5% 2 s B sk FISMRLS7° SMER(90° )

te e x iR (I L Q p
SAE flange adapter-80° with male UN thread & 37° outer cone FluidConnectors
L2
SW
j || i TN
i %
7
" L 4
j I-I / S
——
#D
FE (Material)
GWF--JIC 1. B4 Q3458, carbon steel Q3458
REWEHN Yellowzinked  GWF-JIC-A3C
RMCr+3[54% Cr+3 white zinked: GWF-JIC~CFX
EHEFRASE NiZnzinked  GWF-JIC-ZN
27485 AISI 321/304 BWF-JIC-X
3. 7641 Alsl a16L GWF-JIC-XX
« ension B__A
normal Fﬁ%ﬂ R#¥#  dim - Eﬁﬂlﬁ#w. %&%)g
Inch Borthe: A D L1 L2 SwW Flanga g -
BRF 3000 pel
GWF301-JIC34 | %"18UNF
1”2 305 39 38 24 FH301 18.66x3.53 350
GWF301-JIC7/8 |  %4"14UN
GWF302-JIC7/8 | %"-14UN
<78 38.3 42 45 30 FH302 | 25.00x3.53 350
GWF302IC14s | 14s™-12UN
GWF303JICTHg | 14g™-12UN
" 447 45 50 36 FH303 | 32.92x3.53 315
GWF303-JIC1%s | 13612UN
GWF304-JIC1%s | 1%e™12UN
11/4" 51 50 59 4 FH304 | 37.70x3.53 250
GWF304-JIC15% | 1%™12UN
GWF305-JIC1% | 1%™12UN
172 60.3 55 64 50 FH305 | 4722353 200
GWF305-JIC1% | 14™12UN
ERZ 6000 psi
GWF601-JIC3/4 %"-16UNF
17”2 318 a9 38 24 FHB01 18.66x3.53 400
GWF601-JICT/8 | %™14UN
GWF802-JIC7/8 %"-14UN
374" A 41.5 48 48 a2 FHe02 25.00x3.53 400
GWFB02-IIC1%s | 14e™12UN
GWFB03-JIC1%s | 1Ms™~12UN
i 478 80 55 4 FHB03 | 32.92x3.53 400
GWFB03-JIC1%s | 1%e™~12UN
GWFB04-JIC1%s | 1%e™12UN
11/4" 54.2 68 81 46 FHB04 | 37.70x3.53 400
GWFB04-JIC1% | 15%™12UN
GWFB0SJIC1% | 13%™12UN
112 63.7 76 72 50 FHEOS | 47.22x3.53 400
GWFB05-IIC1% | 1%4™12UN

TR Specification:

1. {0T#k4 Flange adapter only: GWF301-JIC3/4, GWF301-JIC3/4-X

2. B HAIERE . AR ROEE, MUSEM: GWF301-JIC3/4M, GWF301-JICI/4M-X (AL /BE: GWF301-JIC3/4U)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE st KHSMERRED" BB HOOGC
SAE flange adapter with male BSPP thread & 60° inner cone

# Kl (Material)

GSF--G 1. Bk#45#, carbon steel C45
FEWESIM Yellow zinked  :GSF-G-A3C
FMCr+3E4E Cr+d white zinked:GSF~G-CFX
EMHFRASE Ni-Znzinked  GSF-G-ZN

2. 758 AISI 321/304 BSFG--X
3. 748 AISI 316L GEF-G-XX
normal IR =4 dimension B B BA
p— e g A D L SW E oM A
nch Flange o-ing
B&AF 3000 psl
GSF301-G3B8 G3/8"
172" ans 50 22 FH301 18.66x3.53 350
GSFan1-G1/2 G1/2"
GSF302-G1/2 G/
34" 383 55 30 FH302 25.00x3.53 350
GSF302-G3/4 G3/4"
GSF303-G3/4 G3/4"
1™ 4.7 60 36 FH303 32.92x3.53 315
GSF303-G1 (ehi
GSF304-G1 G1"
114" 5 85 41 FH304 37.70x3.53 250
GSF304-G1) G
GSF305-G1), G
112" 60.5 70 48 FH305 47 22x3.53 200
GSF305-G1% ehi
EFRF 6000 psi
GSF601-G3f8 Gam"
172" 318 50 22 FHE01 18.66x3.53 400
GSFB01-G1/2 G1/2"
GSFB02-G1/2 Gi12"
3 M5 60 30 FHB02 25.00x3.53 400
GSFB02-G3/4 G3/4"
GSFB03-G3/M4 [ex T o
1" 478 70 36 FHE03 32.92x3.53 400
GSFE03-G1 (chi
GSFB04-C1 Gi"
11/4° 54.2 75 41 FHE04 37.70x3.53 400
GSFB04-G1¥; G1H"
GSFB05-G1), G1)4"
112" 63.7 80 46 FHE0S 47.22%3.53 400
GSFB05-G1% G

T1R{kH Specification:

1. {0iTHk 4 Flange adapter only: GSF301-G3/8, GSF301-G3/8-X

2. L ARIER . Addligee ROTEE, MUS% M: GSF301-G3/8M, GSF301-G3/8-X (L X HiRk:: GSF301-G3/8U)
Adapter with flanges, boits and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE &= Bk —JRSMEIRG60° PR (90° &)

e T o . = o
SAE flange adapter-90° with male BSPP thread & 80° inner cone FluldConrecton
L2
sSW
_x = e
£ =
j I_ T,
===
FE (Material)
GWF--G 1. B4 Q3458, carbon steel Q3458
REGESIM Yellow zinked  :GWF—G-A3C
RMCr+3EI8 Cr+3 white zinked: GWF-G-CFX
HEHRAE NiZnzinked  GWF-G-2ZN
2769 AISI 321/304 BWF-G-X
3 G AISI 316L GWF—G—XX
1 ension B X
normal Fﬁ%ﬂ Fol##t  dim - Eﬁﬂlﬁ#w. %&%)g
Inch Borthe: A D L1 L2 SwW Flanga g -
BRI 3000 pel
GWF301-G3/8 Gae"
12 305 39 38 24 FH301 | 18.66x353 350
GWF301-G1/2 G1/2"
GWF302-G1/2 Gz’
3/4" 3B8.3 42 45 30 FH302 25.0003.53 350
GWF302-G¥/4 Ga"
GWF303-G¥/4 G3/4"
1" 44.7 45 50 38 FH303 32.92x3.53 315
GWF303-G1 61"
GWF304-G1 61"
11/4" 51 50 59 41 FH304 | 37.70x353 250
GWF304-G1)} G1Y"
GWF305-G1%} G
172" 60.3 55 84 50 FH305 | 4722353 200
GWF305-G1% G1%"
E#R5 6000 psi
GWF601-G a3/8”
12 n 31.8 39 38 24 FHEO1 | 18.66x353 400
GWF601-G1/2 G1/2"
GWFB02-G1/2 G172"
a4 415 48 48 32 FHB02 | 25.00x3.53 400
GWFB02-GI/4 Ga"
GWFB03-GI/4 Gan"
i 47.8 60 56 41 FHE03 | 3282x3.53 400
GWFB03-G1 ar
GWF804-G1 61"
174" 54.2 68 61 46 FHBO4 | 37.70x3.53 400
GWFB04-G1Y} G
GWF605-G1% G1%"
1z 63.7 76 72 50 FHE0S | 47.22x3.53 400
GWFB05-G1% a1k

TR Specification:

1. {0iTH:k 4% Flange adapter only: GWF301-G3/8, GWF301-G3/8-X

2, B AAIEE . AlER ROEE, S S M: GWF301-G3/8M, GWF301-G3/8M-X (FE & 418842 GWF301-G3/8U)
Adepter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

= 18



SAE 5 2 st Bk HISNELUREME 2 HOOG
SAE flange adapter with male UN thread & ORFS

GSF--OR
¥l (Material)
1. B1458, carbon steel C45
FEREHN Yelowzinked :GSF-OR-A3C
#MCr+3[94¢ Cr+3 white zinked:GSF—OR—-CFX
REFHRS S N-Zn zinked :GSF-OR-ZN
2. 78540 AISI 321/304 :GSF-OR-X
3. 74647 AISI 316L GSF-OR-XX
dimensi B K
farge iy e = EE Dﬁfm ool | i b
part No. = i
BEFA 3000 psi
GSF301-OR¥s | ¥s™-16UN 9.5 12.42x1.78
1z 30.5 48 22 FH301 18.66x3.53 350
GSF301-0R1 1"-14UNS 12.5 15.6x1.78
314" GSF302-OR1%s | 134s~12UN 15.5 38.3 53 30 FH302 | 18.77x1.78 | 25.00x3.53 350
1" GSF303-0R1%s | 1%a"~12UN | 205 447 54 38 FH303 | 23.52x1.78 | 32923.53 315
11/4" | GSF304-OR1'Ke | 1"46™12UN 26 51 58 41 FH304 | 29.87x1.78 | 37.70x3.53 250
112" GSF305-OR2 2"-12UN 32 60.5 60 45 FH305 | 37.82x1.78 | 47.22x3.53 200
HEARF 8000 psl
GSFB01-OR'¥5 | '%s™~16UN 95 12.42x1.78
1z 31.8 48 22 FHE01 18.66)x3,53 400
GSFB01-OR1 1"-14UNS 125 15.6x1.78
3/4" GSFB02-OR1¥%s | 13e"~12UN 155 415 58 30 FH602 | 18.77x1.78 | 25.00x3.53 400
1" GSFB03-0OR1%s | 1%e"~12UN | 205 478 66 36 FHB03 | 23.52x1.78 | 3292353 400
114" | GSF604-OR1Mg | 1'4g™~12UN 26 54.2 70 41 FHE04 | 20.87x1.78 | 37.70x3.53 350
11/2* GSFB05-OR2 2*12UN 32 63.7 78 48 FH605 | 37.82x1.78 | 4722353 310

TR Speciication:
1.{%iT#:3k4% Flange adapter only: GSF301-OR'¥g, GSF301-OR'¥g-X

2, BRI, A RoEE, S% M: GSF301-OR'YeM, GSF301-OR'¥M-X (X HliRE: GSF301-OR™¥,U)
Adapter with flanges, bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE 3 Rk — £ HMRLCHERS R (90° ) HOOG

(=] e v
SAE flange adapter-90° with male UN thread & ORFS FluidConnectors
L2
SW
_x “_ B b e
C el
h
j ==
#D
#El (Material)
GWF--OR 1. B Q3458, carbon steel Q3458
FERE A Yellowzinked GWF-OR-A3C
FECr+3E4E Cr+3 white zinked: GWF=-OR=-CFX
EHHE A4 Ni-Zn zinked :GWF-OR-ZN
24488 AlSI 321/304 :GWF-OR-X
3. 7447 AIS| 316L GWF-OR-XX
&) i ﬂ j{
| e e o o A
0. — o
Inch e A D1 D L1 L2 SW | Fange o-ring Sl Kglem?
¥R% 3000 psl
112" GWF301-OR'¥s | "%s-18UN | 8.5 305 | 38 24 | FH301| 12.42x1.78 | 18.66x3.53 350
GWF302-0R1 1"14UNS | 125 15.6x1.78
374" 383 42 45 30 | FH302 25.00x3.53 350
GWF302-OR1%g | 1%"12UN | 155 18.77x1.78
GWF303-OR1%g | 13e™~12UN | 155 18.77x1.78
1" 44.7 a5 50 36 | FH303 3292x3.53 315
GWF303-OR1%g | 14g"12UN | 20.5 23.52x1.78
GWF304-OR1%g | 1%s™12UN | 205 23.52x1.78
11/4" 51 50 58 41 | FH304 37.70x3.53 250
GWF304-OR1"%s | 1'4s"12UN| 26 29.87x1.78
GWF305-OR11%s | 114s~12UN | 26 20.87x1.78
1172 60.5 65 64 50 | FH305 47.22x3.53 200
GWF305-0OR2 2"-12UN 32 37.82x1.78
HE#RF 6000 psi
e GWFB01-OR'Yg | '%e-18UN | 9.5 31.8 38 38 24 | FHBO1| 12.42x1.78 | 18.86x3.53 400
-OR1 1~14UNS | 12.5 15.6x1.78
3/4" oI on 415 48 48 32 | FH602 25.0003.53 400
GWFB02-OR1¥g | 13g~12UN | 15.5 18.77x1.78
GWFEB03-OR1¥%g | 1%g"12UN | 15.5 18.77x1.78
1" 47.8 60 55 41 | FH603 329804353 400
GWFB03-OR1%g | 14g"12UN | 205 23.52¢1.78
GWFB04-OR1%4s | 174s™12UN | 205 23.52x1.78
114" 54.2 68 B1 46 | FHB04 37.70x3.53 350
GWFE04-OR1"%s | 1"4e™12UN | 26 29.87x1.78
GWF805-0OR1'Ks | 1"4s™-12UN | 26 20.87x1.78
1172 63.7 78 72 50 | FH805 47.23.53 310
GWF605-OR2 2"12UN 32 37.82x1.78

T4 Specification:
1. {2iT#3s4% Flange adapter only: GWF301-OR'¥s, GWF301-OR'¥¢-X

2. EE AR AMBIIREE R OEE, NS4S M: GWF301-OR'%sM, GWF301-OR34aM-X (Ri2HllikE: GWF301-OR14,U)
Adapter with flanges, boits and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE SMRBUE 2 —ARIRE24° R HOOG
SAE male thread flange with metric thread & 24° inner cone

2

24"
#01
I.-_._
c
D

H E
G F
)
# &l (Material)
AFM 1. RE1Q345B, carbon steel Q3458
FHisxEBM Blank olled :AFM—
MBS Yellow zinked :AFM-A3C
RMCH+IEEE Cr+3 white Zinked:AFM—CFX
FEEHESS Nl-Znzinked  :AFM-ZN
. . 27441 AISI 321/304 AFM—X
Series - 3000psi %R 7! 3% AISI 316L :AFM=XX
nomal [ seoma J+#%  dimension AR AR |opn
flange part No. Wi O Wt maxw.p
Inch @01 c p| e |Fr|e]|H]| K M i s i
AFM301-128 | 128 M20x1.5
172" | AFM301-15L | 15L | 3810 | 54 | 1748 | 46 | 47 | 16 | 9 |M22x1.5 | Max30 | 18.66x353 | 035 | 315
AFM301-168 | 168 M24x1.5
AFM302-16S | 168 M24x1.5
AFM302-16L | 18L M26x1.5
g 4763 |65 | 2223 | 50 [ 52 | 18 | 11 M10x35 | 25.00x3.53 | 0.60 | 160
AFM302-208 | 208 M30x2
AFM302-22L | 221 M30x2
AFM303-208 | 208 M30x2
1 | AFM3032558 | 258 | 5237 | 70 | 2619 | 55 | 60 | 18 | 11 | M3sx2 | M10x35 | 3292353 | 080 | 160
AFM303-26L | 28L M36x2
AFM304-258 | 258 M36x2
114" | AFM304-308 | 308 | 5872 | 79 | 3018 | 68 | 60 | 21 | 115 | M2 | M10xd0 | 37.70:353 | 1.00 | 160
AFM304-35L | 35L M45x2
AFM305-36L | 35L M45x2
1172 | AFM305-388 | 388 | 69.85 | 93 | 3571 | 78 | 70 | 25 | 135 | M52 | M12xd5 | 47.22x353 | 150 | 160
AFM30542L | 42L M52x2
AFM306-383 | 388 M52x2
v 7777 | 102 | 4288 | 90 | 72 | 25 | 135 M12x45 | 56.75x3.53 | 2.00 | 160
AFM306-42L | 42L M52x2

TR L8 Specification:

1. {iT#:2 Flange only: AFM301-128, AFM301-128-X

SEERA BB NOEE, n/ESM: AFM301-125M, AFM301-12SM-X (AC 238 fhldRit: AFM301-12SU)
Flange with bolts and Q-ring: for Matric bolts with the suffic M and UNC bolts with the suffix U

3 EERAGERROEE, FNK-FERERE, NS4S KM: AFM301-12SMKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM



SAE SMRBUE 2 —ARIRE24° R HOOG
SAE male thread flange with metric thread & 24° inner cone

2

24"
#01
I.-_._
c
D

H E
G F
)
# &l (Material)
AFM 1. RE1Q345B, carbon steel Q3458
RIHE MM Blankolled  AFM—
HTBEESK Yellowzinked  -AFM-A3C
RECH+IEE Cr+3 white zinked:AFM—CFX
REEH4ESS NI-Znznked  :AFM-ZN
. . 2.76%4 AISI 321/304 AFM-X
Series - 6000psi R 7! 3. R4 AISI 316L :AFM=XX
nomal [ seoma R+##%  dmension AN R imjj
flange part No. Wi O Wt maxw.p
Inch @01 c p| e |F|la|H]| K M e o e
AFMG01-128 | 128 M20x1.5
172" | AFMB01-15L | 15L | 4049 | 56 | 1824 | 48 | 47 | 16 | 8 |[M22x1.5 | Max30 | 18.66x3.53 | 040 | 400
AFMG01-168 | 168 M24x1.5
AFMB02-16S | 168 M24x1.5
/4" | AFMB02-208 | 208 | 5080 | 71 | 2380 | 55 | 52 | 18 | 11 | Maox2 |M10x35 | 25.00x353 | 080 | 400
AFMB02-22L | 22 M30x2
AFMG03-208 | 208 M20x2
1" | AFMe03258 | 258 | 5745 | 81 | 2776 | 65 | 60 | 21 | 13 | Maex2 | M12d5 | 3292353 | 1.00 | 400
AFMB03-28L | 28L M26x2
AFMB04-258 | 258 M36x2
AFM604-30S | 308 88 | 24 M42x2
11/4* 6668 | 95 | 31.75 | 78 18 M14x50 | 37.70x3.53 | 160 | 400
AFMB04-35L | 35L M45x2
AFM604-388 | 388 82 | 27 M52x2
AFMB05-35L | 35L M45x2
AFM605-388 | 388 12 84 | 72| 27 M52x2
1172 79.38 36.50 17 M16x55 | 47.22x3.53 | 220 | 315
AFMB05-42L | 42L M52x2
AFMB05-385-2| 388 113 o5 | 86 | 30 M52x2

WHULH Specification:
L. {YiT#2% Flange only: AFMB01-128, AFM601-128-X
2. EERAGIEE XOEE, /5% M: AFMB01-12SM, AFMB01-12SM-X (At dilii#:: AFMB01-12SU)
Flange with bolts and O-ring: for Metric bolts with the suffic M and UNC bolis with the suffix U
EERAGREROEME, RNK-FERERE, Fn/ESKM: AFME01-12SMKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM



SAE SMEEOE 2 —ABIRE24° HER(0° ) HOOG

. o . i a
SAE male thread flange-80° with metric thread & 24° inner cone Fl it orree e
S |
i 01 if
=
#K
H
L1
# ¥l (Material)
1. #®#1Q3458, carbon steal Q3458
AFMW MBI Blank oiled sAFMW--
REHEHHHE Yolowzinked :AFMW-A3C
FECr+3E1EE Cr+3 white zinked: AFMW—-GFX
FHEERAS Ni-Zn zinked ‘AFMW=ZN
2.5 AISI 321/204 AFMW=X
Series - 3000psi 2 &% 3 4B AISI 316L AFMW-XX
flangs part No. Wi O Wt Imaxw.p
Inch @D1 c D E H| K || L2 M it i k8 | kgiom?
AFMW301-128| 128 M20x1.5
12" |AFMW301-15L| 15L | 3810 | 54 | 1748 | 16 | 8 | 20 | 37 | M22x1.5 | Max30 | 18.66x3.53 | 040 | 315
AFMW301-16S| 168 M24x1.5
AFMW302-165| 168 M24x1.5
AFMW302-18L| 18L M26x1.5
a/4" 4763 | 65 | 2223 | 18 | 11 | 24 | 39 M10x35 | 25.00x3.53 | 060 | 160
AFMW302-208| 208 M30x2
AFMW302-221| 221 M30x2
AFMW303-208| 208 M302
1 AFMW3D3-2558| 258 52.37 70 | 2819 | 19 11 28 44 M36x2 | M10x35 | 32.92x3.53 | 0.80 160
AFMW303-28L| 28L M3gx2
AFMW304-258| 258 M36x2
114" |AFMW304-30S| 308 | 5872 | 70 | 30.18 | 21 |11.56| 34 | 52 | MaZx2 | M10x40 | 37.70x3.53 | 1.20 | 160
AFMW304-35L| 35L Mabx2
AFMW305-35L| 35L Ma5x2
112" |AFMW3D5-38S| 3BS 89.85 93 | 3571 | 25 |135| 38 57 ME2x2 | M12x45 | 47.22x3.53 | 1.85 160
AFMW305-42L| 421 M52x2

THUiW Specification:

1. {UiTE Flange only: AFMW301-128, AFMW301-128-X

2. EERMAGREROEE, EFHEM: AFMW301-125M, AFMW301-128M-X (LSS Fi@te: AFMW301-128U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

8. EEEARUREE RO, FNEEFEARE. FiN/EH KM: AFMW301-12SMKM
Flange with bolts, O-ring, cutfing ring and nut: with additional suffix KM



SAE SMBEOUK 2 — A FIRL24° ARK(90° &)

___ i sy
SAE male thread flange-80° with metric thread & 24° inner cone Fl it orree e
. - e
i 01 i?
=
K
H
K]
# ¥l (Material)
1. #®#1Q3458, carbon steal Q3458
AFMW FFPith Blank oiled AFMW--
REHEHHHE Yolowzinked :AFMW-A3C
FHCr+IEIEE Cr+3 white zinked: AFMW—CFX
FHEERAS Ni-Zn zinked ‘AFMW=ZN
2748 AISI 321/304 :AFMW=X
Serles - 6000psi A5 39 AISI 316L AFMW-XX
normal | pme R+$8%  dimension AR A Py LIS
part No. Wi O Wt Imaxw.p
Inch 2D1 c D E HlK|L| L2 M o osing ke |eotomd
AFMWED01-123| 128 M20x1.5
112 |AFMWB01-15L| 15L | 4049 | 56 | 1824 | 16 | 9 | 20 | 38 | M22x1.5 | Max30 | 18.66x3.53 | 0.50 | 400
AFMWB01-16S| 168 M24x1.5
AFMWB02-16S| 168 M24x1.5
34" |AFMwen2-208| zos | s0.80 | 71 | 2380 | 19 | 11 | 28 | 43 | Ma3ox2 | m10x35 | 25.00x353 | 125 | 400
AFMWB02-22L| 221 M30x2
AFMWE03-20S| 208 M30x2
1" |AFMwe03-255| 255 | 5715 | 79 | 2776 | 21 | 13 | 34 | 51 | M36x2 | M12x40 | 32.92x353 | 150 | 400
AFMW8B03-28L| 28L M36x2
AFMW8ED4-255| 258 M36x2
114" | AFMWED4-308| 308 66.68 93 | NT5 | 256 15 38 56 Ma2x2 | M14x45 | 37.70x3.53 | 1.B0 400
AFMWB04-35L 351 Ma5x2
AFMWB05-35L| 35L Mabx2
112" |AFMwe05-38s| 385 | 79.38 | 112 | 3650 | 25 | 17 | 42 | 65 | mM52x2 | M16x50 | 47.22x3.53 | 280 | 315
AFMWB05-42L| 42L ME2x2

I #UiH] Specification:
1. {LiT¥:2 Flange only: AFMW601-12S, AFMW601-128-X

2. XA O E, E%M: AFMWGE01-125M, AFMWB01-128M-X (Al SeFig#e: AFMWSB01-128U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

8. EEEAMUREROERE, FFNEEFIEAIRE, Fi/EHE KM: AFMWE01-12SMKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM



SAE SMERLOUE 2= — K HIRG37° S

j i : iy
SAE male thread flange with UN thread & 37° outer cone T ——
—pi
E[ ) At | A
/\-J &ﬂ\
I= A ..
N,
\ _é}_ Pan
N
H E
G F
#4# (Material)
AFJ 1. #4¥#10Q3458, carbon steal 03458
F k7B Blank oiled ‘AFJ—
HTESEFEEEE YollowzZinked  :AFJ-A3C
RFECre3 34 Cr+3 white zinked:AFJ-CFX
FEER AL Ni-Zn zinked :AFJ=ZN
204 AISI 321/304 :AFJ=-X
3. 7281 AISI316L AFJ-XX
" B X
flange part No. o MAX.W.P
Inch 2D1 o D E F G H K bolt oing kg
B RY 3000 psi
AFJ3D1A | 3"-18UN
1” L at us
AFJB01B | 14N 3810 | 54 | 1748 | 48 | 47 13 9 | Mex30 |1866x353| 023 | 315
B AFJ302A | %4™14UN
4 15028 Tiaoun| 4769 | 85 | 2223 | 60 | 62 | 14 | 115 |M10x5 | 2600x353 [ 033 | 160
4 AFJ303A | 1%e-12UN
1 AFJ303B  |1%s12UN| 5237 | 70 | 2619 | 55 | 60 18 | 115 | M10x35 | 32.92x353 | 047 | 160
N AFJ3D4A  [1%¢"12UN
1114 oy 120N 5872 | 79 | 3018 | &8 | ®0 14 | 115 | M10x35 | 37.70x3.53 | 062 | 160
AFJ305A | 156™12UN
1z AFJ3058 | 120N 6985 | 93 | 3571 | 78 | 70 18 | 13.5 | M1235 | 47.22x3.53 | 084 | 160
HR5 6000 psi
. AFJsD1A | 3"-18UN
12
AFJ601B | %"-14UN 4049 | 58 | 1824 | 48 | 47 18 9 | Max30 |18.66x3.53 | 0.28 | 400
2 AFJBDZA | %4™-14UN
34 AF8028 TiRe-12UN 5080 | 71 | 2380 | 55 | 52 18 | 115 | M10x35 | 25.00x3.53 | 0.48 | 400
" AFJB03A  [14g"12UN
1 AFI603E iseoroun] 1% | 81 | 7778 | &5 | 60 | 21 | 13 |mi2uas | 3292353 | 073 | 400
. | AFJBD4A  [154™-12UN
114 AFJ 154"-12UN 66.68 a5 NT75 78 68 24 15 M14x50 | 37.70x3.53 1.1 400
AFJB05A | 196™-12UN
17z AFI6055 | T4"120N 79.38 | 112 | 3850 | o4 72 | 27 17 | M16x55 | 472353 | 1.75 | 315

THY Specification:

1. 40T Flange only: AFJ301A, AFJ301A-X

2 ELEAGIREZOEE, N/SSM: AFJ301AM, AFJ301AM-X (Bi254i#: AFJ301AU)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

- 25



SAE $MESE 2 —EMBLHI7° SMER(90° B) HOOG

i i : =
SAE male thread flange-90° with UN thread & 37° outer cone FluidConnectors
A
B 3"‘
{ p i %
. 9
Y =
/{8 @R\ fan)
) I
o Ll
3 TN (%
\ 2N
2K /
H [
L1 D
#E (Material)
1. EAQ3458, carbon stesl Q3458
AFJW FHEREH Blank olled AFJW-
BIEESIE Yellowzinked AFJW-A3C
FECr+3L1%F Cr+3 while zinked:AFJW—CFX
FHMEESSE Ni-Zn zinked :AFJW=ZN
258 AISI 321/304 AFJW-X
3G AlSI 318L AFJW—XX
e B X
g%?l R FLRE 2 i dimension B R T_“E TRER
inch bR A | =] & |s)ie [ 6] o |oe]i]ie] B2 | 28 | ow MR
B7#7 3000 psl

AFJW3D1A | % -16UNF

12 AFJW301B | 74-14UN 13 | 3810 | 54 (1748 | 16 | 19 9 20 | 37 | MBx30 | 18.66x3.53 | 0.30 350
a/a" | AFJW302A | %"14UN | 19 |4783| 65 |2223| 18 | 19 | 11 | 24 M10x35 | 25.00x3.53 | 045 | 350
1" AFJW303A |1}e"-12UN| 25 | 5237 | 70 | 2619 19 | 22 | 11 | 28 M10x35 | 32.92x3.53 | 0.685 315
" AFJW3D4A [134s"-12UN
11/4 AFJW304B | 1%-12UN 32 |5872| 79 |3018] 21| 24 |115]| 4 M10x40 | 37.70x3.53 | 1.00 250
1172 AFJW305A |134-12UN| 38 | B69.85| 93 | 3571| 25 | 25 |135| 38 | 57 | M12x45 | 47.22x3.53 | 1.50 210
HESH 6000 psi
1z i 1A_|%16UNF 13 | 4049 | 56 |1824 | 18 | 19 ] 20 | 38 | MBx30 | 18.66x3.53 | 0.30 400

AFJWEB01B | 74"-14UN
g AFJWB02A | %4"14UN | 19 (5080 | 71 |2380| 18 | 19 | 11 | 28 | 43 | M10x35 | 25.00x3.53 | 0.60 400

AFJWB03A | 1%s"12UN
AFJWB03B |1%g™-12UN|
AFJWBDAA |134¢"~12UN|
AFJWE04B | 13™12UN

112" AFJWB05A |154™~12UN| 38 | 79.38 | 110 | 3650 | 25 | 28 | 17 | 42 | 65 | M16x50 | 47.22x3.53 | 2.00 400

: 1 25 |5715| 79 |2776| 21 | 23 | 13 | 34 | 51 | M12x40 | 32.92x3.53 | 0.80 400

114"

[

B66B| 93 |31.75| 25 | 24 | 15 | 38 | 56 | M14x45 | 37.70x3.53 | 1.30 400

IT#iHE Specification:

1. {UiT#:2 Flange only: AFJW301A, AFJW301A-X

2. A EA SRR ZOEE, )SEM: AFJWA01AM, AFJW301AM-X (RS dliRiE: AFJW301AU)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE SRS 2 — FABIEIREE0" Wi HOOG
SAE male thread flange with BSPP thread & 60° inner cone

oK

\§

D)
A\

/

%
fan
vy
Fan

i
H E
[ F
#E (Material)
1. 5H47Q3458, carben steel Q3458
Fwbrdn Blank clled :AFG~
ML Yellowzinked AFG-AIC
AFG FMCr+3E% Cr+3 while zinked:AFG—CFX
REFESE N-Zn Zinked :AFG-2ZN
27548 AIS| 321/304 IAFG—X
3G AISI 318L AFG=-XX
imensi E X
normal F;ﬁ%:} Rtk dimension “&Eﬁmimu ﬁ THES
“mne 3 MAX.W.P
Inch A c D E F G H K ol e e kg [“kgrom?
Z2%% 3000 psi
AFG301-G3/8 | G 37
Ll T T 3810 [ 64 | 1748 | 46 [—-— 16 9 Max30 | 18.68x3.53 | 030 | 350
. | AFG302-G12| G2 42
¥4 rasocaa | Gaa 4763 | 65 | 2223 | 50 7 18 11 | M10x35 | 25.00x3.53 | 0.40 350
. | AFG303-G3/4 G4 47
1 AFG303.01 T 5237 | 70 | 2619 | 56 o] ™ 11 | M10x35 | 32.92x3.53 | 050 | 315
. | AFG304-G1 G1"
11/4° e AR 5872 | 78 | 3018 | 88 | 53 21 | 115 |M10x40 | 37.70x3.53 | 080 | 250
AFG305-G1% | o4t 59
N st | oue | 9085 | 98 |37 | 78 [ 24 | 135 M12x45_ 47.22x353 | 120 | 200
2* | AFG306-G1% | G1k" 7rar | 102 | 4288 | 80 | 88 | 25 | 135 |M1245|56.75x3.53 | 200 | 200
H#A% 6000 psi
AFG601-G3/8 | Ga/B" 38
2 el e 4049 | 56 | 1824 | 48 ——— 18 9 M8x30 | 18.66x3.53 | 0.30 | 400
. | AFGB02-G12| @12 44
Ll Ty 5080 71 | 2380 | 55 [——— 18 11 | M10x35 | 25.00x3.53 | 050 | 400
. | AFGBO3-Ga4 | GaM4" 54
1 AFG803.01 S 5715 | 81 | 27.76 | 65 — 21 13 |M12x45 | 32.92x353 | 080 | 400
AFGBE04-G1 G1"
' ] : 14 70x3. 1 400
1174 AFGE0A-G1Y, o 6668 | 95 | 31.76 | 78 81 24 15 | M14x50 | 37.70x3.53 20
AFGE05-G1Y | G4 85
M16x55 | 47.22x3.53 | 1.90 | 400
112 AFGB05G1% | Gl 7938 | 112 | 3650 | o4 |——— 27 17

T Vi8] Specification:
1. f%iT#2 Flange only: AFG301-G3/8, AFG301-G3/8-X

2L AGEREROEE, WME8M: AFG301-G3/8M, AFG301-G3/8M-X (A %luR#:: AFG301-G3/8U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE SMBEUE 2 — T H EiRLr60° AHK(90° &)
SAE male thread flange-80° with BSPP thread & 60° inner cone

T Specification:

1. {UiT#:2 Flange only: AFGW301-G3/8, AFGW301-G3/8-X

2 EAEABREZOEE, /5% M: AFGW301-G3/8M, AFGW301-G3/8M-X (B fi#f#: AFGW301-G3/8U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

FluidConnectors
A
60"
S
=
— N P
1 fd i)
\L/ L/
o W
- SONPLO)
| : i 9 ),
2K /
H [
L1 D
# ¥k (Material)
1. ®4#Q3458, carbon steel Q3468
FTB S Blank oilad AFGW—
TEEEHE Yollowznked AFGW-A3IC
AFGW RECr+3E4F Cr+3 white zinked: AFGW-CFX
PHEHA S NI-Zn 2inked :AFGW-ZN
2GR AISI 321/304 AFGW=X
3EEH AISI 316L AFGW=XX
normal | g Ri##  dimension KR - %F Ei;:r:
nge wit
part No. L2 OFE MAX.W.P
Inch A lB|lC|D|E |H| KWL G0 | g | k| kger
275 3000 psi
. | AFGW301-G3/8 | G3/8"
Ul e e o R K 1748 | 16 | 177 | 9 | 20 | 37 | m8x30 | 18.66x3.53 | 0.30 | as0
. | AFGW302-G1/2 | G1/2"
W e T W | AN 2223| 18 | 17 | 11 | 24 M10x35 | 25.00x3.53 | 040 | 350
. | AFGW303-G3/4 | G3M4"
1 AFGWi0sGT | o | 25 [5237| 70 (2619 19 [ 19 | 11 | 28 M10x36 | 32.92x3.563 | 060 | 315
i | ARGt | CT 5872 | 79 (3048 21 | 22 |115]| 34 M10x40 | 37.70x3.53 | 090 | 250
AFGW304-G1Y, | G114
AFGW305-G1)s | GUA" | 43 |gops | o3 |3571| 25 | 25 | 135 38 | 57 | M12xas | 47226353 | 140 | 200
172 oeeis | oue ; ? : ;
E#%| 8000 psi
. | AFGwe01-Gas | Gas”
ool e 13 (4049 | 56 |1824 | 16 | 18 | 8 | 20 M8x30 | 18.66x3.53 | 030 | 400
. | AFGWB02-G1/2 | G1/2"
e e veoaGya | Gua] 19 5080 | 71 (2380 18 | 19 | 11 [ 28 | 43 [ MIOX35 | 25.00x3.53 | 050 | 400
. | AFGWE03-G3/4 | GaM4"
1 AFoWe0ao1 T or | 25 |57-15( 79 |27.76| 21 | 23 | 13 | 34 | 51 | M12x40 [ 3262353 | 080 | 400
AFGWE04-G1 | G1°
11/4" 6668 | 93 [3175| 25 | 2a | 15 | 38 M14x45 | 37.70x3.53 | 1.20 | 400
W I Arowen-c1% | cir
AFGW605-G Giy"
172 38 (7938 | 110 | 3650 | 25 | 28 | 17 | 42 M16x50 | 47.22x3.563 | 1.80 | 400
AFGWB05-G1% | G1k"




SAE MBS X — R FREORE B R
SAE male thread flange with UN thread & ORFS

2K
-
H E
G F
# ¥k (Material)
1. R4#{Q3458, carbon steel Q3458
FRESEn Blank oilad :AFOR-
REMEEHE Yellowzinked :AFOR-A3C
AFOR RECr+3EEE Cr+3 white zinked:AFOR-CFX
PHEHA S NI-Zn 2inked :AFOR-ZN
248 AISI 321/304 :AFOR=X
3REEW AISI 31BL ‘AFOR=XX
T E X
e | s e a5 T omm [ ommi | = |2
MAX.W.P
Inch A c D E F|G|H]|K box A oo kg | giom?
%% 3000 psl
AFOR301A | 'Ms"-16UN a7 9.25x1.78
1r2* | AFOR301B | ""16UN | 38.10| 54 (1748 | 46 | 38 | 16 | 9 | MB30 [12.42x1.78| 18.66x3.53 | 0.30 | 350
AFOR301C | 1-14UNS 42 15.6x1.78
. | AFOR302A | 1"-14UNS 45 15.6x1.78
a4 AFOR3028 | T-12UN 47.63| 65 | 2223 | 50 [—=— 18 | 11 | MIOX35 o] 25.00x3.53 | 040 | 350
g AFOR303A |1%e™12UN 18.77x1.78
1 AFOR3038 | T4-120N 5237 70 |2619| 55 | 49 | 18 | 11 | M1Ox35 35001 78| 2292363 | 050 | 315
AFOR304A | 1%s"-12UN 23.52x1.78
" i ; 53 ] T0x3. ?
Ul o120 58.72| 79 | 3018 | &8 21 | 115 | M10x40 [Pt 37706363 | 080 | 250
AFOR305A |1'/s"-12UN 29.87x1.78
N2 s | 2-iauN | 5985 | 93 | 3571 78 61 | 24 |135 | M12a5 37 80,1 78] 4722858 | 1.20 200
E#R3| 6000 psl
AFORB01A | ¥e"-16UN 38 0.25x1.78
1/2* | AFORB01B | '3"16UN| 4049 | 56 (1824 | 48 | 40 | 16 | 8 | M8x30 [12.42x1.78| 18.66x3.53 | 0.30 400
AFORB01C | 1"-14UNS 43 16.6x1.78
. | AFORB02A | 1"-14UNS 47 15.6x1.78
34 AFORG0ZB | 1%2"-12UN 5080 | 71 (2380 | 55 [—=— 18 | 11 | M10x35 o] 25.0063.53 | 0.50 | 400
P AFORB03A | 134s™12UN 18.77x1.78
1 AFORB03B | 1R 12UN 57.15| 81 |27.76| 65 | 56 | 21 | 13 | M12u5 oo 32.92¢3.58 | 080 | 400
AFORB04A | 17%g™12UN 23.52x1.78
174" AFORG04B | TH12UN 6668 65 |31.75| 78 | 61 | 24 | 15 | M1dx50 e A7.70x353 | 1.20 400
AFORB05A [174a"12UN 85 20.87x1.78
R [ 78.38 | 112 | 36.50 | 94 = 27 | 17 | MIBXSS [oomomin] 47.2263.53 | 1.80 400

i ##ii% Specification:

1. {iT#:2 Flange only; AFOR3S01A, AFOR301A-X

2. FEZ2MABREKOEE, /5% M: AFORI01AM, AFOR301AM-X (iR HiliRE:: AFOR301AU)

Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

29



SAE SMELGE 2 — EHIBLBRERA R (90° %) HOOG
SAE male thread flange-90° with UN thread & ORFS

fdh)

IS )

-
L)
TN
>
&N

2K /
H C
L1 D

¥ ¥k (Material)

1. ®H§1Q345B. carbon steel Q3458
FMB M Blank ciled :AFORW—
REPRSE Yelowznked AFORW-A3C

AFORW FKECr+301%F Cr+3 white Zinked:AFORW—CFX
FEEHRL4E NI-Zn zinked :AFORW-ZN
27454 AISI 3217304 :AFORW=X
3.0 AISI316L -AFORW-XX
normal Ris#  dmension RCFE i ® LIS
ahge tﬂﬁf A 8l ¢ lol E 1ul 1 [k [ualz] ® | omm | ommz W e
bolt o-ring o~ring kg kg/cm®
2%%( 3000 psl
AFORW301A | ¥¢"~16UN 9.25x1.78
12 | AFORW301B | ¥s18UN| 13 | 38.10 |54 | 17.48 |16 | 10 | 9 | 20|37 | M8x30 [12.42x1.78| 18.66x3.53 | 0.30| 350
AFORW301C | 1"-14UNS 15.6x1.78
. | AFORW302A | 1"-14UNS 15.6x1.78
ol HA2UN 19 |47.63 | 65 22.23 |18 | 17 | 11 (24|39 [ M10x35 oo mmrd 25.00x3.53 0.50| 350
. | AFORW303A | 1%s"™12UN 18.77x1.78
1 AFORW3038 | e 120N 255237 (702619 |19 198 | 11 |28 | 44 | M10x35 23551 78] 3292363 |0.70| 315
. | AFORW304A | 1%4g"-12UN 2352x1.78
1144 AFORW304B 1"%3'—12UN 32|5872(79)3018 | 21| 22 |115| 34 | 52 | M10x40 28.87x1.78 37.70x3.53 | 1.00 250
. | AFORW305A | 1"%s"-12UN 26.87x1.78
11/2 AFORW305B | 2"-12UN 38 |B9.85|83|3571|25| 25 |135 |38 | 57 | M12x45 37.82¢1.78 4T7.22x3.53 | 1.50 200
E#R3| 6000 psl
AFORWBO1A | 1¥g"16UN 9.25x1.78
172" | AFORWB01B | 13s"16UN | 13 | 4049 (56 | 1824 |18 | 18 | 9 | 20|38 | MBx30 [12.42x1.78) 18.66x3.53 [0.30| 400
AFORWB01C | 1"-14UNS 15.6x1.78
. | AFORWB02A | 1"-14UNS 15.6x1.78
Ll 120N 19 (50.80 | 71(23.80 |18 18 [ 11 |28 43 | M10X36 [omm] 26.0063.58 (0.70( 400
. | AFORWG03A | 134" 12UN 18,77x1.78
1 AEORE0IR | T TN 25(567.15|79 | 27.76 | 21| 23 | 13 |34 | 51| M12x40 [rmin] 32.92x3.58 (1.00( 400
AFORWG04A | 1%45™12UN 23.52x1.78
11/4" AFORWG04B [1s™12N 32 (6668 |93 31.75 | 25| 23 | 15 |38 | 56 | Midxd5 o] 37.70x353 (1.40( 400
. | AFORWB05A [1'}e™12UN 20,87x1.78
b T 38 | 79.38 110/ 36.50 | 25 | 28 | 17 |42 | 65 | M16X50 [o—oc] 47.22X3.63 (2.10( 400

T8 Specification:

1. {%iTH:2 Flange only; AFORW301A, AFORW301A-X

2. XA GRE 5 0M, /5% M: AFORW301AM, AFORW301AM-X (A2 4ilifi: AFORW301AU)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix L



SAE P 2 — F BB HOOG

SAE female thread flange with BSPP thread
G
H
5=
< 2
y
I
AFS--G 1.@&%? ecr:?lEm stesl Q3458
XERDiMEIN Blankolled  AFS—G
HEWHHE Yollowzinked :AFS—G-AIC
FECr+3EI4 Cr+3 white zinked:AFS—G-CFX
REEE AL NizZn zinked AFS=G--ZN
277888 AISI 321/304 'AFS-G-X
74649 AISIS16L :AFS—G-XX
ﬁ@mfl ?;lﬁ%f Ri#%  dimension BRI -T“S ¥‘HEE§
: A B C D E FI1G [ HITI K| W bot |0;2M oving |MAX.W.P
Inch ﬁ%’; kg | kol
12" | AFS301G | G172 | 13 | 38.10 | 54 | 17.48 | 46 | 36 | 18 | 19 | 9 | Mexso |[18.66x353| 025 | 350
34" | AFS302C | G34" | 19 4763 | 85 | 2223 | 50 | 36 | 18 | 19 | 11 | M10x35 |25.00x353| 039 | 350
1* | AFS303G | 61" | 25 | 5237 | 70 | 2618 | 55 | 38 | 18 | 22 | 11 | M10x35 |3282x353| 049 | 315
114" | AFS304G |G11/4"| 32 | 5872 | 70 | 3018 | 68 | 41 | 21 | 22 | 115 | Mioxd0 |37.70x353| 071 | 250
112 | AFS305G |G11/2"| 38 | 69.85 | 93 | 3571 | 78 | 45 | 25 | 24 | 135 | M12x45 |47.22x353| 143 | 200
2 | AFS306G | G2 | 51 | 77.77 | 102 | 4288 | 90 | 45 | 25 | 30 | 13.5 | M12x45 |56.75x353| 1.30 | 200
21/2" | AFS307G |G21/2°| 63 | 88.80 [ 114 | 5080 | 105 | 50 | 25 | 30 | 135 | M12xe5 |es4sxas3| 180 | 160
3 | AFS308G | 63 | 73 |106:38 | 134 | 6193 [ 124 | 50 | 27 | 34 | 17 | m16x50 |85.32x353| 230 | 138
31/2° | AFS309G |G31/2"| 89 |120685| 152 | 60.85 | 136 | 48 | 27 | 34 | 17 | m16x50 |8s.02353| 250 | 35
a | Ars3toc | o4 | 99 13018 | 162 | 77.77 | 146 | 48 | 27 | 34 | 17 | M16x50 [110.72@53] 290 | 35
5 | AFS311G | G5" | 120 |15240 | 184 | 9208 [180 | 50 | 20 | 30 | 17 | M16x55 [136.12x3.53] 4.00 | 35
e 2]
8000 psi
12" | AFS801G | G1/2* | 13 | 4049 | 66 | 1824 | 48 | 36 | 16 | 19 | o | mexs0 [18.66x353| 0.30 | 400
24" | AFs802G |Gama” | 19 (5080 | 71 | 2380 | 55 | 35 | 21 [ 19 | 11 | m10x35 |2500x353| 056 | 400
1" | AFssoze | o1 | 25 [57.15 | 81 | 2776 | 65 | 42 | 25 | 22 | 13 | M1245 |3292x353| 085 | 400
114" | AFSB04G |G11/4"| 32 | 6668 | 95 | 3175 | 78 | 45 | 27 | 26 | 16 | M14xs0 |37.70x363| 1.21 | 400
112" | AFSB05G |G11/2"| 38 | 79.38 | 112 | 3650 | 94 | 50 | 30 | 28 | 17 | M16x85 |47.22x353| 1.90 | 400
2 | Arseoec | G2* | 51 [ 9682 |134 | 44.45 | 114 | 85 | 37 | 32 | 21 | M20x70 |s6.75x353| 340 | 400
21/2" | AFSB07G |G21/2 12383180 | 58.73 | 152 | 80 | 45 | 34 | 25 | M24xs5 |7557x633| 830 | 400
3 | AFsSe08G | G3' | 73 |15240|208 | 7143 [ 178 | 90 | 55 | 34 | 32 | M3ox100 [88.27x5.33| 1350 | 400

TR Specification:

1. iT#¥:= Flange only: AFS301G, AFS301G-X

2. L AGIREEOERE, IN/ESM: AFS301GM, AFS301GM-X (R Hig# . AFS301GU, AFS301GU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. AFS-G 5 GFS-GRI R E IT i i AFS-G and GFS-G assembled: DFS301G, DFS301G-X



SAE RgEE 24— Ff] SR g =,

SAE female thread flange with BSPP thread FluidConnectors
G D
H c
|t
e 7.V A~V
"4 R "4
< El o] — )—-—- | w
S
, AL s
[ M
4%} (Material)
GFS"G 1, KQ345B, carbon steel Q3458
FE¥RESHnh Blank oiled {BF5-G
HEBERME Yelowzinked GFS-G-A3C
#ECr+3F%% Cr+3 white zinked-GFS-G—CFX
RESHES NHZnzinked  :GFS—G—2ZN
2. 74841 AISI 321/304 :GF8-G-X
358 AISI 316L 1BFS-G-XX
normal i B K
flange i;ﬁ%? R+8% dimension ﬁ& TR
size. A B c D E F <] H ] M MAXW.P
BR7
inch 3000 pei kg kg/em?
12" | ors301G | G1/2" | 13 | 3810 | B4 17.48 48 38 18 19 M8 0.25 350
34" | GFs302G | G | 19 | 4763 | 65 22.23 50 36 18 19 M10 | 039 | 350
1" | GFs303G G1" 25 5237 | 70 26.19 56 38 18 22 M10 | 049 a5
114" | GFs304G | G114 | 32 5872 | 79 30.18 68 41 21 22 M0 | 071 250
11/ | GFS3056 | G11/2" | 38 | 6985 | 83 35.71 78 45 25 24 M2 | 113 200
2* | GFS308G G2" 51 7777 | 102 | 4288 20 45 25 30 M1z | 1.30 200
21/ | GFS307G | G212 | 83 | 8880 | 114 | 50.80 | 105 50 25 30 M2 | 1.60 180
3" | GFS308G 63" 73 | 10838 | 134 | 61.03 | 124 50 27 34 M6 | 230 138
312" | GFs308G | G312 | 89 | 12085 | 152 | e85 | 136 | 48 a7 34 M8 | 250 35
4 | GFS3106 Ga" 89 | 13048 | 162 | 7777 | 146 | 48 27 M M1é | 280 35
5 | cresatic el 120 | 15240 | 184 | 9208 | 180 50 29 30 M16 | 4.00 35
ERA
6000 pal
12" | cres01G | G1/2" | 13 | 4049 | 56 18.24 48 36 18 19 M8 0.30 400
34" | crsso2s | caar | 19 | s0.80 71 23.80 55 35 21 19 M0 | 058 400
1" | crsso3a G1" 25 | 5715 81 27.78 85 42 25 22 M2 | 085 400
114" | GFsB04G | G114" | 32 | 6668 | o5 31.75 78 45 27 25 M4 | 1.2 400
1727 | oFseosG | G11/2" | 38 | 7938 | 112 | 36.50 94 50 30 28 M18 | 1.80 400
2 | Grs608G G2" 51 9682 | 134 | 4445 | 114 65 37 32 M20 | 340 400
217" | crFseorG | G212 | 63 | 12383 | 180 | s873 | 152 | 80 45 34 M24 | 830 400
3 | Grseosc G3" 73 | 15240 | 208 | 71.43 | 178 80 55 34 M30 | 1350 | 400

T8 Specification:
1. {0iT#:2 Flange only: GFS301G, GFS301G-X

2. AFS-G5GFS-GEEREIT Wit AFS-G and GFS-G assembled: DFS301G, DFS301G-X

32



SAE P 2 — R M AR (90° B) HO O
SAE female thread flange-80° with BSPP thread

£ e T T
12 L
A Y D
R o
N\
= e
oK
H c
L1 D
AFW-G # ¥} (Material)

1, B4MQ3458, carbon steel Q3458
eE B Blank olled :AFW—G
RE W Yollowzinked AFW-G-A3C
FECr+3EEE Cr+3 white zinked: AFW—G--CFX
EHEERESE Ni-Zn zinked :AFW-G-2ZN

25440 AISI 3217304 AFW-G-X
3.45%48 AISI 316L AFW-G-XX
normal B X
flange tﬂ'ﬂﬁ R<#%  dimansion LtEL i ﬁ! THES
. A B € [DJ] E [HJ T [ K]I1]L2| e b [N onng [MAX WP
BRA
inch 3000 pei kg | kgiem?
172" | AFW301G | G1/2" [ 13 | 3810 | 54 [1748 | 18 | 18 | 9 | 20 | 37 | MEx30 [18.86x3.53| 0.33 | as0
/4" | AFW302G | G3/4" | 19 | 4783 | 65 | 2223 | 18 | 18 | 11 | 24 | 39 | M10x35 |25.00x3.53| 049 350
1" | AFW303G | G1" | 25 | 5237 | 70 [ 2819 | 19 | 19 | 11 | 28 | 44 | M10x35 [32.82x3.53| 066 | 315
114" | AFW304G |G11/4"| 32 | 58.72 | 79 | 30.18 | 21 | 22 115 34 | 52 | M10x40 |37.70x3.53| 1.50 | 250
112" | AFW305G (G11/2"| 38 | 6985 | 93 | 3571 | 26 | 24 (135| 38 | 57 | Mi2x45 |47.22x3.53| 1.65 200
> AFW306G | G2" | 51 | 77.77 | 102 | 4288 | 256 | 27 [135| 42 | 65 | M12x45 |56.75x3.53| 2.00 200
HRA
6000 psi
12" | AFWB01G | G1/2" | 13 | 4049 | 56 [ 1824 | 16 | 19 | @ | 20 | 38 | Mex30 [18.86x3.53| 0.35 | 400
3/4" | AFW602G | GaM4" | 19 | 5080 | 71 | 2380 | 18 | 18 | 11 | 28 | 43 | M10x35 |25.00x3.53| 0.75 | 400
1 AFWED3G | G1" | 256 | 5715 | 79 | 2078 | 21 | 20 | 13 | 34 | 51 | M12x40 |32.92x353| 1.05 400
114" | AFWBD4G (G11/4"| 32 | 6668 | 93 | 31.76 | 26 | 22 | 16 | 38 | 66 | M14xd5 |37.70x3.53| 145 400
112" | AFWB05G |G11/2"| 38 | 79.38 | 110 | 3650 | 25 | 24 | 17 | 42 | 65 | M16x50 |47.2x353| 280 | 400
2" | AFWE06G | G2" | 51 | 96.82 134 | 4445 | 33 | 27 | 21 | 45 | 75 | M20x85 |56.76x3.53| 4.00 | 400

R Specification:

1. {iT#:= Flange only; AFW301G, AFW301G-X

2. LN AR ROZE, WSS M: AFW301GM, AFW301GM-X (i3S kiik: AFW301GU, AFW301GU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE WHRLUE 2= —EH RO

SAE female thread flange with NPT thread FluidConnectors
G
=¥
< e
.
[
AFS-N
# ¥ (Material)
1. T4AQ3458, carbon sieel Q3458
REBEHH Blankoiled  :AFS-N
FMAHSH Yellow zinked  :AFS-N-ASC
HKECH3HEE Cr+3 whits ZInked:AFS-—-N—-CFX
REGWAS NiZnzinked  AFS—N-ZN
2045 AISI 3217304 AFS-N-X
3 AISI 316L AFS-N-XX
normal 2 : B X
flange ?:iﬁf ~ o _dtnurl:m HLA W fi\if THES
i A_[B] € [D[ E [FTGTHT]T [ K | #&bok [0PH odng [MAX-W.P
Inch aﬁﬁﬁi kg | kefom?
172" | AFS301N |NPT122"| 13 | 38.10 | 54 | 1748 [ 46 [ 36 [ 16 [ 19 [ o | MBx30 [18.86x353| 025 | 350
34" | AFS302N [NPT34*| 19 | 47.63 [ 65 [ 2223 | 50 | 38 | 18 | 19 | 11 | M10xa5 [25.00x353| 039 | 350
1" AFS303N | NPT1* | 26 | 5237 | 70 | 26.19 | 55 | 38 | 18 | 22 11 M10x35 |3282x3.53| 049 315
114" | AFS304N [NPT1114"| 32 | 5872 | 79 [ 3018 | 68 | 41 | 21 | 22 | 115 | M10xd0 |37.70x353| 071 | 250
1172 | AFS305N [NPT11/2"| 38 | 60.85 | 83 | 35.71 | 78 | 45 | 25 | 24 | 135 | M12d5 |47.220353| 113 | 200
2 | AFS306N | NPT2* | 51 | 77.77 | 102 [ 42.88 | 90 | 45 | 25 | 30 | 135 | M1245 |5675x353| 1.30 | 200
212" | AFS307N |NPT2172°| 63 | 88.90 | 114 | 50.80 [ 105 | 50 | 25 | 30 [ 135 | M12x45 |69.45x353| 1.60 | 160
3 | AFS30BN | NPT3* | 73 |10638 | 134 [ 61.93 | 124 | 50 | 27 | 34 | 17 | M16x50 |B532x353| 230 | 138
A7
6000 psi
172" | AFSBDIN |NPT172"| 13 | 4049 | 56 | 1824 [ 48 [ 36 [ 16 [ 19 [ 9 | mexa0 |1886x353| 030 | 400
3/4" | AFSG02N [NPT34*| 18 | 5080 | 71 (2380 | 55 | 35 | 21 | 22 | 11 | M10x35 [2500x353| 056 | 400
1" | AFSB0IN | NPT1" | 25 | 67.45 | 81 [27.76 | 65 | 42 | 25 | 22 | 13 | M1245 |3292x353| 085 | 400
11/4" | AFSBOAN [NPT11/47| 32 | 66.68 | 85 | 31.75 | 78 | 45 | 27 | 25 | 15 | M14x50 |37.70x353| 1.21 | 400
1172 | AFSBOSN [NPT11/2"| 38 | 70.38 | 112 [ 3650 | 94 | 50 | 30 | 28 | 17 | M16x55 |47.22353| 180 | 400
2 | AFS606N | NPT2" | 51 | 96.82 | 134 [ 4445 | 114 | 65 | 37 | 32 | 21 | M20x70 |56.75x353| 340 | 400

T8 Specification:

1. {UiT#:2 Flange only: AFS301N, AFS301N-X

2. EEMAFIREKOERE, /E%M: AFS301NM, AFS301NM-X (B HiEiE: AFS301NU, AFS301NU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
3. AFS-N 5 GFS-NFL R 1T iy AFS-N and GFS-N assembled: DFS301N, DFS301N-X

34



SAE RS = —E T # Eimast
SAE female thread flange with NPT thread

FluidConnectors

G D
H c
|t
prreed P oy
"4 R "4
< 4 —] - Y|
S
MASTS
[ M
GFS--N
# ¥} (Material)
1. B4AQ345B, carbon sieel Q3458
MR %E Blank oiled :GFS-N
FHTEUEME Yelowzinked :GFS—N-A3C
FHECH3AEE Cr+3 white zinked:GFS—-N—CFX
HEEM LS Ni-Znzinked  :GFS-N-2ZN
2 44 AISI 321/304 BFS--N-X
3REEH AISI 6L :GFS—N-XX
pormal | g R+$¥  dimension ng |® X
flange | et No. _ s 2 wt | THEEA
; A B [ D E F G H ] M MAXW.P
inch 3?0%& kg | kajor?
12* | GFS301N | NPTH2" | 13 3810 | 54 | 1748 | 48 36 186 19 M8 025 | 350
34" | GFS302N | NPTaa" | 19 | 4783 | 5 | 2223 | m0 36 18 19 M10 | 039 | 350
1" GFS303N | NPTI* | 25 5237 | 70 | 2619 | 55 38 18 22 M10 | 048 | 315
11/4" | GFS304N |NPT11/4*| 32 | 5872 | 70 | 3018 | 68 41 21 2 M0 | 071 250
172" | GFS305N |NPT11/2*| 38 | 6085 | 63 35.71 78 45 25 24 M2 | 1143 | 200
2* | cFs3oeN | NPT2* | 51 7777 | 102 | 4288 | S0 45 25 30 M12 | 130 | 200
212" | GFS307N |NPTZi72*| 63 8890 | 114 | 5080 | 105 | 50 25 30 M2 | 1.60 160
3" | cFs3oeN | NPTZ* | 73 | 10838 | 134 | 8193 | 124 | w0 27 34 M6 | 230 138
ERF
8000 psi
12" | cFseoIN |NPTH2*| 13 | 4049 | 56 | 1824 | a8 38 18 19 M8 030 | 400
4" | GFS602N | NPT3M4" | 19 5080 | 7 2380 | 55 35 21 22 M10 | 056 | 400
1 GFSB03N | NPT1" | 25 | 57.15 81 27718 | 65 42 25 2 Mi2 | 085 | 400
11/4" | GFseo4N |NPT11/4*| 32 | 6668 | o5 | 3175 | 78 45 77 25 M4 | 1.21 400
112" | GFseosN |NPT1172*| 38 | 7938 | 112 | 3850 | o4 50 30 28 M8 | 190 | 400
2 | crssoeN | NPT2" | 51 9682 | 134 | 4445 | 114 | 85 a7 32 M20 | 340 | 400

5L Specification:

L. {UiT¥:= Flange only: GFS301N, GFS301N-X

2. AFS-N5GFS-NAL &1 R AFS-N and GFS-N assembled: DFS301N, DFS301N-X



SAE PIBLE 2 — £ 5B ERAR(0° ) HOOG
SAE female thread flange-80° with NPT thread

()
D

I
-
{ }3‘.‘ jir
gie
:

# ¥} (Material)

AFW--N 1. T¥4NQ3458, carbon stsel Q3458
eE B Blank olled AFW—N
HEWEHR Yellowzinked  :AFW-N-A3C
HFECrH+3EEE Cr+3 white zinkad:AFW=N=CFX
EAEEL4E NiZnzinked  :AFW-N-2ZN

2R AISI 3217304 AFW-N-X
3. %41 AISI 316L AFW-N-XX
normal ; B X
flange ﬁﬁé R-i$%  dimension AR bl BT
size. A [ B C [ D] E [HJ T [ K117 | b [0BHonng [MAX W.P
2R
inch | 4500 pei kg | kgiem?
12" | AFW301IN |NPT12* 13 | 3810 | 54 [ 1748 | 18 | 18 | 9 | 20 | a7 | Mex30 [188ex353| 033 | 3s0
34" | AFW302N |NPT3i4* | 19 | 47.63 | 65 | 2223 | 18 | 18 | 11 | 24 | 39 | M10x35 |25.00x3.53| 049 | 350
1" | APw303N | NPT1* | 25 | 5237 | 70 | 2818 | 19 | 19 | 11 | 28 | 44 | M10x35 |3282xa53| 066 | 315
11/4" | AFW304N [NPT11/47| 32 [ 5872 | 79 | 3018 | 21 | 22 [115| 34 | 52 | M10xd0 [37.70x353| 150 | 250
1172* | AFW305N [NPT11/2"| 38 | 6985 | 93 | 3571 | 25 | 24 [135| 38 | 57 | M12x45 [a7.22x353| 165 | 200
2* | AFW306N | NPT2" | 51 | 77.77 [ 102 | 42.88 | 25 | 27 |135| 42 | 65 | M12x45 |56.75x3.53| 200 | 200
ERF
6000 psi
12 | AFWBOIN |NPT1/2°| 13 | 4040 | 56 [ 1824 | 16 | 19 | 9 | 20 | 38 | Mexao |18.66x353| 035 | 400
34" | AFWB02N |NPT3/4*| 19 | 5080 | 71 | 2380 | 19 | 19 | 11 | 28 | 43 | M10x35 |25.00x353| 075 | 400
1" | AFWB03N | NPT1" | 25 | 57.15 | 79 | 27786 | 21 | 20 | 13 | 34 | 51 | M12x40 |3292x353| 1.05 | 400
11/4" | AFW804N [NPT11/4"| 32 [ 6668 | 93 | 31756 | 256 | 22 | 16 | 38 | 56 | M14xd5 [37.70x363| 145 | 400
11/2" | AFWSBD5N |[NPT11/2°| 38 | 79.38 | 110 | 36.50 | 25 24 17 42 65 M16x50 |47.22x3.53| 2.80 400
2 | AFWB0BN | NPTZ | 51 | 0682 |134 | 4445 | 33 | 27 | 21 | 45 | 75 | M20xe5 |56.75xa83| 4.00 | 400

T &% Specification:

1. {iT#:= Flange only; AFW301N, AFW301N-X

2. BE2E AR EOEE, NESM: AFW301NM, AFW301NM-X (B HliRE: AFW301NU, AFW301NU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE PE0H 2 — R HIRE R HOOG

SAE female thread flange with UN thread FluidConnectors
G
H
ﬂ—E'r
- | e
15
|
AFS-UN
# ¥l (Material)
1. B4Q346B, carbon steel Q3458
RTHRE %M Blank oiled AFS-UN
HEEEMNE Yellowzinked AFS—UN-A3SC
RMCr+3E 8 Cr+3 white zinked:AFS—UN-CFX
REBHMAS NiZnzinked  :AFS—UN-2ZN
2764 AISI 321/304 ‘AFS—UN-X
3R AISI 316L :AFS—UN—XX
fange | /B2 JOHBY dimension A L 3
size. A B C [DJ]E [F[G[HT]I [ K| W&bolt 06K oning |MAXW.P
inch :Eoﬁ'd kg | kgiom?
12 | AFS301UNF |3,"16UNF| 13 [3810| 54 |17.48 | 48 | 36 | 16 | 17 | 9 | Mex30 |[18.86x3.53| 026 | 350
3/4" | AFS302UN |14g~12UN| 19 | 4783 | 65 | 2223 | 50 | 38 | 18 | 23 | 11 | M10x35 [25.00x353| 036 | 350
1" AFS303UN |134g"-12UN| 25 | 5237 | 70 | 26.19 | 56 38 18 23 1 M10x35 |3Z.82x3.53| 043 315
11/4" | AFS304UN [184~12uN| 32 [58.72| 78 |30.18| 68 | 41 | 21 | 23 [11.5| Mm10xd0 [37.70x3.53| 064 | 250
142" | AFS305UN |1%*12uUN| 38 | 6985 | 03 | 3571| 78 | 45 | 25 | 23 [13.5| M12x45 |47.22x353| 1.00 | 200
2* | AFS306UN |2)4"-12uN| 51 | 77.77 | 102 | 4288 | 90 | 45 | 25 | 23 |135| M12x45 |56.75x353| 144 | 200
BES
6000 psi
12" | AFSBOTUNF |%16UNF| 13 | 4049 | 56 (1824 | 48 | 36 | 18 | 17 | 8 | Mmex3o [18.66x353| 031 | 400
34" | AFSBOZUN |1%g-12un| 19 | 5080 | 71 | 2380 | 65 | 35 | 21 | 23 | 11 | m1oxas [25.00x353| 050 | 400
1" | AFSB03UN |1545"12UN| 25 |57.45| 81 [27.76| 65 | 42 | 25 | 23 | 13 | M12«45 |32.02x353| o078 | 400
11/4" | AFS604UN |13¢"12uN| 32 6688 | 05 |31.75| 78 | 45 | 27 | 23 | 15 | M14xS0 |37.70x353| 145 | 400
1172 | AFSBOSUN |1%-12UN| 38 | 79.38 [ 112 | 3650 | 94 | 60 | 30 | 23 | 17 | M16xs5 |47.22xa53| 182 | 400
2 | AFSBDBUN |2%4m12UN| 51 | 9682 | 134 | 44.45 | 114 | 65 | 37 | 23 | 21 | M20x70 |56.75x353| 321 | 400

TEUiY Specification:

1.{fUiT#2 Flange only: AFS301UNF, AFS301UNF-X

2. EZRAGRRR0EE, )54 M: AFS301UNFM, AFS301UNFM-X (EEE Fag#: AFS301UNFU, AFS301UNFU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U

3. AFS-UN5GFS-UNRAD % 2517 W3k AFS-UN and GFS-UN assembled: DFS301UNF, DFS301UNF-X



SAE LU = — K HHIRG

SAE female thread flange with UN thread FluidConnectors
G
H
|t
e 7Y —~W>
=7 N7
< _EI- o] .
' O
18 MASTS
| M
GFS-UN
#1 &l (Material)
1. B4Q3458, carbon stesl Q3458
B 5 Blank oilled *GFS=UN
REEEMNE Yellowzinked GFS—UN-A3C
FECr+3E14¢ Cr+3 white Zinked:GFS—UN—CFX
REEHR &% Ni-Zn zinked :GFS—UN-ZN
278 AISI 321/304 {GFS—-UN-X
3R AISI 316L :GFS—UN-XX
normal : 5 X
fange | 7824 _ hdnksc e R | Tems
size. A E C D E 3 G H 1 M MAXW.P
inch 3?0%& kg | kajor?
12 | GFS301UNF [%~16UNF| 13 | 3810 | 54 | 1748 | 46 | 36 | 18 | 17 M8 | 028 | 350
34" | GFS302UN |1Xg12uN| 19 | 4763 | es | 2223 | s0 | 36 | 18 | 23 | mw0 | 038 | 350
1" | GFS303UN |13¢"12uN| 25 | 5237 | 70 | 2619 | 55 | 38 | 18 | 28 | M0 | 043 | 315
11/4" | GFS304UN [18¢~12un| 32 | 5872 | 70 | 3018 | 88 | 41 | 21 | 23 | M0 | 084 | 250
11/2* | GFS305UN [17%-12uN| 38 | 6085 | 83 | 3571 | 78 | 45 | 25 | 23 | mi2 | 100 | 200
2 | GFS308UN |2w12un| 51 | 7777 | 102 | 4288 | 90 | 45 | 25 | 23 | m12 | 144 | 200
ERA
6000 psi
12" | GFSBOIUNF |%*16UNF| 13 | 4040 | 56 | 1824 | 48 | 38 | 16 | 17 Ma | 031 | 400
34" | GFSB02UN |1%~12un| 10 | 6080 | 71 | 2380 | 65 | 35 | 21 | 23 | mi0 | 060 | 400
1" | GFS603UN |15¢12uN| 25 | 5715 | 81 | 2776 | o5 | 42 | 25 | 23 | m12 | o078 | 400
11/4" | GFSBO4UN [1%-12uN| 32 | 6668 | o5 | 3175 | 78 | 45 | 27 | 238 | M14 | 145 | 400
1172 | GFSB0SUN |17%'-12uN| 38 | 7938 | 112 | 3850 | 94 | 50 | 30 | 23 | M6 | 182 | 400
2 | GFsBOBUN |2%-12un| 51 | 9682 | 134 | 4445 | 114 | 85 | 37 | 23 | m20 | 321 | 400

T8 Specification:

1. fiT#2 Flange only: GFS301UNF, GFS301UNF-X

2. AFS-UN5GFS-UNFC 1T Bymt AFS-UN and GFS-UN assembled: DFS301UNF, DFS301UNF-X

38 -



SAE B HOOG
SAE socket welding flange
G
H
==
¥ =
i
Material
AFS--S 1.@&:&5&. earbznmd Q3458
XERHHM Blank olled AFS-§
254 AIS| 321/304 -AFS-8-X
3FEE AISI316L AFS-8-XX
nomal | pegaig RASH  dimansion Rt wx |B %
ok part No. = = _ Wi
A B c D E FI1G [ HTITI K__| W5 bott 0B oing IMAX.W.P
i | EEA ka | kgiom?
12" | AFs3ois | 2180 | 13 | 3810 | 54 |17.48 | 46 | 38 | 16 | 19 | 8 | mexso |18eex3s3| 025 | 350
34" | AFsaozs | 2720 | 18 | 47683 | 85 | 2223 | 50 | 36 | 18 | 19 | 11 | mi0xa5 |25.00353| 039 | 3s0
%4 |AFS302525| 2530 | 19 | 47.63 | 65 | 2223 | 50 | 36 | 18 | 19 | 11 | mioxas |25.00x353| 030 | a3s0
1" | Ars3a0as | 3400 | 25 (5237 | 70 | 2819 | 55 | 38 | 18 | 19 | 11 | m10x35 |3292x353| 049 | 315
114" AFS304S 4280 | 32 | 58.72 | 79 | 30.18 | 68 41 21 22 11.5 M10x40 |37.70x3.53| 0.71 250
114" | AFsa04s-38 | 38.30 | 32 | 5872 | 70 | 2018 | 68 | 41 | 21 | 22 | 115 | miox40 |37.70x353] 071 | 250
1172 | AFs305s | 4860 | 38 | 69.85 | 93 | 3671 | 78 | 45 | 25 | 24 | 135 | m12xa5 |a722x353| 143 | 200
11/2" |AFS30565-50| 5050 | 38 | 6885 | B3 | 3571 | 78 | 45 | 25 | 24 | 135 M12x45 |47.22x3.53| 1.13 200
2 | Arssoes | 6100 | 51 | 77.77 | 102 | 4288 | 90 | 45 | 25 | 26 | 1356 | m12x45 |s6.75x353| 130 | 200
21/ AFS307S 7660 | 63 | 8890 | 114 | 5080 | 105 | 50 | 25 | 30 13.5 Mi12X45 |69.45X3.53| 1.80 160
3 | AFsa0es | 9050 | 73 10638 | 134 | 6193 [ 124 | 50 | 27 | 34 | 17 | m1exs0 |8s32x353| 230 | 138
312" | Arsaces [103.00| 80 |12065| 152 | ee8s (138 | 48 | 27 | 34 | 17 | m1exso |eso2xas3| 250 | 35
4 | AFs3108 |11550| 99 (13018 | 162 | 72.77 | 146 | 48 | 27 | 34 | 17 | Miexs0 [110.72x353) 290 | 35
5 | AFS311S [142.00| 120 [152.40 | 184 | 02.08 | 180 | 50 | 20 | 28 | 17 | mi1exs5 h3e.12a@s3 400 | 35
EXA
8000 psl
12 | AFse01s | 2160 | 13 | 4040 | 56 | 1824 [ 48 | 36 | 16 | 19| o | mes0 |18sexss3| 030 | 400
4" | AFsso2s | 2720 | 19 | 5080 | 71 | 2380 | 55 | 35 | 21 | 22 | 11 | M1oxa5s |25.00353| 056 | 400
1" | AFsSe03S | 3400 | 25 [ 5715 | 81 | 2776 | 65 | 42 | 25 | 22 | 13 | m12¢5 |3282353| 085 | 400
11/4" AFS604S 4280 | 32 | 6668 | 85 | 31.75 | 7B | 46 | 27T | 25 15 M14x50 |37.70x3.53| 1.21 400
114" | AFs6045-38 | 3830 | 32 | 6668 | 95 | 3175 | 78 | 45 | 27 | 25 | 15 | m1axso |3770xas53| 121 | 400
1172 | AFseoss | 4860 | 38 | 79.38 | 112 | 3650 | 94 | 50 | 30 | 28 | 17 | miexss |a722x353| 190 | <00
11/2" | AFSB05S-50| 50.50 | 38 | 7B.38 | 112 | 3650 | B4 50 | 30 28 17 M16x55 |47.22%x3.53| 1.80 400
2 | AFSB08S | 6100 | 51 | 8682 | 134 | 4445 | 114 | 65 | 37 | 32 | 21 | ma2ox70 |s675x353| 340 | 400
212" | Arseo7s | 7660 | 63 |12383| 180 | 5873 [ 152 | 80 | 45 | 30 | 25 | m24xes |7557x533| 830 | 400
3 | AFse0ss | 9050 | 73 [152.40| 208 | 71.43 | 178 | 90 | 55 | 30 | 32 | M3ox100 |88.27x5.33| 1350 | 400

T Specification:

1.{XiT#:2 Flange only: AFS301S, AFS3018-X

2. BEXEAGRBZOEE, )SEM: AFS301SM, AFS301SM-X (B sSflifi#: AFS301SU, AFS301SU-X)
Flange with bolis and O-ring: for Metric balts with the suffix M and UNC bolts with the suffix U
3. AFS-S 5 GFS-SH! & %174 AFS-S and GFS-S assembled: DFS301S, DFS3018-X

39



SAE iERIRE S HOOG

SAE socket welding flange FluidConnectors
e D
H c
__,-—"""h_
"4 K "4
s gl ko] bt | e
7 D
| 7 /i :n-..\._'l"_/..--—'

GFS-S # %} (Material)
1. B4RQ3458. carbon stesl Q3458
FEEM Blank olled ‘GFS-8
27764 AISI 3217304 :GFS—5-X
AFEA AISI 6L BFS--8-XX
ol iy = = RSB dmension x i
size. A B C D E E [ H i M MAX.W.P
inch ﬁg‘a kg | kglom?
172 | orFs3ao1s | 2180 | 13 | 3810 | 54 | 1748 | 48 38 18 19 M8 | 025 | 350
34" | GFS302s | 2720 | 19 | 4783 | 85 | 2223 | s0 36 18 19 | M10 | 039 | 350
34" |GFS302525| 2530 | 19 | 4763 | 65 | 2223 | s0 38 18 19 | m10 | 039 | 350
1 | oFs3o3s | 3400 | 25 | 5237 | 70 | 2619 | 55 38 18 19 | M0 | 049 | 315
114" | GFs304s | 4280 | 32 | 5872 | 78 | 3018 | @8 a1 21 2z | mw0 | o711 | 250
114" |GFsaoas-3s| 3830 | 32 | 5872 | 79 | 3018 | es 4 21 22 | mi0 | 071 | 250
117" | GFS305s | 4860 | 38 | 6985 | 93 | 3871 | 78 | 45 | 25 | 24 | mi2 | 143 | 200
1172* |GFs305850| 5050 | 38 | 69.85 3571 | 78 | a5 | 25 | 24 | w12 | 113 | 200
2 | GrFsaoes | 6100 | 51 | 7777 | 102 | 4288 | 90 | 45 | 26 | 26 | m12 | 130 | 200
21/ | GFs3o7s | 7660 | 63 | 8890 | 114 | 5080 | 105 | 50 | 25 | 30 | mi2 | 160 | 160
3 | GFsaoes | 9050 | 73 | 10638 | 134 | 6193 | 124 | 50 | 27 | 34 | M6 | 230 | 138
312 | crs30es | 10300 | 89 | 12085 | 152 | 6085 | 138 | 48 | 27 | 34 | M8 | 250 35
4 GFS3108 115.50 99 130.18 162 TI77 146 48 27 M M16 290 35
5 | GFs311s | 14200 | 120 | 15240 | 184 | 9208 | 180 | 50 | 29 | 28 | M18 | 4.00 35
BERA
6000 psi
172 | GFS801S | 2180 | 13 | 4049 | 58 | 1824 | 48 | 38 18 19 M8 | 030 | 400
4" | GFSep2s | 2720 | 19 | 5080 | 71 | 2380 | 55 35 21 22 | mi0o | ose | 4oo
1" | GFse03s | 3400 | 25 | 5715 | 81 | 2776 | &5 | 42 | 25 | 22 | mi12 | 085 | 400
114" | GFseoas | 4280 | 32 | 6668 | 95 | a175 | 78 | 45 27 | 25 | m1a | 121 | 400
114" |GFsSe04s-38| 3830 | 32 | 6668 | o5 | 3175 | 78 | 45 | 27 | 25 | m14 | 121 | 400
112" | GFSB05S | 4860 | 38 | 7938 | 112 | 3650 | 94 50 | 30 | 28 | M6 | 190 | 400
11/2* |GFse05s50| 5050 | 38 | 7938 | 112 | 3850 | =4 50 30 | 28 | M8 | 100 | 400
2 | GFseo6S | 6100 | 51 | 9682 | 134 | 4445 | 114 | 65 37 | 32 | m2 | 340 | 400
217 | GFseo7s | 7660 | 63 | 12383 | 180 | 5873 | 152 | 80 | 45 | 30 | m24 | 830 | 400
3 | oFseoes | 9050 | 73 | 15240 | 208 | 7143 | 178 | 90 | 55 | 30 | Mm30 | 1350 | 400

iTH#1HE Specification:
1. {RiT#2 Flange only: GFS301S, GFS3018-X
2. AFS-S 5GFS-SEL AT IN AFS-S and GFS-S assembled: DFS301S, DFS3018-X



SAE SRR A (90" B)

> i o
SAE socket welding flange-80 FluidConnectors
A
A _ T T
AR ==
Zi O 110
q = {/ Y N .
= B e 2 |
P ‘\-
oK
H c
L1 D
FW ¥k (Material)
AFW--S 1. B4AQ3458, carbon steel Q13458
FE ¥ Blank olled AFW-S
2.7R54 AISI 321/304 AFW--8-X
3R AISI316L AFW=8-XX
nommal | g B8 dmension R R xx (B2
nge part No. _ wy | TfEER
i A B G D E H ] K | [1 [ L2 | W¥ bolt 0B oving |MAXW.P
Inch ﬁfﬁ kg | kgiom?®
12" | AFw301s | 2160 | 13 | 3810 | 54 | 1748 | 16 | 10 | 9 | 20 | 37 | mex30 |1886x353| 033 | 350
" AFW302S5 2T20 | 19 | 4783 | 685 | 2223 | 18 10 11 24 n M10x35 |25.00x3.53| 049 350
1" AFW3035 | 3400 | 25 | 5237 | 70 | 28.18 | 19 12 11 2B 44 M10x35 |32.82x3.53| 0.66 315
114" AFW3045 | 42B0 | 32 | 58.72 | 79 | 30.18 | 21 14 |115] 34 52 M10x40 |37.70x3.53| 1.50 250
112" | AFw30ss | 4860 | 38 | 6985 | 83 | 3571 | 25 | 18 |135| 38 | 57 | M12xd5 |47.22x353| 185 | 200
2 | AFw306S [ 6100 | 51 | 7777 | 102 | 4288 | 25 | 18 |135| 42 | 85 | M12xd5 |56.75x353| 200 | 200
ERA
6000 psi
172" | AFWe01S | 2160 | 13 | 4048 | 56 | 1824 | 16 | 10 | @ | 20 | 38 | Mexs0 [188ex353| 035 | 400
34" | AFwe02s | 2720 | 18 [ 5080 | 71 | 2380 | 19 | 12 | 11 | 28 | 43 | m10x35 |25.00x353| 075 | 400
1" | AFWB03S [ 3400 | 25 | 5715 | 79 | 2776 | 21 | 14 | 13 | 34 | 51 | M12xd0 [32.82x353| 1.05 | 400
114" | AFwe04s | 4280 | 32 | 6668 | 93 | 3175 | 25 | 16 | 15 | 38 | 56 | M14xd5 |37.70x353| 145 | 400
1172 | AFweoss | 4880 | 38 | 70.38 110 | 3850 | 25 | 18 | 17 | 42 | 65 | M16x50 |47.22x353| 280 | 400
2 | AFwB0eS | 61.00 | 51 | 9682 |134 | 4445 | 33 | 18 | 21 | 45 | 75 | M20x65 |56.75x353| 4.00 | 400

I HtLH Specification:

1. fLiT#:2% Flange only: AFW301S, AFW301S-X

2. LR AGRE ZOBE, NESM: AFW301SM, AFW301SM-X (2355 : AFW301SU, AFW301SU-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE MR RIREE HOOG

SAE butt we Idmg "3"99 FluidConnectors
G D
H c
8= D
L=
o ml I ™
s Il & N
% =
)
30°
AFS-T # %} (Material)

1. B4IQ345B, carbon steel Q3458
daxs FmEbieH Blank oiled AFS-T
AR R (hExBEED . RN T ARt 275855 AISI 321/304 :AFS=T-X
BESO. BARFUARAFTEEERE, BTRER P ERiTH. 3B AISI 318L AFS-T-XX

normel | .. bz R4#%  dimension R X | R
fiange No W axwe
inch | PertNo. prees [B] C [ D] E [ F ]G] H] K |@bok] OBl oing| *a | “Rewes|
¥HE% 3000 psl
18x2, 18x2.5, 17.5x2.25, 18x3
112" | AFS301T |20x2 5, 203, 21.6c2.6 13 | 3810 | 54 |1748 | 46 | 36 | 16 9 MBX30 18.66x3.53 | 0.25 350
4" | AFS302T [Fas o o 2 10 | 4763 | 85 | 2223 | 50 | 38 | 18 | 11 | m1oxas | 25.00x3.53 | 039 | 350
1" | AFS303T [oa8 2 ek s 25 | 5237 | 70 | 2619 | 55 | 38 | 18 | 11 | mioxas | 3292x353 | 048 | 315
114" | AFS304T |s2 08 52405, 420 32 |s8.72| 70 | 30.18 | 68 | 41 | 21 [11.5 | m1ox40 | 37.70xa53 | 068 | 250
172" | AFsa0sT [s95 38 (6985 | 93 [ 3571 | 78 | 45 | 25 | 13.5 | m12xas | 47.22x353 | 1.05 | 200
2 | AFS306T [495.3, 80,92, 60.3xd _ 51 | 77.77 | 102 | 42.88 | 90 | 45 | 25 | 13.5 | M12x45 | 56.7:353 | 1.19 | 200
2112 | AFS307T |16 1388 63 | 88.90 [114 | 5080 | 106 | 50 | 25 | 13.5 | M12x45 | 60.45:53.53 | 1.40 | 160
3" | AFs308T [fs: 73 [108.38| 135 | 61.93 | 124 | 50 | 27 | 17 | mexs0 | e5.32x353 | 215 | 138
Bihed, 10x7.1, T0E0
31/2" | AFS308T B9 (120.65|152| 6985|138 | 48 | 27 | 17 M18X50 | 98.02x3.53 | 2.40 35
4" | AFS310T [1156e025 ge [130.18|162| 77.77 | 148 | 48 | 27 | 17 | m1exs0 [ 11072553 | 285 | 35
T Rl
5 |Ars3nT| " 120 [152.40| 184 | 9208 | 180 | 50 | 28 | 17 | M18x55 | 136.12x353 | 400 | 35
HE#% 8000 psl
12" | AFSBOIT [2rExdn S 13 |4040 | 56 [ 1824 | 48 |26 | 18 | 9 | mex3o | 18.8ex353 | 028 | 400
2 m4%MM
34" | AFSB02T |36 5a % 26 0ns b 2e4s 10 [s080| 71 [ 2380 | 55 | 38 | 21| 11 | m1ox3s | 25.00x353 | 050 | 400
1 | AFS603T |30 BT 1. Bunk 5 s 25 (5745 | 81 [ 2776 | 85 | 42 | 25 | 13 | M12x45 | 3292353 | 078 | 400
114" | AFSB0AT |30, 204, €2.08, & 78 | 45 | 27 | 15 | M14xs0 | 3770353 [ 1.20 | 400
172" | AFSBOST |405:85, db 9:10, 48 6553 84 | 50 | 30 | 17 | M16X55 | 47.22x3.53 | 1.65 | 400
2" | AFS806T 618 114 | 85 | 37 | 21 | Meox70 | 56.75x3.53 | 3.45 | 400
21/2" | AFSBOTT |S0cias " 63 [123.83|180 | 58.73 | 162 | 80 | 45 | 25 | M24xas | 75.57x5.33 | 830 | 400
Bix12, 114.3x14.2
i AFSBOBT [114.3x17.5 73 |15240|208| 7143 |178 | B0 | 55 | 32 |M30OX100| B88.27x5.33 | 13.5 400

T8 Specification:

1.{2iT#:22 Flange only: AFS301T-22x3, AFS301T-22x3-X

2. ¥ A A EERR RO M : AFS301TM-22x3, AFS301TM-22x3-X (AC i : AFS301TU-2243-X)
Flange with bolts and O-ring: for Melric bolts with the suffix M and UNG bolts with the suffix U

3. AFS-T5GFS-TH: 31T BT AFS-T and GFS-T assembled: DFS301T-22x3, DFS301T-22x3-X



SAE MR RIREE HOOG

SAE butt welding flange FluidConnectors
G D
H C
N)
"y
‘§ 7 El W L
N
8 5
el
——
GFS--T ¥k (Material)
1. TR#1Q345B, carbon steel Q3458
daxs FERE %M Blank oiled :GFS-T
AE=NA AR (MEsER) | R B TAR30" 254441 AISI 321/304 :GFS=T-X
BEMO. BARTLRAT A, WTHRERERTHE. 3.4 AISI 316L ‘GFS-T-XX
oo | s Rt#®  dimension L R
inch | Pethe. daxs & ] & [ 5] E [ & & B[] N kg | MEae
##£5 3000 psl
127 | GFS301T |0s 2ad 1y aaze 100 13 | 3810 | 54 | 1748 3 | 16 | M8 | 025 | 350

25x3, 28 B3 B, 283
28x4.5

45
/4" |GFsaozr 18 | 4783 | 85 | 2223 | 50 | 38 | 18 | mi0 | 039 | 350
1= GFS303T 25 52.37 70 28.19 55 a8 18 M10 046 315
114" | GFS304T |azs 22 | 5872 | 70 | 3018 | 68 | 41 | 21 | M0 | 086 | 250
11/2* | GFS305T |483 38 | 6985 | 93 | 371 | 78 45 | 25 | m12 | 1.05 | 200
2 GFS308T 5 T7.77 102 42 B8 80 45 25 M12 1.19 200
2172 | Grs307T |1 83 | 8890 | 114 | 5080 | 105 | 50 | 25 | m12 | 140 | 160
3 | GFs3o8T 73 | 10638 | 135 | 6193 | 124 | 50 | 27 | m16 | 245 | 138
312" | GFS309T i s B9 | 12085 | 152 | 69.85 | 138 | 48 27 | M8 | 240 a5
4+ | GFsator [fesaz 99 | 13018 | 182 | 7777 | 148 | 48 | 27 | M18 | 285 | 35
5 | GFsatqT | o . 120 | 15240 | 184 | 9208 | 180 | 50 | 28 | wm16 | 400 | 35
H%7| 6000 psl
12 | GFseo1T 13 | 4049 | 58 | 1824 | 48 | 36 | 16 | M8 | 028 | 400
34" | GFseo2T 19 | 5080 | 71 | 2380 | 55 | 38 | 21 | M10 | 050 | 400
1* | GFS60aT |30k 30 25 | 5745 | 81 | 2778 | 85 | 42 | 25 | m12 | 078 | 400
114" | GFS604T 32 | 6688 | 95 | 3175 | 78 | 45 | 27 | m14 | 120 | 400
1172" | GFS60ST |48 36 | 7038 | 112 | 3850 | 84 | 50 | 30 | M6 | 1.65 | 400
> | GFs60sT |58 51 | 9682 | 134 | 4445 | 114 | 65 | 37 | M20 | 345 | 400
2112 | GFS607T 63 | 12383 | 180 | 5873 | 152 | 80 | 45 | m24 | 830 | 400
3 |cFseosT Imh?f' s 73 | 15240 | 208 | 7143 | 178 | 90 | 55 | m3o | 135 | 400

THi%E Specification:
1. fUiTH:2 Flange only: GFS301T-22x3, GF8301T-22x3-X
2. AFS-T5GFS-TRE/RE T 1T AFS-T and GFS-T assembled: DFS301T-22x3, DFS301T-22x3-X



SAE MBRIBRE 2 (90° ) HOOG

s ¥ - ; a
SAE butt welding flange-90 FluidConnectors
#da
s
o f/: (E ]
3 Al | -
A7 e
q 7 r\/ Y N
= DL
N N
2K
H c
L1 D
AFW--T £ (Material)

1. #41Q3458, carbon steel Q3458
daxs FIERBi S Blank olled AFW=T
AR ZRRHER A RN OMExER) |, FEEERR FiRao 27854 AISI 321/304 AFW-T-X
B0, FERFFARATRERRE, BaHEEHE ERITH. 3. 7540 AISI 316L tAFW-T-XX

::“‘mi' R R#%  dmension REFIR TR
Inch part No. daxs [B] G [ D] E [ H ] K|[Li[L2|&eoot|oplomg| K |“Rome
¥R5 3000 psi
72 | AFW301T [320 2? 13 | 3810 54 |1748| 16 | 8 | 20 | 37 | m8x30 | 18.66x353 | 0.33 | 350
a4 | AFwap2T [R5 T 19 | 4763 65 |2223| 18 | 11 | 24 | 39 | M10X35 | 25.00x353 | 048 | 350
T | AFWS03T [35% s 25 (5237 | 70 |26.18| 19 | 11 | 28 | 44 | M10X35 | 32.92x353 | 0.66 | 315
114" | AFW304T [0 24 32 |5872( 70 |30.48| 21 [11.5( 34 | 52 | M10X40 | 37.70x3.53 | 120 | 250

42.4x4, 48.3%4.5
11/2" | AFW305T [(22%- S 38 |69.85 | 83 |3571| 25 (135 38 | 57 | M12X45 | 47.22x353 | 1.65 | 200
2 | AFW308T [3032%. 51 |77.77 | 102 | 4288 | 25 |135| 42 | 65 | M12X45 | 56.75x3.53 | 2.00 | 200
I#RF 6000 psl
12" | AFWBOTT |25 848 13 |4049| 56 |1824 | 16 | 9 | 20 | 38 | MBX30 | 18.66x3.53 | 0.35 | 400
" 26%3, 25%4
34" | AFWB02T [2P0.2% 19 [50.80 | 71 |23.80| 19 | 11 | 28 | 43 | M10X35 | 25.00x353 | 0.70 | 400
1" | AFweosT |3 508 308 25 |57.45| 79 |27.76| 21 | 13 | 34 | 51 | Mi2x40 | 32.92x353 | 1.00 | 400
118 | AFWEOAT |Bse tosms 32 |e668 | 03 [31.75| 25 | 15 | 38 | 56 | M14X45 | 37.70x3.53 | 140 | 400
3825, 48.3x8
1172 | AFWB0ST [So. 0% 38 | 79.38 [ 110 | 3650 | 25 | 17 | 42 | 85 | M16X50 | 47.22x353 | 2.80 | 400
2 | AFWB0BT |fia e 51 |96.82 | 134 |4445| 33 | 21 | 45 | 75 | M20X85 | 56.75x3.53 | 4.00 | 400

it Specification:

L. f3T#= Flange only: AFW301T-22x4, AFW301T-22x4-X

2, Y 2L i MR AR RO 1B : AFW301TM-22x4, AFW301TM-22x4-X (B8 HkREE:  AFW301TU-22x4-X)
Flange with bolts and O-ring: for Mefric bolts with the suffix M and UNC bolts with the suffix U



SAE g [ ki 5 2 HOOG

SAE suction hose flange FluidConnectors
G
H ——
N Y 3
3 2 °
o . . Y 1
|
Ll
SHFL
¥k (Material)
#41458, carbon steel C45
PR Blank oiled :SHFL--
RMHUEESIE Yallowzinked  :SHFL-A3C
FEMEMOr+3H# Cr+3 white zinked:SHFL--CFX
RMFFH S N-Zn zinked SHFL-ZN
normal ; B X
RS Ri#%  dimension A pE
flange THEH
size. il A TBET C TP E T FICT AT K | Wb [P ommg| ' |MAXWP
inch kg | koiem®
z SHFL-306-62 62 77.77 | 103 | 4288 | 70 | 70 | 16 | 136 | M12x35 |56.76x3.53| 096 | 10

21 SHFL-307-62 82 88.90 | 114 | 5080 | 84 | 70 | 19 | 185 | M12X40 |69.45X3.53| 1.24 10

3 SHFL-308-91 81 106.38 | 136 | 61.93 | 106 | 70 | 17 | 17.0 | M16x50 |B85.32x3.53| 1.58 10

& 38 8 &

aw SHFL-309-116 116.5 120.65| 151 | 69.85 | 139 | 90 | 18 | 17.0 | M16x50 |98.02x3.53| 3.29 10

TRV Specification:
L. {0iT#2 Flange only: SHFL-308-62
2. A REEE R oMEE, /58 M: SHFL-308-62M, (Ei==Hligis: SHFL-306-62U)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



SAE fEEER IR 2 HOOG

SAE socket welding flange 500 psi

s % wl
A\ &
V] "‘"'h-...______ _"__..--F/
| 2K
AFC--S
# % (Material)
1. B4AQ345B, carbon steel Q3458
RE¥IEEH Blank olled :AFC-S
2. 74K AISI 321/304 :AFC—8-X
IEES AISI316L AFC=S-XX
o s RE8%  dmension A x R
sizs. ' A B © 1 D1 E [ F T H T | K | W& bot | GEN onng [MAX.w.P
Inch 500 psi kg | kofem?
172 | AFcaois | 2160 | 15 | 3810 | 54 |1748| 48 | 10 | 3 | 9 | mexzs | 1866x353 | 042 | 40
34" | AFC3028 [ 2720 | 20 | 4783 | 65 | 2223 | s0 | 12 | 4 | 11 | Miox30 | 25.00x353 | 020 | 40
1 AFC3038 | 3400 | 20 | 5237 | 70 | 2819 | 6o | 12 | 4 | 11 | mioxs0 | 32982353 | 025 | 40
114" | AFC3045 |4280 | 34 | 6872 | 79 | 3018 | 68 | 12 | 4 | 115 | miox30 | 3770353 | 031 | 40
11/2* | AFC3055 | 4860 | 42 | 6085 | 93 | 3571 78 | 15 | 4 |135| mM1235 | 47.22x353 | 050 | 40
2 AFC3068 | 6100 | 53 | 7777 | 102 | 4288 | 90 | 15 | 4 |135| mi2x35 | 5675353 | 059 | 40
212" | AFcaors | 7700 | 64 | 8890 | 114 | 5080 | 105 | 15 | 4 | 135 | M12x35 | 69.45%3.58 | 072 | 40
3 AFC3085 | 8050 | 80 |108.38| 134 | 6103 | 124 | 20 | 5 | 17 | Miexd0 | 8532353 | 125 | 40
312* | Arc3oss |108.00| 3 |12065| 152 | 60.85 | 136 | 20 | &5 | 17 | Miexd0 | 98.02x353 | 150 | 35
Fu AFC3108 | 11550 | 105 |130.48| 162 | 7777 | 146 | 25 | 6 | 17 | Miexd5 | 11072353 | 2145 | 35
5 AFC3118 | 142.00 | 1268 |15240| 100 | 8208 | 170 | 28 | & | 17 | M1ex45 | 136.12x353 | 300 | 35

THE Specification:

1. fiT#:2 Flange only: AFC3018, AFC3018-X

2. AR ZOERE, MSSM: AFC301SM, AFC301SM-X (EEiRiE: AFC3018SU, AFC301SU-X)
Flange with bolts and O-ring: for Meatric bolts with the suffix M and UNC bolts with the suffix U

3. AFC-S5GFC-SE B & 1T W AFC-S and GFC-8 assembled: DFC3018, DFC3018-X



SAE R I %2 HOOG
SAE socket welding flange 500 psi
D
C

A
0>

D Vi €
El /— wi
\ .
?
/ hh"""-..._ R,
M
GFC--S
# % (Material)
1. BFIQ3458, carbon steel Q3458
X% Blank olled ‘GFC-S
2.7R4B4H AISI 321/304 :GFC-8-X
IS AISI316L (BFC=8--XX
normal & B
flange 7 pﬁ%:} Fr&ik dimension %} THER
size. A B C B E F H I M [MAX.W.P
Inch 500 psi kg | kafo?
12" | GFC301S 21.60 15 38.10 54 17.48 48 10 3 MB | 012 | 40
34" | GFC3028 27.20 20 47.63 65 2223 50 12 4 Mic | o20 | 40
1 GFC303S 34.00 29 5237 70 28.19 80 12 4 Mic | o025 | 40
114" | GFC304S 42.80 34 58.72 79 30.18 68 12 4 Mio | 031 | 40
1/2" | GFC30s8 48.80 42 69.85 93 35.71 78 15 4 Mi2 | 050 | 40
- GFC306S 61.00 53 77.77 102 4288 80 15 4 Mi2 | ose | 40
212" | GFGC307S 77.00 64 88.90 114 50.80 105 15 4 M1z | 072 | 40
3 GFC3088 80.50 80 106.38 134 61.93 124 20 5 Mg | 125 | 40
312* | GFc3es | 103.00 93 120.65 152 69.85 136 20 5 Mi6 | 150 | 35
4 GFC3108 | 11550 105 130.18 162 .77 146 25 6 Mig | 215 | 35
5 GFC3118 | 142.00 126 152.40 180 92.08 170 28 8 Mg | 300 | 35

iTHEH Specification:

1. fiTH:2 Flange only: GFC3018, GFC3015-X
2. AFC-8 5 GFC-SIE R F1T W AFC-S and GFC-S assembled: DFC3018, DFC3018-X



SAE %3 HOOG

SAE closed flange
3 D
c
= -
[TV e TS
7 ; &
) N I
oK
#4 ¥ (Material)
1. B4AQ3458, carbon siesl Q3458
AFC KRG Blankolled  :AFC
FHEPEEiE Yeollowzinked AFC-A3C
RECr+3EI8E Cr+3 white zZinked:AFC—CFX
REEE AL NizZn zinked ‘AFC=ZN
2R84 AIS| 321/304 AFG-X
3449 AlSI 316L AFC—XX
pormal | gy RE8%  dmension A px %
size. s c ) E F A K WE ol | BB oang | |MAxwP
Inch 3?%’; kg | kol
1w | AFcaol | 3810 54 17.48 % 16 9 MBx30 | 18.86x3.53 | 024 | 350
3" | AFcaoz | 473 85 2223 50 18 11 | mioxas | 2500x353 | 030 | 350
1 AFC303 | 5237 70 26.19 80 18 11 | miox3s | 3292353 | 045 | 315
114" | AFcaos | 5872 79 30.18 68 18 115 | Mioxdo | 37.70xa53 | 0eo | 250
1172 | AFcsos | 6985 93 35.71 78 20 135 | M12xd5 | 47.22x353 | 083 | 200
* AFC306 T7.I7 102 42 88 a0 20 13.5 M12x45 56.75x3.53 1.16 200
212" AFC307 BB.BO 114 50.80 105 20 135 M12X45 89.45X3.53 1.40 160
| Arcaoe | 10838 | 134 | 6193 | 124 24 175 | miexs0 | 8532a53 | 235 | 138
a1 | AFc30s | 12085 | 152 | es8s | 136 22 175 | M16x50 | 88.02a53 | 320 | 35
a | arcato | 13018 | 182 | 7T | 146 25 175 | M1exs0 | 11072353 | 380 | 35
5 AFC311 | 15240 | 190 | e208 | 170 28 175 | M16x55 | 136.12x353 | 420 | 35
R
8000 psi
1wz | AFceol | 40.49 56 18.24 a8 18 g M8x30 | 18.66x3.53 | 025 | 400
a4 | AFceoz | 5080 71 23.80 80 18 11 | miox3s | 2500353 | 048 | 400
1 AFCS03 | 57.15 81 2776 70 24 13 | Mm12u5 | 3292@53 | 077 | 400
114" | AFcen4 | 66568 95 3175 78 27 15 | M14xs0 | 37700853 | 143 | 400
1172 | arceos | 7ass | 112 | 38s0 94 30 17 | miexs0 | 47.22x353 | 180 | 400
= | arceoe | eee2 | 134 | 4445 | 114 28 21 | m2ox85 | s6.75x353 | 240 | 400
2127 | AFceor | 12383 | 180 | se7s | 152 45 26 | M2ax80 | 75.57x533 | 530 | 400
3 | AFceos | 15240 | 208 | 7143 | 178 55 32 | M3ox100 | e8.27x5.33 | 000 | 400

*% 7 STk H=35%1# For this part H=35 also can be supplied
{TH# 5 Specification:
1. {0iT#¥:2 Flange only: AFC301, AFC301-X

2. R AR RO, )ESM: AFC301M, AFC301M-X (RCXMHiEE: AFC301U, AFC301U-X)
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolis with the suffix U



SAE 522 HOOG
closed flar ge FluidConnectors
N D
c
f’r-'\ I.'\\
74 p"
/_ [TV e TS
D
A hh"""-..._ __.-—-'"""/
M
#4 ¥} (Material)
1. BAQ345B, carbon steel Q3458
GFC RTEREEN Blank alled :GFC
REPEFHE Yolowzinked :GFC-A3C
FECr+34E Cr+3 white zinked:GFC-—-CFX
REEEAS NiZn zinked :GFC=ZN
2754 AISI 321/304 :BFC-X
S AISIS16L :BFC-XX
normal - X
?E:ge 7 pﬁ%:} R?{#ﬁ dimension ?GE THESN
. [+] D E F H M MAX.W.P
BEA
Inch 2000 rel kg kg/om’®
172 GFC301 38.10 54 17.48 45 18 M8 0.24 350
4" GFC302 4783 85 2223 50 16 M10 0.30 350
1 GFC303 52.37 70 26.19 80 19 M10 0.45 315
11/4" | GFC304 56.72 79 30.18 88 18 M10 0.60 250
112" | GFC305 69.85 83 35.71 78 20 M12 0.83 200
P GFC308 77.77 102 42.88 90 20 M12 1.18 200
21 GFC307 8B8.90 114 50.80 105 20 M12 1.40 160
a GFC308 106.38 134 61.93 124 24 M16 2.35 138
312" | GFC309 120.65 152 69.85 136 22 M16 3.20 35
L GFC310 130.18 162 77.77 146 25 M16 3.80 35
5 GFC311 152.40 190 92.08 170 28 M16 4.20 35
&5
6000 psi
1z GFCB01 40.49 56 18.24 48 16 M8 0.25 400
34" GFCB02 50.80 7 23.80 80 19 M10 0.48 400
1" GFCB03 57.15 81 27.78 70 24 M12 0.77 400
14" | GFCB04 66.68 85 31.75 78 27 M14 1.13 400
112" | GFCBOS 70.38 112 38.50 o4 ap M16 1.80 400
b GFCB08* 96.82 134 4445 114 28 M20 2.40 400
212" | GFceo7 123.83 180 §8.73 152 45 M24 5.30 400
3 GFCB08 152.40 208 71.43 178 55 M30 9.00 400

*% 7 ST 4k H=3551# For this part H=35 also can be supplied
{T# 5 Specification:
1. {0iT¥2 Flange only: GFC301, GFC301-X



SAE s (HAR) HOOG

SAE flange with testing-point-straight FluidConnectors
H
E
Pra
NS e S
& & L
% ot
ay \.ﬂ]
K--—
AFC--G1/4 #EL (Material)
1. Bi#Q345B, carbon steel Q3458
REHG B Blankolled  AFC-G1/4
RIS Yellowzinked  :AFC—G1/4—A3C
FWCr+354E Cr+3 white zinked:AFC—G1/4—CFX
REFHRAS NH-Znznked  :AFC-G1/4-2ZN
MO EEFL 2, ki =, &5 AFC-M10x1 265461 AISI 3217304 AFC-G1/d=X
Test Point M10x1 also can be supplied, part No. AFC-M10x1 3.7 AISI 3161 AFC—G1/4-XX
normal B X
flange ?;3%‘3 R8#% dimension EFERHE ﬂn THEH
il G D E E H K T bolt_|_08H oTin |max w.p
BR7
inch | 3000 pel kg | koo
12" |AFC3oi-G1/4| 38.10 54 17.48 48 18 g Mex30 | 18.66x353 | 020 | 350
34" | AFC302-G1/4| 4763 85 2223 50 16 11 M10x35 | 25.00x3.53 | 030 | 3s0
1" | AFC303-G1/4| 52.37 70 26.19 60 19 1 M10x35 | 32.92x353 | 037 | 35
114" | AFC304-G1/4| 58.72 79 30,18 68 18 1.5 M10x40 | 37.70x353 | 054 | 250
11/2* | AFC305-G1/4| 69.85 83 35.71 78 20 135 Mi2x45 | 47.22x353 | 080 | 200
2* | AFC308-G1/4| T77.77 102 42.88 80 20 135 Mi2x45 | 56.75x353 | 1.00 | 200
21/2" | AFC307-G1/4| BB.9D 114 50.80 105 20 13.5 M12X45 | 69.45%3.53 | 1.35 | 160
3" |AFC308-G1/4| 106.38 134 61.93 124 24 17.5 M16x50 | 85.32x353 | 215 | 138
31/2" | AFC309-G1/4| 120.85 152 69.85 136 2 17.5 M16x50 | 98.02x353 | 2.90 a5
4* | AFC310-G1/4| 130.18 162 7177 148 25 17.5 M18x50 | 110.72x3.53 | 3.60 a5
5" |AFC311-C1/4| 15240 190 92,08 170 28 17.5 M16x55 | 136.12x353 | 4.00 a5
EEH
000 psl
1/2* | AFCB01-G1/4| 40.49 56 18.24 48 16 g Mex30 | 18.66x3.53 | 020 | 400
3/4" | AFCB02-G1/4| 50.80 71 23.80 80 19 1 M10x35 | 25.00x3.53 | 048 | 400
1" | AFCE03-G1/4| 57.15 81 27.76 70 24 13 M12x45 | 32.92x353 | 077 | 400
11/4" | AFCB04-G1/4 | 66.68 05 N7 78 27 15 M14x50 | 37.70x353 | 113 | 400
11/2" | AFCB05-G1/4| 79.38 112 36.50 94 30 17 M16x50 | 47.22x353 | 1.80 | 400
2" | AFCE06-G1/4| 96.82 134 44.45 114 28* 21 M20x85 | 56.75x3.53 | 240 | 400
21/2" | AFCB07-G1/4| 123.83 180 58.73 152 45 26 M24x80 | 75.57x5.33 | 630 | 400

*37 W u] fEH=3531#% For this part H=35 also can be supplied
THAE Specification:
1. fLiT#:2 Flange only; AFC301-G1/4, AFC301-G1/4-X, AFC301-M10x1, AFC301-M10x1-X

2. R EATIRER OB, 5% M: AFC301-G1/4M, AFC301-G1/4M-X (Bl 2658 f:: AFCI01-G1/4U, AFC301-G1/4U-X)
Flange with bolts and O-ring: for Metric bolts with the sufflx M and UNC bolts with the suffix U



3 AL ’ 4 %
SAE MES% (A7 R) HOOG
3 | * L O
2 : D /1
: ; n]
~ai L ] L] 77 A
I EH L ‘W
Ly N Ly WL/ r“\ Ay “
e Ly L L A,
5 NS
\ // A L
~~b] | | A
¥B B8
oK #K
Form A Form B
AGL--G1/4
#¥E (Material)
1. R41Q3458/45#, carbon steel Q345B/C45
F#HIRET S Blank olled AGL--G1/4
RIHSSEH Yellowzinked AGL-G1M4-A3C
EHCr+35% Crt+3 white zinked:AGL--G1/4—CFX
; RME4ES4E& Ni-Zn zinked ‘AGL-G1/4-ZN
A HEMA0 L2, Rt f &8 % AGL-M10x1 254 AISI 3217304 AGL-G1/4—X
Tast Point M10x1 also can be supplied, part No. AGL-M10x1 SAGE] AISI 316L AGL~G1/4-XX
normal % X
farge |  TRmS R+$%  dimension 2E | e
Biza. B [ D E F H K MAXW.P
BRI
inch o0k kg kgl
12" | AGL301-G1/4 13 38,10 55 17.48 46 24 g 0.32 350
34" | AGL202-G1/4 19 47.63 65 22.23 50 24 1 0.37 350
1" AGL303-G1/4 25 5237 71 26.19 60 24 11 0.47 315
114" | AGL304-G1/4 32 58.72 79 30.18 88 24 125 0.57 250
112" | AGL305-G1/4 38 60.85 03 35.71 78 24 135 0.80 200
= AGL306-G1/4 51 77.77 102 42.88 80 24 135 0.94 200
212" | AGL307-G1/4 63 88.90 114 50.80 105 25 135 122 160
BRI
6000 psi
12" | AGLB01-G1/4 13 40.49 55 18.24 45 24 9 0.32 400
38" | AGLE02-GA/4 19 50.80 71 23.80 80 24 11 0.50 400
1" AGLB03-G1/4 25 57.15 81 27.76 70 24 13 0.66 400
114" | AGLB04-G1/4 az 66.68 85 31.75 80 24 15 0.86 400
112" | AGLBO5-G1/4 38 79.38 112 38.50 94 24 17 1.25 400
ol AGLB06-G1/4 51 96.82 134 44 45 114 24 21 2.46 400

528 Specification:
1. 0iT#2% Flange only: AGL301-G1/4, AGL301-G1/4-X, AGL301-M10x1, AGL301-M10x1-X



i e . :
SAE $:#5% (B ) HOOG
SAE transforming flange-straight T ——
H F F
E1l Ei
7 Sie, e
@ A\\ 'Q fan?
it N ] AN
=2 \.w/ @ 7
- wfﬁ Jlan A I7an
ol NP/ NP/
[y o A
Form A Form B
G-AF #E (Material)
1. BE4RQ3458/45#, carbon steel Q345B/C45
FE RN Blank olled ‘G-AF
FEWEHEIE Yollow zinked  :G-AF-A3C
FECr+35#E Cr+3 white zinked:G-AF-CFX
HIBEASE Ni-Zn zinked {5-AF=2ZN
286 AISI 321/304 ‘G-AF-X
3G AISI 316L :G-AF-XX
pomal | mems R{S%  dmension S ux X, =
i ge part No. wi TAEEN
B B1/B2] C1 c2 [ D E1 E2 F | H ] K | M | B bolt | /ZH oring |MAX.W.P
ih | senra kg | kgiem’
34™1/2" |G-AF-302/301|19/13 | 47.63 | 38.10 | 67 |2223 (1748 | 56 | 28 | 11 | MB | M10x35 | 25.00x3.53 | 081 | 350
1-3/4" |G-AF-303/302|25/19| 52.37 | 47.63 | 72 | 26.19 (2223 | 65 | 30 | 11 [M10| M10x35 | 32.92x3.53 | 084 | 315
11/4™1" |G-AF-304/303| 32/25| 58,72 | 52.37 | 80 | 30.18 | 26.19| 70 | 30 [11.5 [M10 | M10x40 | 37.70x3.53 | 1.00 | 250
11/2"-11/4" |G-AF-305/304| 36732 | 60.85 | 58.72 | 95 | 35.71 | 30.18 | B0 | 30 |13.5 |M10 | M12x45 | 47.22x353 | 1.33 | 200
2"-11/2" |G-AF-306/305(51/38 | 77.77 [ 69.65 | 100 | 42.88 | 35.71| 95 | 30 |13.6 [M12 | M12x45 | 56.75x3.63 | 164 | 200
2"11/4" |G-AF-306/304| 51/32| 77.77 | 58.72 | 100 | 4288 | 30.18 | 85 | 30 |13.5 |M10 | M12x45 | 56.75x3.53 | 1.75 | 200
21/2"-2" |G-AF-307/306| B3/51| 88.90 | 77.77 | 114 | 50.80 | 42.88 | 108 | 35 |13.5 |M12 | M12X45 | 69.45X3.53 | 249 | 160
21/2"11/2"|G-AF-307/305| 63/38 | 88.90 | 69.85 | 114 | 50.80 | 35.71| 109 | 35 [ 13.56 [M12 | M12xd5 | 69.46x3.53 | 263 | 160
32" |G-AF-308/306| 73/51(106.38| 77.77 | 134 | 61.93 | 42.88 | 114 | 40 | 17 [M12 | M16x50 | 85.32x3.53 | 346 | 138
3"21/2" |G-AF-308/307| 73/63 |108.38| 88.90 | 134 | 81.93 | 50.80 | 114 | 40 | 17 |M12 | M16X50 | B5.22x3.53 | 3.24 | 138
E#RF
8000 psi
"1/2" |G-AF-602/601|19/13 | 50.80 | 4049 | 70 | 2380|1824 | 56 | 28 | 11 | MB | M10x35 | 25.00x3.53 | 068 | 400
3/4™3/4" |G-AF-802/602| 19 |50.80 5080 | 70 | 2380 |2380| 70 | 28 | 11 |M10| M10x35 | 25.00x3.53 | 0.87 | 400
1314~ |G-AF-603/602| 25/19| 57.15 | 5080 | 81 |27.76 (2380 | 70 | 30 | 13 |M10| M1245 | 32.92x353 | 1.02 | 400
11" |G-AF-803/603| 25 |57.15|57.15| B1 |27.76 (2776 | 75 | 36 | 13 |M12 | M12x45 | 3282353 | 1.22 | 400
11/4™1" |G-AF-604/603| 32/25| 66,68 | 57.15 | 100 | 31.75 | 27.76 | 83 | 35 | 15 |M12 | M14x40 | 37.70x3.53 | 1.75 | 400
11/4"-11/4" |G-AF-B04/604| 32 | 6668 | 6668|100 [31.75 | 31.75| 680 | 35 | 15 |M14 | M14x50 | 37.70x3.53 | 184 | 400
11/2"-11/4" |G-AF-B05/804| 38/32 | 70.38 | 6688 | 113 | 36.50 | 31.75 | 95 | 48 | 17 |M14 | M18X55 | 47.22X3.53 | 3.090 | 400
11/2"-11/2°|G-AF-605/605| 38 |79.38 | 79.38 | 113 | 38.50 | 36.50 | 113 | 50 | 17 |M18 | M16x55 | 47.22x3.53 | 3.85 | 400
2"11/2" |G-AF-B0B/605|51/38| 96.82 | 79.38 | 140 | 4445 | 3650 | 125 | 80 | 21 |M16 | M20x60 | 56.75x3.53 | 613 | 400
21/2"-2" |G-AF-807/606| 63/51|123.83| 96.82 | 180 | 58.73 | 44.45 | 152 | 70 | 25 |M20 | M24X80 | 75.57x5.33 | 10.54 | 400

52



SAE #3452 (90° &)

. o
D
[}
1T T 7 7
i | G
3 : N g 7
1 1 1 1 E} ) £
LB k -/ L 4 e
LEDY Fan Y M-
al [P W 2 7
| ] bal| /
L1 {1 A
1 #B81
¥ 71 M
[ ¥ &l (Material)
Yl o = L-GD 1. B4RQ34SR/ASH, carbon steel QA45B/CAS
2 It RTHEHH Blank oiled L-GD
1] ARSI Yollowzinked  :L-GD-A3C
Ll ' | FEECr+3&4 Cr+3 white zinked:L-GD—-CFX
y ' EEREESS NeZnzinked  L-GD-2N
27664 AlSI 3217304 1-GD-X
3R AISI 6L L-GD-XX
ol i Re#%  dimension LT b
size. P BT e T T D T B B2 [F 6 KT W | 5152 W bk [0BN oing] " [MAXWP
37
Inch 00 kg | kglom?
1242 | L-Gpao1 | 13 |38.10|38.10| 55 [17.48|1748 (55 | 50| o | Ma | 25 | a5 | maxes |18.66x3.53| 1.00 | 3s0
434" | L-GD-302 | 19 |47.63|47.63| 65 |2223|2223|60 60| 11 |M10| 30 | 40 | M10x75 | 25.00x3.53 | 1.20 | aso
"-1/2" |L-GD-302/301| 18/13 | 47.63|38.10| 65 |2223(1748 |60 |60 | 11 | M8 | 30 | 40 | M10x75 | 25.00x3.53 | 1.20 350
11" | LGD303 | 25 |5237|52.37| 72 |26.19|26.19 |65 [65] 11 |M10| 33 | 40 | M10x80 | 32.92x3.53| 1.0 | 315
1"3/4" |L-GD-303/302| 2519 | 52.37 | 47.63| 72 |26.19|22.23| 65 [ 85| 11 |M10| 33 | 40 | M10x80 |32.92x3.53| 1.90 | 315
11/4"-11/4"| L-GD-304 32 |58.72|58.72| 82 |30.18]|30.18 80 |11.5|M10| 39 | 38 | M10xB5 | 37.70x3.53 | 3.50 250
11/4"1"  |L-GD-304/303| 32725 | 58.72 | 52.37 | 82 |30.18|26.19| 80 | 80 |11.5| M10 | 39 | 38 | M10xe5 | 37.70x3.53| 350 | 250
11/2-11/2°| L-GD-305 | 38 |609.85|e0.85| 88 |35.71|35.71| 02 | 92 [13.5| M12| 51 | 58 [M12x110| 4722053 5.00 | 200
11/2°-11/4"|L-GD-305/304| 36/32 | 69.85 | 58.72 | 98 | 35.71/|30.18| 92 | 92 |13.56| M10 | 51 | 50 |M12x110|47.22x363| 6.00 | 200
22" | L-GD306 | 51 |77.77|77.77|102|42.88|42.88 85 | 67 [13.5| M12 | 51 | 48 [M12x110| s6.75x3.53| 7.90 | 200
2"-11/2°|L-GD-306/306| 51/38 | 77.77 | 60.85 [ 102 | 42.88 | 35.71| 85 | 87 [13.5| M12| 51 | 48 [M12x110|56.75x3.53| 7.80 | 200
21/z21/"| L-GD-307 | 63 |88.90|88.90115|50.80(50.80 |110[120|13.5| M12 | 60 | 65 [M12x140|B0.45%3.53| 860 | 160
212"  |L-GD-307/306{ 63/51|88.90 | 77.77 | 116 | 50.80 | 42.88 |110[120| 13.5 | M12 | 60 | 65 [M12x140| 69.45x3.53 | 860 | 160
33" | LGD308 | 73 [106.38(106.38| 135 | 61.93 | 61.93 |150|135|17.5 | M16 | 67 | 90 |M16x160| 865.32x3.53| 10.5 | 138
3"-21/2°|L-GD-308/307| 73/63 [106.38| 88.90 | 135 | 61.93 | 50.80 |150|135|17.5 | M12 | 67 | 90 |M16x150| 85.32x3.53| 105 | 138
BRI
6000 psi
12 | LGDeo1 | 13 |4049|4040| 60 [18.24|18.24 |60 |50| o | M8 | 25 | 40 | mexso |18.66x3.53| 1.00 | 400
a/4~3/4" | 1-Gb-602 | 18 |50.80|50.80| 72 |2380|23.80|60 (55| 11 |mi0| 32 | 38 | M11x70 | 25.00x3.53| 1.00 | 400
/412" |L-GD-802/601| 19/13 | 50.80| 40.49| 72 | 2380|1824 |60 55| 11 | M8 | 32 | 38 | M10x70 | 25.00x3.52 | 1.40 | 400
11" | LGD603 | 23 |67.15|57.15| 82 |27.78|27.76| 68 | 64 | 14 |M12| 37 | 40 | M12x80 | 32.92x3.53 | 2.30 | 400
134" |L-GD-802/602| 23119 | 57.15|50.80| 82 |27.76|23.80| 68 [ 64 | 14 |M10| 37 | 40 | M12x80 | 32.92x3.53 | 2.30 | 400
11/4-11/4"| L-GD-604 | 30 |66.68|66.68| 96 |31.75|31.75| 76 | 72| 16 [M14 | 41 | 48 | M14x90 | 37.70x3.53| 3.30 | 400
11/4-1"  [L-GD-604/603| 3023 |66.68 | 57.15| 96 |31.75|27.76| 76 | 72| 16 [M12| 41 | 48 | M14xs0 |37.70x3.53| 3.30 | 400
11/2-1112*| L-GD-605 | 38 |79.38|79.38|114 |36.50|36.50| 86 |89 | 18 |M16| 50 | 52 |Miex110|4722353| 5.40 | 400
11/2°-11/4" |L-GD-805/604| 38/30  79.38 | 66.68 | 114 | 36.50 | 31.75 | 86 | 89 | 18 | M14 | 50 | 52 |M16xi10|47.22x353| 5.40 | 400
22 | LGD806 | 50 |96:82|96.82(133 |44.45|44.45[107|107| 22 | M20| 64 | 70 [M20x140| 56.75x3.53 | 9.00 | 400
2"-11/2" |L-GD-606/605| 50/38 | 96.82 | 79.38 | 133 | 44.45 | 36.50 [107|107| 22 | M16 | 64 | 70 [M20x140| 56.75x3.53 | 8.00 | 400
21/221/2"| L-GD-607 | 83 [123.83}123.83| 180 | 58.73 | 58.73 |160[155| 25 | M24 |77.5| 80 |M24x200)| 75.57x5.33 | 145 | 400
212"  |L-GD-607/606{ 63/50 [123.83| 96.82 | 180 | 58.73 | 44.45 |160[155| 25 | M20 [77.5| 90 |m24x200| 75.57x5.33 | 145 | 400




| FluidConnectors

D
C
FdR) (] ’:\
Py N
(11 TS
: &
a [ — .-L L
AP
# ¥ (Material)
W carbon steel
FE %M Blank olled AP
RTIHEESIE Yollowzinked  :AP—A3C
FECHIEEE Cr+3 white zinked:AP-CFX
FREEHES Ni-Zn zinked :AP=ZN
fonma, | dats Rt $%  dimension nE
size part No. e = e - wt
: C D E E H K
[t
inch 3000 psi kg
12" AP301 38.10 54 17.48 46 3 g 0.04
/4" AP302 47.63 65 2223 52 3 11 0.06
1" AP303 5237 70 26.19 58 3 11 0.08
11/4" AP304 58.72 i¢:) 30.18 72 3 11 0.09
112 AP305 69.85 94 35.7T1 3 13 0.14
> AP306 T 102 4288 %0 3 13 017
212 | Apsor 88.90 114 50.80 108 3 13 0.23
3 AP308 108.38 134 61.93 130 4 17 0.43
312 | Apaoe 120.65 152 60.85 139 4 17 0.52
4" AP310 130.18 162 T7.77 152 4 17 0.685
5 AP311 152.40 184 92,08 180 4 17 0.75
ERA
6000 psi
12 AP601 40.49 56 18.24 47 4 ) 0.06
/4" APE02 50.80 71 23.80 60 4 11 0.10
1" APE03 57.15 81 27.76 69 4 13 0.13
114" APB04 66.68 85 31.75 s 4 15 017
112" APG05 79.38 113 36.50 95 4 17 0.24
2" APB08 96.82 133 44.45 114 4 21 0.35




| FluidConnectors

D
c
e & &
[ )
ﬁl W wi
¢ q &
5 a [ — .-L L
ZP
# B (Material)
W carbon steel
FEHEI%M Blank olled ZP
RS Yellowzinked ZP-A3C
FHECrH3E% Cr+3 white zinked:ZP—-CFX
BEEHE S Ni-Zn zinked ZP-7N
nomal | e Rot$%  dimension HE
e | partNo. . " ” w
; A c D E F H K
:
inch mmpd kg
172 ZP301 13 38.10 54 17.48 46 3 g 0.04
a/4" ZP302 19 4763 65 22.23 52 3 11 0.08
1" ZP303 25 5237 70 26.19 58 3 1 0.08
1144 ZP304 32 58.72 79 30.18 72 3 11 0.09
112" ZP305 38 69.85 a4 35.71 82 3 13 0.14
2 ZP306 51 7707 102 42.88 a0 3 13 017
212 ZP307 63 88.90 114 50.80 108 3 13 0.23
3" ZP308 T3 106.38 134 61.23 130 4 17 0.43
3172 ZP309 89 120.65 152 89.85 139 4 17 0.52
4" ZP310 28 130.18 162 T7.77 152 4 17 0.65
5" ZP311 120 152.40 184 92,08 180 4 17 0.75
ERF
6000 psi
12 ZP601 13 40.49 56 18.24 47 4 9 0.06
4" ZP602 17 50.80 7 23.80 60 4 11 0.10
1™ ZP603 24 87.18 81 27.76 5] 4 13 0.13
11/4" ZP604 31 66.68 85 31.75 77 4 15 017
112" ZP606 aa 79.38 113 36.50 95 4 17 0.24
2" ZP606 a1 095.82 133 44 45 114 4 21 0.35




FohEE—AFIMES24° R
Pump fiange connection with male metric thread & 24° inner cone

24
oD1
|.-_

il

FluidConnectors

ﬁ
2

J? gy 3
7, { AL
H
G
#1 £ (Material)
GF--LK-- g%g?& maw zinked :GF-LK-A3C
HICr+3E18E Cr+3 white zinked:GF—LK~CFX
BIMEHEE S Ni-Zn zinked :GF-LK--ZN
P R4##  dimension EHH - i
partNo, @D1 D H K LK G M ﬂf Eﬁz g o

GF30LK-L10 | L10 36 3 65 30 30 | mMiext15 | Mex2 1725 315
GFROLKL12 | L2 38 8 65 30 30 | miex1s | wmexz 17x2.5 315
GF3sLK-L10 | L10 39 8 6.5 35 30 | Miexts | Mmexa2 20025 315
GFISLKL12 | L2 39 8 65 35 0 | miex1s | wmex2 20:25 315
GF3SLK-L1S | L15 38 8 6.5 35 30 | mex15 | wmexz 2025 250
GF3sLK-L18 | L18 39 8 6.5 35 30 | meex15 | mexz2 20x2.5 250
GF35LK-S16 | S18 39 8 65 35 30 | m2axis | mexz 2025 315
GF35LK-S20 | S20 38 8 65 35 56 | mame | Mmex2 20025 315
GF4OLK-L15 | L15 42 8 6.5 40 35 | Mexis | mexz2 26x2.5 100
GF40LKL1B | L18 42 8 8.5 40 35 | mM2ex15 | Mexe2 26x2.5 100
GF4OLK-L22 | 122 42 8 6.5 40 35 | M | Mex2 2625 100
GF40LK-L28 | L28 42 ) 8.5 40 2 | mee | mex2 26x2.5 100
GF4OLKL35 | 135 ) 8 6.5 40 62 | mase | mex2 26:2.5 100
GFS5LKL28 | 128 55 12 85 55 4% | weee | mexs 3325 100
GFS5LKL35 | L35 55 12 8.5 55 50 | mame | mexs 33x25 100
GFSSLK-L42 | L4z 55 12 85 55 52 | mMs2e | Mmexs 33x2.5 100
GFS5LK-820 | 820 55 12 85 55 0 | meoe | Mexs 3325 250
GFS5LK-S25 | S25 55 12 85 55 50 | meex2 | mexes 3325 250
GFS5LK-S30 | 530 55 12 85 55 50 | maze | Mmexs 3325 250

WHHEH Specification:

1. {0iT#:2: Flange only: GF35LK-L10
2.2 AR EOEE, MESM: GF35LK-L10M

Flange with boits and O-ring: for Meatric bolts with the suffix M and UNC bolts with the suffix U
3. AR ROEE, FNE-FEREE. FHNSEE KM: GF35LK-L10MKM

Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM



52— AGISMESR24 EBR(90° ) HOOG

Pump flange connection 90° with male metric thread & 24° inner cone
L1 D
AE =
i
ED )
M
# ¥ (Material)
WF--LK-- §§ﬁm ﬁm zinked  WF-LK-A3C
RECr+3718F Cr+3 white zinked:WF—LK—CFX
REEEAS NFZnznked  WF-LK-ZN
i RA#®  dimension mmmﬁ = X
; @D1 D K LK L1 L2 M s e MQ;::;,"
WF35LK-L10 L10 39 6.5 35 16.5 38 M16x1.5 | MBx22/MBx35 20x2.5 315
WF36LK-L12 L12 38 6.5 a5 16.5 38 M18x1.5 | MEx22/MBX35 202 .5 s
WFSSLK-L15 |  L15 39 65 35 185 38 | M22x15 | Mexeamexss | 2025 250
WF35LK-L18 | L18 39 65 35 205 38 | M26x15 | Mex22meExd0 | 20x25 250
WF35LK-816 816 38 6.5 35 20 38 M24x1.5 | ME6x22/MBx40 202.5 315
WF3sLK-820 | s20 39 85 35 25 45 | mame | mexeamexds | 20025 315
WF4OLK-L15 |  L15 42 65 40 2.5 38 | M22x15 | Mexz2mmMexds | 26x25 100
WF4OLK-L18 | L18 42 65 40 225 38 | M26x15 | Mexezmexds | 2625 100
WF40LK-L22 L22 42 65 40 225 38 M302 MBx22/MBx45 26x2.5 100
WF4OLK-L28 | 128 42 65 40 28 40 | mase |Mexzmexso | 26x25 100
WF40LK-L35 L35 42 85 40 M 41 M45x2 MEx22/MBxB80 2825 100
WF40LK-S20 | S20 ) 65 40 225 w | mame |meosmexs | zexs 260
WFSELK-L95 | L35 58 85 55 32 49 | mamx2 | Mexesmexeo | 335 100
WF55LK-L42 L42 58 BS5 55 40 49 M52x2 MBx25/MBx70 33<2.5 100
WFSsLK-820 | S20 58 85 55 30 45 | mme | mexasmexss | 3325 260
WF5SLK-825 | 825 58 85 55 30 49 | Mmsee | MexcsMexss | 33es 250
WFS55LK-S30 530 58 B5 55 az 49 Mazx2 MBx2Z5/MBx55 325 250

WHUT Specification:
L {%iT#:2 Flange only: WF35LK-L10
2. E=RABIREROEME, /5% M: WF35SLK-L10M
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U
SEXEMAIEREZOEE, FNE-FERIEN, BinE%KM: WF35LK-L10MKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM



T %L ST AFISMER24° RE(90° ) HOOG

Pump flange 3-holes connection 90° with male metric thread & 24" inner cong
LK
11
= 2 &)
r f lar
. N\ /
[ i
e # % (Material)

! carbon steel

BRI Yelowzinked 3WF=LK=-A3C
RMOr+3E 4 Cr+3 whits zinked:3WF—LK--CFX
RIEEREE Ni-Zn znked BWF-LK-ZN

i:ﬂ%f RI8# dimansion wéwﬁﬂm S I! * Ej]f

: @D1 b] K LK L1 L2 M o e Mk-\;}::;,"
IWF30LK-L12 | L12 38 65 30 19 a7 M18x1.5 M8x25 17x2.5 250
SWF30LKL15 |  L15 38 65 30 19 a7 M22x1.5 Méx25 17x2.5 250
3WF40LK-L22 | L22 48 B85 40 25 45 M30x2 MEx30 2425 160
SWF40LK126 | L28 48 85 40 25 45 Maex2 M8x30 24x2.5 160

T3 Specification:
L 4XiT#:2% Flange only: 3WF30LK-L12
2. B AEIERE L OTERE, IS4 M: 3WF30LK-L12M
Flange with bolts and O-ring: for Matric bolts with the suffix M and UNC bolts with the suffix U
3 EEEABERE L0, FNE-FERERE. /58 KM: SWF30LK-L12MKM
Flange with bolts, O-ring, cutting ring and nut: with additional suffix KM



S 3% 2 RHSMERRE0" HRR(50" B) HOOG

fan)

Pump fiange connection 90° with male BSPP thread & 60° inner cone
L1 D
H
Fr ITY
<
JJ’_

S E—A ]
= -
B0
A
WF--LK--G--
# ¥ (Material)
81 carbon steel
BIAEEHM Yollow zinked WF—LK—G-A3C
HFACr+3EEE Cre3 white zinked - WF—LK—G—CFX
FWEEARS S Ni-Zn zinked ‘WF—LK-G-2ZN
. TS
#pae Ri&# dimension m#ﬂ’.ﬁ!ﬂﬁl o THES
part No. : MAX WP
A D H K LK L1 L2 i et Kojor?
WF35LK-G%/8 | G3/8" 39 115 6.5 35 18 40 MBx20/MEx35 | 20x2.5 315
WFIsLK-G1/2 | G172 38 11.5 6.5 35 18 40 MEx20/MBx35 | 20x2.5 315
WF35LK-G3/4 | G3M4" 38 11.5 6.5 35 18 40 MEx20/MEx35 | 20x2.5 a1s
WF40LK-G3/8 | G3/e" 42 13 6.5 40 24 425 | MBx25/MBx45 | 26x2.5 250
WF40LK-G1/2 | &1/2" 42 13 8.5 40 24 425 | MBx25MBxd5 | 26x2.5 250
WF40LK-G3/4 | G3i4" 42 13 8.5 40 24 425 | Mex25MBxd5 | 26x2.5 250
WF40LK-G1 c1" 42 13 6.5 40 24 425 | MBx25/MEx45 | 26x2.5 250
WFS5LK-G1/2 | G172 58 13 8.5 55 40 59 MBx25/MBx60 | 33x2.5 250
WFS5LK-G3/4 | G3/4" 58 13 B.5 55 40 MBx25/MBX60 | 3B2.5 250
WF55LK-G1 G1" 58 13 8.5 55 40 59 MBx25/MBx60 | 33x2.5 250

TR Specification:
1. {LiT#:2 Flange only: WF35LK-G3/8
2. BEZELABIRE X OTER, /5% M: WF35LK-G3/8M
Flange with bolts and O-ring: for Matric bolts with the suffix M and UNC bolts with the suffix U



O — R AR (90° ) HOOG

L1 D
H
I — fan) fan)
/ B —J f NJ
o
A
A ]
= - «" V17
N /
.
WDS-LK--G--
# ¥ (Material)
4 carbon stesl
FEWMESM Yollowzinked WDS-LK-—G-A3C
FHECr+3H#E Cr#3 white zinked: WDS=LK=G-CFX
FAFES S Ni-Zn zinked ‘WDS-LK-G-2ZN
3 E IS
#pae Ri&# dimension - A R o THES
part No. : MAXW.F
A D H K LK L1 L2 bolt o-fing Kglem?
WDS35LK-G3/8| G3/8" 39 1.8 6.5 a5 18 40 MBx20/M6x35 | 20x2.5 315
WDS3b6LK-G1/2| G1/2" 38 11.5 6.5 a5 18 40 MBx20/M6x35 202.5 315
WDS40LK-G3/8| G3/8" 42 13 6.5 40 24 425 MBx25/M6x45 | 26x2.5 250
WDS40LK-G1/2| G1/2" 42 13 6.5 40 24 425 MBx25/M6x45 26x2.5 250
WDS40LK-G3/4 G3M4" 42 13 8.5 40 24 425 MBx25/MBx45 26x2.5 250
WDSE5LK-G1/2| G1/2° 58 13 8.5 55 40 59 MBx25/M8x70 | 33x2.5 250
WDS55LK-G3/4 G34" 58 13 8.5 55 40 59 MBx25/M8x70 3325 250
WDSE5LK-G1 G1" 58 13 8.5 55 40 59 MBx25/M8BX70 | 32.5 250
]WDSEELK-G‘l 1!‘1 G11/4" 58 13 8.5 55 40 59 MBx25/M8xT70 | 33x2.5 260

T %UiW Specification:
L {RiT#:= Flange only: WDS35LK-G3/8

2. AR ROEE, n/ESM: WDS35LK-G3/8M
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



3% 2 — 37 KR AR (90° %) HOOG
Pump flange 3-holes connection 30° with female BSPP thread

I
ST
LK

fa
w
L2
3WDS--LK--G--
#¥ (Material)
B4l carbon steel
TN Yelowzinked 3WDS-LK-G-A3C
FHECr+3H 4 Cr+3 while zinked:3WDS-LK-G-CFX
FEEEES N-Zn Zdnked :3WDS-LK-G-ZN
- X X |
:‘;ﬁ%{} Ri&#% dimenslon mmm s THES
o. ; MAX.W.P
A B K LK L1 L2 et g b
3WDS30LK-G3/8 G3/8" 12 85 30 17 24 M6x20 1725 315
3WDS30LK-G1/2 Gl 12 65 30 17 24 M6x20 17x2.5 315
3WDS40LK-G1/2 Gz 18 85 40 21 36 M8x25 24x25 315
3WDS40LK-G3/4 Ga/4" 19 85 40 21 386 Méx25 24x2.5 315
3WDS51LK-G3/4 G3/4" 28 10.5 51 26 45 M10x30 30x2.5 315
3WDS51LK-G1 G1” 26 10.5 51 26 45 M10x30 ane2s 315
3WDS56LK-G3/4 G3/4" 28 10.5 56 26 45 M10:30 325 315
3WDS56LK-G1 Gi" 26 10.5 56 26 45 M10x30 33x2.5 315

W #E% Specification:
1. {UiT#2 Flange only: 3WDS30LK-G3/8

2. EZMAGIRRROBE, WSS M: 3WDS30LK-G3/8M
Flange with bolts and O-ring: for Metric bolts with the suffix M and UNC bolts with the suffix U



ISO 6164 572 E = R 51
ISO 6164 square flange

FluidConnectors

ISO 6164 L= R5

#¥8t  Material specification:

IS06164 5 ¥ 2 S AR BIM T LS, ARSMEHKRES:

Material used for 1506164 square flanges is indicated with suffix as follow:

L ABOER: AinE4.

Flange and welding adapter are all carbon steel: without suffix.

2. VMR, HARFABHAIST 304/3210: INES-ST/X

Carbon steel flange and stainless steel AlSI 304/321 welding adapter: with the suffix-ST/X
152 FIRGRMAIST 316LE: n/S88-ST/XX

Carbon steal flangs and stainless stes| AlSI 316L welding adapter: with the suffix-ST/XX

3. 322, JREHH AN FHAISI 304/321, MJES-X; FHAISI 316L, M/FE-XX

Flange and welding adapter are all stainless steel:

AISI 304/321 with the suffix -X, AISI 316L with the suffix -XX

FA— B FAG— B
FEEZ—R HE=—H
#FolmE—R " HOME®H—H
OE—H o —H §
Re—A W —a
#: FA50-0-60.3x2.9 B % #l: FAG50-0 B ﬁ
FK- R_I_} FKG- RIH-T
EZ"R = HIEE=E_— =
AR —5 HOREHT—H
OB —H eTH il ne— =
g —4 O —H
#: FK50-0-80.3x2.9-60.3x4.5 e —a

(FELBE N R RSTAIAR)D #i: FKG50-0-60.3x2.9-ST/X
WFA- s
90° WykL—H e
OE—H
g —a4

#: WFAS50-3-76.1x10

FrART:

AREEWRZRAER, RARRAARRIEZRBEF S RAAT FERGREK.



ISO 8184 7573%2 551 (PN10-64/series 0) HOOG
ISO 6164 square flange(PN10-64/series 0)

t

Hj ot H
TR B = R ‘“&’( % P A

i
B
z?ln S K. x'?m
B

@D

/; N
72| } 4D
FA FK

da x s AREMNERLER S SMEERE) , R THR0°

BT ST Max.w.p: 64 kg/em? BEHO. BRRFIARATRENR, WATHREE K.
P Ri#%  dimension PRI —ﬂ!
pertNo. daxs B| D[ H|[T[aor] K[ L [ # oot [oBmOomg| ko
iy (SR AERS 0 | - |24 | 72| | 18| o | N |srremes | 14
FR 400 o o 0 | - [ 20 | 80 | e [ 17 | 68 | Wioxas | 4250xass [ 20
A 500 gg:g&%amﬁ w0 [ - |38 | e |7 [ 17 | s | W | seomass | o0
bk 060 [TOD2BTOAN | g [ . | w7 | w8 | w2 | 21 | 88 | menng | 70wass | B2
Fj 600 S84, Bae | s | | we| e oo [am | it | Daees | &8
F2 000 [101.8x7.1 B0 | - | s8 |15 |13 | 32 | 1as | WO | seeosr | 1
£ oo |14 10 80 | - | 68 |75 | 135 | a2 | 138 | Maerey | 10esms7 [ 7
1250 (1000 0| - 25 | e | 200 | tes | 25 | ws0 | g | 20827 | B
Fle 100, | 1200 e g - |s00 | 78 | 205 | 205 | 32 | 186 | Moy | 1844mxeoe | 233

THr# Example:

BRaR% All carbon steel: FAS0-0-60.3x2.9, FK50-0-60.3x2.9

WNEE, AEEHIEF Carbon steel flange and stalnless steel welding adapter (AISI 321/304) :
FAS50-0-60.3x2.9-ST/X, FKG50-0-60.3x2.8-ST/X

£7GEM4 Al stainless steel (AISI 321/304) : FA50-0-60.3x2.8-X



ISO 616475 75% 2 %) (PN160/series 2) HOOG
ISO 6164 square flange(PN160/series 2)

t

A

Hj ot H
’%‘E“' /Jk hﬁ 0 —H ) /%__\

Al
= 5 K
B
i 2 T g

@D

/5 N
72| } 4D
FA FK

da x s AREMNERLER T SMEERE) , R THR0°

BATHER Max.w.p: 160 kgicm? BER . FERRFINRAT RN, RATHERE BRI,
— R<f##%  dimension PRSI —ﬂ!
part No, daxs B D[ H[ T[] K[ L | ## oot [oBmong| K
A 122 |16, 16028 60 | - | 19| 4a | 28 | 1 | a3 | WO | 1554062 [ 33
R 182 2025 60 | - | 19| 5 | 38| 11| s0o | MO | sace | 282
EQ 20-2 |25x3, 27.2x3 60 - 19 54 38 1 50 :1% 2347x2.82 223
FA 252 T e 70 | - |19 | e | 46 | 13| 88 | Nimxes | 206262 | IR
Ep mn [0 80 | - |20 | 72| s [ 13 | 6 | Mimo | 77omsa | J4
:;2 40-2 :ﬁ_‘;‘g: ‘:g:g“; o0 | - |20 |80 |6 | 17| e | MO | 425088 7
IR 502 [ mesens | 10| - | % | 9 | 7 | 17| 80 | wiexieo | S2o4s3s [ 23
R 652 L 120 | - | 47 |18 | 82 [ 21 | g8 | e | 8922533 oo
P o |1BILOBAANEND | g | - | oa | v | we | & |ass | SORRG | mosoar | &
P 1002 |1143x10,1143x125 | 180 | - | s8 | 176 [ 136 | 82 | 136 | waoesep | 104607 | 1T
Fe 122 [N THIEC IS0 |« || e | s | mo | tnai | 28 | s | il | Taaar |
::2 160-2 |177.8x175 - 300 79 245 205 3z 186 :%22 1684.47x6.99 gi




ISO 8164753 2 73] (PN250/series 3) HOOG
ISO 6164 square flange(PN250/series 3)

t

A

Hj ot H
’%_@_ /k h&j 7N —H Ty /%__\

Rl
= S F
B
gl : ‘. gl

@D

/; N
72| } 4D
FA FK

da x s AREMNERLER S SMEERE) , R THR0°

BATHER Max.w.p: 250 kgicm? B O, FERRFIDNRAT RN, RATHERE BRI,
P Ri#%  dimension PRI —ﬂ!
pert No. daxs B | D[ H| T|[do| k[ L | w8 oot [oBEom| K
A 103|180, 1803 60 | - | 19| 4a | 28 | 1 | a3 | WO | 1554062 [ 33
R 123|200 60 | - | 19| 5| 38| 11| s0o | MO | e | 282
EQ 16-3 g;’ijld_zg;:‘lms 60 - 19 54 38 1 50 :1% 2347x2.82 223
s [ T | ||| 0| | 4EE | wean | 30
PR 253 |33.7%.5, 424458 80 | - |20 | 72| s [ 13 | 6 | Mimo | 77omsa | J4
:;2 323 |424x5.86, 42.4x6.3 o0 | - |20 |80 |6 | 17| e | MO | 425088 7
PR 403 |60.3¢7.1, 60.3x8 00 | - |38 | e |7 | 17 | 80 | Giecioo | 53343 | 3
FX 503 [78.4x10 120 | - | 47 |18 | s2 [ 21 | 88 | s | 6287533 oo
P g |[Ta0amar 150 | - | 48 [ 18 [ 110 | 25 | 109 | gavay | 70607 | 92
Fx 803 ez |te0 | - | s | s |1 | m | 13 ancien | sesmsy | I

114.2x14.2, 116x15
P 1009 |13D20.130IX175 | . | 245 | 69 | 200 | 188 | 25 | 150 | Megxryy | 1146057 | 2
EQ 125-3 |18B.3x20, 168.3x22 - 300 79 245 205 3z 186 :%23 148.58x6.99 gi
F2 1503 (183725 - | 35 | s0 | 200 | 245 | 38 | 200 ::xx;g 170.00x7 "532




ISO 616475 73% 2 5| (PN320/series 4) HOOG
ISO 6164 square flange(PN320/series 4)

t

A

Hj ot H
sty B sEha

Rl
. =i
B
g[~ 2 T g

@D

/; N
72| } 4D
FA FK

da x s AREMNERLER T SMEERE) , FERRHILTHR0°

BA TS Max.w.p: 320 kglom® BEH N . HAFFIRRAT AR, TR S =R,
— R<f##%  dimension PRSI —ﬂ!
part No. daxs B D|H|[T[a]| k| L |8 oot [oBmomg| K
R 104 [17.208 60 | - | 19| 4a | 28 | 1 | a3 | WO | 1554062 [ 33
P 124 [ARABIANME | g0 | - [0 | o | 8 | 1| o | QBB | 2naree | 02
EQ 164 |28.0x4.5, 26.9x5.6 60 - 19 54 38 1 50 :1% 23.47x2.62 22%
PR 204 337456 70 | - |19 | e | 46 | 13| 88 | Nimxes | 206262 | IR
PR 254 424370, 424%8 80 | - |20 | 72| s [ 13 | 6 | Mimo | 77omsa | J4
re 324 |83 o0 | - | 22 | a0 | 8o | 17| 88 | Mo | 42s0ass | 21
Fk 404 leoaxt0,80an2s | 100 | - | 38 | e8 | 78 | 17 | 80 | giocion | 5334s33 | 3
FR 504 [78.Ax125 120 | - | a7 | 18| 2 | 2 | s | gioeen | G28mssa | 3O
Fx 654 |78x125.888x142 | 160 | - | 48 | 145 [ 110 | 25 [ 100 | NZXEO | zoe0e7 | 92
Pk 804 [1143x175,114320 | 180 | - | 88 | 176 [ 135 | 32 | 136 | jeneren | 8060s7 | 17
P 1004 |1331:20,130.0222 | | 245 | 69 | 200 | 188 | 25 | 150 | Megcroy | 1146057 | 2B
::2 1254 |177.8x30 - 300 79 245 205 3z 186 :%23 148.59x6.99 gi
G i, [0, Baba - |oms | e | 0| s | m | a0 | N | | 2




ISO 6164 7573% 2 %51 (PN400/series 5) HOOG

ISO 6164 square flange(PN400/series 5)
_.#

e

%,_\

L - " [ 2L
H) 2"(’,, H
A o XY
g : - g

A N
72| }e A
FA FK

da x s AAEHNERMOERT OMExER) , EEFHL T B0’

BATAER S Max.w.p: 400 kgiem? BEHT . REARPFINIRA T AR, SR P ERIT .
— R4#%  dimansion WL %ﬂﬁ
part No. daxs B D H T d1 K L it boit | OFM oing Ko
PR 325 |48.3x8,48.3x88 00 | - |38 | e |7 [ 17| s0 | WX | sasaxsas | 37
FA 405 |s0.3xt1 120 | - | a7 |18 | 2 | 2 | o8 | WAV | e2mmaszn | 22
FA 505 |78.1x142 150 [ - | 48 | 145 | 110 | 25 | 109 | WEBEE | 7aeoxs7 [ 9o
PR 665 [101.600 80 | - | s8 |15 [ 135 | 3 |13 | Soeeo | Seews7 | 1
Fe 805 [133.7x25 - | 245 | 60 | 200 | 188 | 25 | 180 | Moaxizo | 11467 | 2D
FX 1005 [152.430 - | 300 | 78 | 265 | 205 | 32 | 186 | MoXong | 1485mcse [ 32
P 1255 [210.1x45 - |30 | se |15 | 273 | 3 | 185 [ MO0 | 1e0ooxr | S8




ISO 6164 3:22(90° 1) HOOG

ISO 6164 square flange-90°

H B

-A'-" ’K

F— —— — 3 o ""“Q

S %)

f a " (‘”
| g o ‘e
30 | BR
S| $da

WFA

da X s JAFMNREARS (OMExRE) , EEFEHILTH#m0°
BEH N . HAFFIRRAT AR, TR S =R,

P Fsi#%  dimension MR ‘ﬁf

part No. daxs H lu ||| B | T | K| @ o |opmoeng| K
wrA 10 2 e 20 | 165 | 56 [ 80 | s0 | 44 | 11 | mioxe5 | 1654262 [ D73
WEA12 3| o a2 [ 180 | es [ e5 | 60 | 54 | 11 | miox50 | 2347262 [ 083
WFA 16 j g&gﬁ.s 41 23 85 o5 | 60 54 11 M10X60 | 23.47x2.62 g:g
WFA20 7§ e a7 | 26 | 76 | 10 | 70 | 64 | 13 | Mi2xes | 3202363 | 1o
weazs | B EAS 56 [ 30 | 0 130 [ 80 | 72 | 13 [ mzs | 37700383 | 23
WrAm 3 | 42865 g [ 34 | @2 | 4o [ 90 | s | 17 | miexes | 42s0xa8s [ 24
WrA40 T | S038 %6 | 40 | 106 [ 165 | 100 | o8 | 17 | Miex100 | 6334633 [ FF
wrAg) 3 | 7810 100 | 53 [ 115 | 175 | 120 | 118 | 21 | M20x130 | 6267x533 | o2
wraes 3 |33 | 415 | s8 | 165 | 200 | 150 | 145 | 215 | M2axrao | 7eemsr | 182
WFAS0 Wioa2% | w0 | 72 | 160 | 270 | 180 | 175 | 32 | Maoxieo | sesoxs7 | 272

T8 Specification:
WA fh I, SR RO MR 5T
WFA parts supplied with bolts and O-rings



CETOP7 3% 4 75] 3000 psl HOOS
CETOP square flange 3000 psi

2] 1%

)7
Y/ t

CASF
da x 8 AR BN REAR S (ShE=REE) , FElFER T #UR30°
BATHEES Maxw.p: 250 kglem? 1EE M. BEARTFIARAFRYENR, HAHRYE A PRI .

m PRER R##  dimension WEFE PR ﬂl;“!

Inch part No. daxs =} H T K L W% bot | OFM orng | Kg
| e | e 40 14 35 65 30 oGy | 1aseee2 | 02
ez %E g:: g?.xaatg.ﬁ 45 15 42 85 30 :ﬁg 18.86x3.53 gg
34" ggg: % 38634 50 16 50 85 35 :g 25.00»3.53 g;g
1 ey | Memvd | ip 18 62 11 0 | mioay | m2e2ass | 110
e | S B 75 2 | 7 A | 4 | W20 | wrecss | 10
172 ol ﬁﬁaﬁ 85 25 | sess | 15 50 oy | 472205 by
r e as 0 [ s [ s | 17 | e | Vigge | %758 | 330
Rl e A . B 120 | 35 | 118 21 70 | waotion | B94sxes3 | 420
F el i 140 40 145 21 00 | Janie | oveaany | 2A
s | AR | 1o2x 190 | 82 | 145 21 90 | weoxon | 8827633 | 159
# ossitclic i B2 0 | 60 | 160 | 25 | 105 | N2X1R | evrexsas | 10

CDSF/CESF:#CBSF/CASF A (U OIS Sk H O 18 2
Replace welding adapter with plug in CBSF/CASF ( parts with groove)



CETOP: /3% 2 5] 6000 psi HOOG
CETOP square flange 6000 psi

2] 1%

)7
Y/ t

CASF
da X s AEEMNNESMR Y (U ExEE) , fEEEER TR0
BA TR Max.w.p: 400 kg/em? BRSO . BEFFIARAT RGN, BARER Bk,
ml = R+#%  dimension M -’f“!
Inch past No., daxs B H T K L W bot | OFBM odng | kg
we | SRR | sesn 40 16 35 65 35 voao | 1omae | 028
CASF 601 | 21.3x5 MBX30 0.35
12" CBSF 601 2 45 17 42 85 40 MEXA5 18.66x3.53 0.65
. CASF602 | 26.9x5.6 MEX35 0.50
el CBSF602 | 28x5 o - 0 £ 48 Mexso | 2500x353 | o5
7 CASF603 | 33.7x5.6 M10X40 0.90
3 CBSFB03 | 34x5, 35x85| ©° 24 - 1" 50 MioXes | 3292383 | oo
. CASF604 | 42.4x8 MA2X45 1.40
s CBSF604 | 44x7.5 » 28 73 13 55 mixzo | STTORBE | el
: CASF605 | 48.3x8.8 M14X85 20
112 e | 85 32 | sass | 15 80 Miixoo | 722083 | 28
CASF 608 B60.3x10 M16XE5 3.30
7 e |2 100 40 08 17 10 | wiexioo | 967583 | 330
CASF607 | 76.1x125 M20X80 5.50
L CBSF607 | B0x13.5 120 = 116 21 80 | moox1zo | 8022533 | (4%
n CASF 808 89x14.2 M20XB80 8.60
3 CBSF608 | 90x16 140 52 145 21 90 | mMooxt3p | 7957X533 | 4g40
CASF 609 M20X90 8.80
vy o | 102195 140 52 145 21 W | aomen | e | B2
3 CASF 610 M24X100 13.0
4 Cosr oy | 11420 160 60 180 25 105 | Voexiss | 77esas [ 12D

CDSF/CESF:# CBSF/CASF (1 ORI 88 H ik 4 Ol i) o5
Replace welding adapter with plug in CBSF/CASF ( parts with groove)



JIS B 2291 H RS RIS 2 R HOOG

JIS B 2291 socket welding square flange FluidConnectors
E C
A e A e
B f B f

L/
NN
NN

P

L/
|
,
i‘&
NN

©
R
%
#d,
#d
Pdy201
&)
é}‘ £Ey
B
A
¢ds
gdy
#d

DN
o

\4—”5 4—pd
SHA SHB
=
A -ﬂl—
2 —
B } /.,-.%.
g | 7
6} fa orn /
/ /
Z) /. 3[4
vy o 23
& - / ; /; ¥} (Material)
/)*}’/ / i 1. #4120#, carbon steel C20
4—ad FE B Blank oiled SHA-
LHA 2RG41 AISI 3217304 -SHA-X
384 AISI 316L :SHA—XX
nomal | oo R88 dimension AR BE
flange wit
Inch ptNo. | ala|B|c|o|n|d|a|d|e|a|a|r| | ® gﬁg kg
SHA
122 | sHB -15 |83 |60 |40 |22 | 40| 20 | 16 |30 | 222 | 11 | 32| 11 | 35| & | mioxss | 244xa1 | 000
LHA 1.30
| SHA 0.65
34 | SHB 20 |68 |76 |45 |22 |45 |225| 20 |35 |277 |12 (38| 11| 4 | 5 | M10x55 | 29.4x34
LHA 1,66
E- - 80 |80 |53 |28 |50 | 25 | 25 |40 [345| 14 |as |13 | 4 | 5 | w1270 | 3eaxaq | 119
LHA 250
SHA
114" | sHB 32 | g0 |90 |ea| 28 315(315| 45 |432 |16 |56 |13 | 6 | 5 | miz70 | 38431 | 140
LHA .00
., | SHA 210
112" | sHB 40 |100|116| 70 | 36 | 71 |3555|37.5| 55 | 491 |18 |63 |18 | 7 | 5 | miexs0 | 49.4xa
LHA 5.70
SHA P
2 | sHB 50 [112]|130| 80 | 28 | 85 |425|475|65 |611| 20|75 | 18| 7 | 5 | m1exso | seaxar [ %
LHA 8.60
SHA
212 | sHB 65 |140|180|100]| 45 [106]| 53 | 60 |80 | 771 | 22 | 95 | 22 |95 | 6 |m2ox11s | 744xa4 | 510
LHA 8.0
s 6.00
3 | SHB 80 |165(180 (12| 45 |118| 50 | 71|90 | 90 |25 |108( 24 | 11| 6 |M2215 | 8441 .

TR Ut8 Specification:

1. U2 Flange only: SHA-15, SHB-15, LHA-15, SHA-15-X, SHB-15-X, LHA-15-X

2, R AR ROEE, MES%M: SHA-15M, SHA-15M-X, LHA-15M, LHA-15M-X
Flange with bolts and O-ring: for Metric bolts with the suffix M

3, LHAEZREABIRRKERE A RE



JIS B 2291 H RS RIS 2 R HOOG

JIS B 2291 socket welding square flange
c c
A e A e
B f B f
S WA/ . W7
PR %% o _| o+| &
@% mte| Tl 3 §'_ @§ ate| ot /2
&%\ 4 AmLE %Jf P4t [
© TR % il e 5
\sds ggA ¥ ssB
g
B T3] s~
B } /.,-.%.

Pdy a1

X
NN

e .
q0e U v M8 Materia) |

h HEHB7EH Blank oiled :88A—
4—gd
\4 LSA 2RG41 AISI 3217304 SSA-X
384 AISI 316L :S5A-XX
normal e A R+88 dimension EH M B
flange Wit
pert No, we | onE
inch Ala|Blc|o|n|d|d|a|e|a|ld|m|r ]| B | 0P8,
SSA
122 | ssB 15 |54 |83 |36 |22 |40 |20| 18 [ 30| 222 11| 32| 11 [m10| 35| 5 |mioxd0 | 24.4x3.1 | 040
LSA .90
. | SSA 0.45
34" | sSB 20 |58 |70 |40 |22 | a5 [225| 20 | 35| 27.7 |12 | 38 | 11 |m1o| 4 | 5 |M10xdo | 29.4x3.1
LSA 130
. | S5A 0.75
1 SSB 256 |68 |82 |48 |28 |50 (25| 25 |40 | 345 | 14 | 45| 13 [m12| 4 | 5 | m2xs0 | 34.4x3.1
LSA 790
SSA
114" | ssB -32 |76 | 82 |56 | 28 315(31.5| 45 | 432 | 16 | 58 | 13 [m12| & | 5 |m12x50 | 20.4x3.4 | O
LSA 310
.| a 1.65
112" | sSB 40 |92 |110| 65 |36 | 71 |355|37.5| 55 | 49.1 | 18 | 63 | 18 |m16| 7 | 5 | m16xe5 | 40.4x3.1
LSA 4.90
| 5S4 1.0
2 | ssB 50 [100]|125| 73 | 38 | 85 |425|475| 65 | 61.1| 20 | 75 | 18 |m18| 7 | 5 |m1exes | se.4x3.1
LSA 740
5SA
212 | ssB 65 |128|150| 982 | 45 |106| 53 | 80 | 80 | 77.1| 22 | 95 | 22 |m20| 0.5 | & |mz0x80 | 74.4x3.1 | 400
LSA 4.0
, | S3A 440
3 | $98 80 |140(170(103| 45 |118| 69 | 71|90 | 90 | 25 (108 | 24 [M22| 11 | & |M22x80 | 8401 e

TR UtH Specification:

1. {UiT#:2 Flange only: $SA-15, SSB-15, LSA-15, SSA-15-X, S8B-15-X, LSA-15-X

2, EERATREROEE, MS%M: SSA-15M, SSA-15M-X, LSA-15M, LSA-15M-X
Flange with bolts and O-ring: for Metric bolts with the suffix M

3. LSAEZEREABIBRKERE A RE



X S EARR-SAEEE R HOOG
SAE flange T-block

lm |M-

SFV--

gda

for

AR
A

L

\\'\\\ SN
n

A

# ¥ (Material)

1. Bi#45%. carbon steel C45
XEHEEEIE Yellow zinked 'SFV-A3C
BECr+3EI4E Cr+3 white zinked:SFV-CFX

FRHHEH A S Ni-Zn zinkad :SFV=-ZN
da x 8 ABEEFHNERMART OMExEE , EEEER TS0 27584 AIS| 321/304 SFV-X
B O. FEFFINRAT NG, BATHEERE T ERITH . 3. K54 AlSI 316L 1BFV=-XX
:ml e— R48¥# dimension i;ig 3&%5}
nch | PatNe 7l daxs B c E L o4 Kyjont
301- 3000 psl 301- 60 38.10 17.48 70 as0
12" | sFv £ WASF 1.80

801- 6000 psl 601- 60 40.49 18.24 70 400
302- 3000 psi 302- 70 47.63 22.23 80 2.60 as0

4" | spv #ILASF
g§02- 6000 psi 602- 80 50.80 23.80 80 3.20 400
303 3000 psi 303 80 52.37 26.19 90 3.80 315

1" SFV # ILASF
603~ 6000 psi 603 80 57.16 27.76 100 §.50 400
304- 3000 psi 304- 90 58.72 30.18 100 5.30 250

11/4" | SFV 8 LASF
B604- 6000 psi 604- 100 66,68 31.75 110 7.20 400
305 3000 psi 305- 100 69.85 35.71 110 6.80 200

112" | SFV # LASF
B605- 6000 psi 605- 120 79.38 36.50 120 11.50 400
308- 3000 psi 306- 110 7777 42.88 120 8.30 200

z SFV & JLASF
808~ 6000 psi 606 140 96.82 44.45 150 17.30 400

T #i il Specification:

1 4UITE2E 4} EH: Flange T-block only: SFV301, SFV301-X

2. SRR Fevk 2 B ESTH T-block and all welding couplings and flanges assembly: SFV301-16x2-X

* BRARAESARRE 2 AT RIS, AR ER R ER AN ATERIT R’ .
For SAE flange block parts, also supply according to the drawing of customer.

— 13




S % = ARHISO61 64535 2 HOOG

ISO 6164 square flange T-block FluidTonnectors
@da
S
30
ul
|
5
B - L
Fv ﬁ*i[’ (Mﬂtﬂl’iﬁ')
1.T54H45#, carbon stesl C45

REEESE Yollowzinked  :FV-A3C

RECrH+334 Cr+3 whits zinked:FV-CFX

FE A4 Ni-Zn zinked :FV=ZN

da x s MEEMIMESLRT GrexBR) , AEEENR TR0 2GR AISI 321/304 FV-X

O . FEATFIHRA RS, BB P ERITH. 3. /454 AIS| 316L FV-XX
P L RY&% dimension TR
part No, daxs B T L .
Vv 103 FA 103
Fv 12-3 FA 12-3
FV 124 BL Fa 124 & i L o
Fv 16-3 FA 18-3
FV 164 BX Fa 164 = 5 it =
FV 203 FA 203
BV 204 #L 204 70 84 115 39
FV 253 FA 253
FV 32-3 FA 32-3
FV 40-3 FA 403
FV 404 $X o a4 100 o8 160 10
Fv 50-3 FA 503
RV 804 L L s04 120 118 180 16
FV 653 FA 653
AV 854 B )y 150 145 210 27
FV B0-3 FA 80-3
FV 804 BL A go4 180 175 260 49

irft#E) Specification:
L U244 Flange T-block only: FV10-3, Fv10-3-X
2. MR Bk i AETW  T-block and all welding couplings and flanges assembly: FV10-3-16x3-X
* R NEIS06164 T TR A IS, ATEBSEFEE RN REIT R,
For square flange block parts, also supply according to the drawing of customer.



N — —

———

FluidConnectors



	01-01_页面_01
	01-01_页面_02
	01-01_页面_03
	01-01_页面_04
	01-01_页面_05
	01-01_页面_06
	01-01_页面_07
	01-01_页面_08
	01-01_页面_09
	01-01_页面_10
	01-01_页面_11
	01-01_页面_12
	01-01_页面_13
	01-01_页面_14
	01-01_页面_15
	01-01_页面_16
	01-01_页面_17
	01-01_页面_18
	01-01_页面_19
	01-01_页面_20
	01-01_页面_21
	01-01_页面_22
	01-01_页面_23
	01-01_页面_24
	01-01_页面_25
	01-01_页面_26
	01-01_页面_27
	01-01_页面_28
	01-01_页面_29
	01-01_页面_30
	01-01_页面_31
	01-01_页面_32
	01-01_页面_33
	01-01_页面_34
	01-01_页面_35
	01-01_页面_36
	01-01_页面_37
	01-01_页面_38
	01-01_页面_39
	01-01_页面_40
	01-01_页面_41
	01-01_页面_42
	01-01_页面_43
	01-01_页面_44
	01-01_页面_45
	01-01_页面_46
	01-01_页面_47
	01-01_页面_48
	01-01_页面_49
	01-01_页面_50
	01-01_页面_51
	01-01_页面_52
	01-01_页面_53
	01-01_页面_54
	01-01_页面_55
	01-01_页面_56
	01-01_页面_57
	01-01_页面_58
	01-01_页面_59
	01-01_页面_60
	01-01_页面_61
	01-01_页面_62
	01-01_页面_63
	01-01_页面_64
	01-01_页面_65
	01-01_页面_66
	01-01_页面_67
	01-01_页面_68
	01-01_页面_69
	01-01_页面_70
	01-01_页面_71
	01-01_页面_72
	01-01_页面_73
	01-01_页面_74
	01-01_页面_75
	01-01_页面_76
	01-01_页面_77
	01-01_页面_78
	01-01_页面_79

